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+DON� *D\ULPHQNXO� <DWÕUÕP� 2UWDNOÕ÷Õ� $ù¶QLQ� �³ùLUNHW´�� DQD� IDDOL\HW� NRQXVX� JD\ULPHQNXOOHU��
JD\ULPHQNXO� SURMHOHUL�� JD\ULPHQNXOH� GD\DOÕ� KDNODU�� VHUPD\H� SL\DVDVÕ� DUDoODUÕ� YH� 6HUPD\H� 3L\DVDVÕ�
.XUXOX��³63.´��WDUDIÕQGDQ�EHOLUOHQHFHN�GL÷HU�YDUOÕN�YH�KDNODUGDQ�ROXúDQ�SRUWI|\��LúOHWPHNWLU��ùLUNHW�YH�
P�úWHUHN�IDDOL\HWOHUL�EX�UDSRUGD��³ùLUNHW´��RODUDN�QLWHOHQGLULOPHNWHGLU��D\UÕFD�EDNÕQÕ]�1RW�����YH�1RW�����
ùLUNHW¶LQ� WHPHO� DPDFÕ�� 63.¶QÕQ�*D\ULPHQNXO�<DWÕUÕP�2UWDNOÕNODUÕQD� LOLúNLQ� G�]HQOHPHOHULQGH� \D]ÕOÕ�
DPDo� YH� NRQXODUGD� EHOLUWWL÷L� �]HUH� JD\ULPHQNXOOHUH�� VHUPD\H� SL\DVDVÕ� DUDoODUÕQD�� JD\ULPHQNXO�
SURMHOHULQH��JD\ULPHQNXOH�GD\DOÕ�KDNODUD�\DWÕUÕP�\DSPDNWÕU���
�
ùLUNHW¶LQ� IDDOL\HW� HVDVODUÕQGD�� SRUWI|\� \DWÕUÕP� SROLWLNDODUÕ� YH� \|QHWLP� VÕQÕUODPDODUÕQGD�� 63.¶QÕQ�
G�]HQOHPHOHULQH�YH�LOJLOL�PHY]XDWD�X\XOPDVÕ�HVDV�DOÕQPDNWDGÕU��ùLUNHW¶LQ�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�
SRUWI|\���DUVDODUGDQ��EDQND�YH�JHQHO�P�G�UO�N�ELQDVÕ�RODUDN�NLUD\D�YHULOHQ�ELQDODUGDQ�ROXúPDNWDGÕU��
ùLUNHW�63.¶GDQ����(\O�O������WDULKOL�YH������VD\ÕOÕ�\D]Õ�LOH�NXUXOXú�L]QL�DOPÕúWÕU�YH�63.¶\D�ND\ÕWOÕGÕU��
ùLUNHW¶LQ�ND\ÕWOÕ� VHUPD\H� WDYDQÕ���������������7/¶GLU��ùLUNHW¶LQ�|GHQPLú� VHUPD\HVL�������������7/�
ROXS�EX�WXWDUÕQ�������������7/¶VL�QDNLW��������������7/¶VL�D\QL�YH�������������7/¶VL�\HGHNOHUGHQ��Lo�
ND\QDNODUGDQ��YH������������7/¶VL��EHGHOVL]�RODUDN��JHoPLú�\ÕOODU�NDUÕQGDQ�NDUúÕODQPDN��]HUH�VHUPD\H�
DUWÕUÕPÕ�RODUDN�|GHQPLúWLU���
�
ùLUNHW¶LQ� PHUNH]� DGUHVL�� ùHULIDOL� dLIWOL÷L� 7DWOÕVX� 0DKDOOHVL� (UWX÷UXOJD]L� 6RNDN� 1R��� ������ <XNDUÕ�
'XGXOOX�hPUDQL\H�øVWDQEXO¶GXU���
�
���(\O�O������WDULKL�LWLEDUÕ\OD�ùLUNHW�E�Q\HVLQGH�oDOÕúDQ�SHUVRQHO�VD\ÕVÕ���¶GLU�����$UDOÕN�������������
�
ùLUNHW��7�UNL\H�+DON�%DQNDVÕ�$ù¶QLQ��³+DONEDQN´��ED÷OÕ�RUWDNOÕ÷Õ�ROXS��WHVFLOL����(NLP������WDULKLQGH�
JHUoHNOHúPLúWLU�� 63.� WDUDIÕQGDQ� ³*D\ULPHQNXO� <DWÕUÕP� 2UWDNOÕNODUÕQD� øOLúNLQ� (VDVODU� 7HEOL÷L´QGH�
\DSÕODQ� ��� $UDOÕN� ����� WDULKOL� GH÷LúLNOLNOH�� DQL� XVXOGH� NXUXODQ� YH\D� HVDV� V|]OHúPH� WDGLOL� \ROX\OD�
JD\ULPHQNXO� \DWÕUÕP� RUWDNOÕ÷ÕQD� G|Q�úHQ� RUWDNOÕNODUD� KDOND� DU]� LoLQ� VHUPD\H\H� ED÷OÕ� V�UH� YHULOPHVL�
X\JXODPDVÕQGDQ�YD]JHoLOHUHN��RUWDNOÕNODUÕQ��NXUXOXúODUÕQÕQ�YH\D�HVDV�V|]OHúPH�GH÷LúLNOLNOHULQLQ�WLFDUHW�
VLFLOLQH�WHVFLOLQL�WDNLS�HGHQ���D\�LoLQGH�oÕNDUÕOPÕú�VHUPD\HOHULQLQ�DVJDUL����¶LQL�WHPVLO�HGHQ�SD\ODUÕQÕQ�
KDOND� DU]� HGLOPHVL� YH� W�P� SD\ODUÕQÕQ� ND\GD� DOÕQPDVÕ� WDOHEL\OH� 63.¶\D� EDúYXUPDODUÕ� ]RUXQOXOX÷X�
JHWLULOPLúWLU��
�
ùLUNHW�����$÷XVWRV������WDULKLQGH���������������7/�ND\ÕWOÕ�VHUPD\H�WDYDQÕ�LoHULVLQGH�������������7/�
RODQ� oÕNDUÕOPÕú� VHUPD\HVLQLQ�������������7/¶\H� oÕNDUÕOPDVÕ�YH� DUWÕUÕODQ�������������7/¶\H� WHNDE�O�
HGHQ�%� JUXEX�KDPLOLQH� \D]ÕOÕ� SD\ODUÕQ� KDOND� DU]� HGLOPHVL� DPDFÕ\OD�63.¶\D� EDúYXUPXúWXU��%DúYXUX��
63.¶QÕQ���ùXEDW������WDULKOL������VD\ÕOÕ�NDUDUÕ�LOH�RQD\ODQPÕúWÕU��1RPLQDO�GH÷HUL��������������7/¶\H�
WHNDE�O�HGHQ�%�JUXEX�KDPLOLQH�\D]ÕOÕ�SD\ODU�PHYFXW�RUWDNODUÕQ�SD\�DOPD�KDNNÕ�NÕVÕWODQDUDN�������ùXEDW�
�����WDULKLQGH�KDOND�DU]�HGLOPLúWLU��7DOHS�WRSODPDQÕQ�WDPDPODQPDVÕQÕQ�DUGÕQGDQ�ùLUNHW�SD\ODUÕ����ùXEDW�
�����WDULKLQGHQ�LWLEDUHQ�%RUVD�øVWDQEXO¶GD�+/*<2�NRGX�LOH�LúOHP�J|UPH\H�EDúODPÕúWÕU��
�
ùLUNHW�� ��� +D]LUDQ� ����� WDULKLQGH� JHoPLú� \ÕOODU� NDUÕQGDQ� ����������� 7/� EHGHOVL]� VHUPD\H� DUWÕUÕPÕ�
JHUoHNOHúWLUHUHN�VHUPD\HVLQL�������������7/¶\H�oÕNDUPÕúWÕU���
�
ùLUNHW����(\O�O������WDULKLQGH�NRQXW�SURMHVL�JHOLúWLUPHN�LoLQ�9DNÕI�*D\ULPHQNXO�<DWÕUÕP�2UWDNOÕ÷Õ�$�ù��
LOH�$GL�2UWDNOÕN�6|]OHúPHVL�LP]DODPÕúWÕU���
�
ùLUNHW�����1LVDQ������WDULKLQGH�NRQXW�SURMHVL�JHOLúWLUPHN�LoLQ�(U�.RQXW�øQú��7DDK��øQú��0DO]��1DN��YH�
0DG��7LF��YH�6DQ��$�ù��LOH�$GL�2UWDNOÕN�NXUPXúWXU��
�
ùLUNHW�� ��� 0D\ÕV� ����� WDULKLQGH� JHoPLú� \ÕOODU� NDUÕQGDQ� ����������� 7/� EHGHOVL]� VHUPD\H� DUWÕUÕPÕ�
JHUoHNOHúWLUHUHN�VHUPD\HVLQL�������������7/¶\H�oÕNDUPÕúWÕU��
�
ùLUNHW�� ���$÷XVWRV� ����� WDULKLQGH� JHoPLú� \ÕOODU� NDUÕQGDQ� ����������� 7/� EHGHOVL]� VHUPD\H� DUWÕUÕPÕ�
JHUoHNOHúWLUHUHN�VHUPD\HVLQL�������������7/¶\H�oÕNDUPÕúWÕU��
�

ùLUNHW� �� +D]LUDQ� ����� WDULKLQGH� JHoPLú� \ÕOODU� NDUÕQGDQ� ����������� 7/� EHGHOVL]� VHUPD\H� DUWÕUÕPÕ�
JHUoHNOHúWLUHUHN�VHUPD\HVLQL�������������7/¶\H�oÕNDUPÕúWÕU��
�
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��� ùø5.(7¶ø1�25*$1ø=$6<218�9(�)$$/ø<(7�.21868��GHYDPÕ��
�
ùLUNHW�����$÷XVWRV������WDULKLQGH�NRQXW�SURMHVL�JHOLúWLUPHN�LoLQ�7HNQLN�<DSÕ�7HNQLN�<DSÕODU�6DQ��YH�
7LF��$�ù��LOH�$GL�2UWDNOÕN�NXUPXúWXU��
�
ùLUNHW�����0DUW������YH����0DUW������WDULKOHULQGH����+D]LUDQ������YDGH�VRQX�WDULKOL�YH��������JHWLUL�
RUDQOÕ� ������������ 7/� QRPLQDO� WXWDUOÕ� NLUD� VHUWLILNDVÕ� VDWÕú� LúOHPL�� JHUoHNOHúWLUPLú� ROXS�� LKUDoWDQ�
������������7/� ILQDQVPDQ� JLULúL� VD÷ODQPÕúWÕU�� ùLUNHW� VDWÕú� LúOHPLQH� LOLúNLQ� LWIDVÕQÕ� ���+D]LUDQ� �����
WDULKLQGH�������������7/��RODUDN�JHUoHNOHúWLUPLúWLU���
�
ùLUNHW�����0DUW������WDULKLQGH����(\O�O������YDGH�VRQX�WDULKOL�YH��������IDL]�RUDQOÕ������������7/�
QRPLQDO� WXWDUOD� ILQDQVPDQ� ERQRVX� LKUDo� HWPLú� ROXS�� LKUDoWDQ� ����������� 7/� ILQDQVPDQ� JLULúL�
VD÷ODQPÕúWÕU�� ùLUNHW� VDWÕú� LúOHPLQH� LOLúNLQ� LWIDVÕQÕ� ��� (\O�O� ����� WDULKLQGH� ����������� 7/�� RODUDN�
JHUoHNOHúWLUPLúWLU���
�
ùLUNHW�����+D]LUDQ������WDULKLQGH����(\O�O������YDGH�VRQX�WDULKOL�YH��������JHWLUL�RUDQOÕ�������������
7/�QRPLQDO�WXWDUOÕ�NLUD�VHUWLILNDVÕ�LKUDo�LúOHPL�JHUoHNOHúWLUPLú�ROXS��LKUDoWDQ�������������7/��ILQDQVPDQ�
JLULúL�VD÷ODQPÕúWÕU��ùLUNHW�VDWÕú�LúOHPLQH�LOLúNLQ�LWIDVÕQÕ����(\O�O������WDULKLQGH�������������7/��RODUDN�
JHUoHNOHúWLUPLúWLU���
�
ùLUNHW�����(\O�O������WDULKLQGH����$UDOÕN������YDGH�VRQX�WDULKOL�YH��������IDL]�RUDQOÕ�����������7/�
QRPLQDO�WXWDUOÕ�ILQDQVPDQ�ERQRVX�LKUDo�LúOHPL�JHUoHNOHúWLULOPLú�ROXS��LKUDoWDQ������������7/�ILQDQVPDQ�
JLULúL�VD÷ODQPÕúWÕU��
�
ùLUNHW�����(\O�O������WDULKLQGH����$UDOÕN������YDGH�VRQX�WDULKOL�YH�����JHWLUL�RUDQOÕ�������������7/�
QRPLQDO�WXWDUOÕ�NLUD�VHUWLILNDVÕ�LKUDo�LúOHPL�JHUoHNOHúWLULOPLú�ROXS��LKUDoWDQ�������������7/�ILQDQVPDQ�
JLULúL�VD÷ODQPÕúWÕU�������������WDULKLQGH�LKUDo�HGLOHQ�NLUD�VHUWLILNDVÕQÕQ�����������7/�QRPLQDO�WXWDUÕ�JHUL�
DOÕQPÕúWÕU�� ����������� WDULKLQGH� WHNUDU� VDWÕOPÕúWÕU�� 6ÕQÕIODQGÕUPDODU� LKUDo� HGLOHQ� WXWDU� �]HULQGH�
\DSÕOPÕúWÕU���
�
ùLUNHW¶LQ�P�úWHUHN�IDDOL\HWOHUGHNL�SD\ODUÕQD�LOLúNLQ�GHWD\�DúD÷ÕGD�YHULOPHNWHGLU��
�
�
0�úWHUHN�IDDOL\HWOHUGHNL�SD\ODU�

� �
)DDOL\HW�
W�UOHUL�

� �
(VDV� IDDOL\HW�
NRQXODUÕ�

� � � � �
+DON�*<2�9DNÕI�*<2�$GL�2UWDNOÕ÷Õ� � øQúDDW� � *D\ULPHQNXO�

øQúDDWÕ�
+DON�*<2�(UNRQXW�$GL�2UWDNOÕ÷Õ� � øQúDDW� � *D\ULPHQNXO�

øQúDDWÕ�
7HNQLN�<DSÕ�+DON�*<2�$GL�2UWDNOÕ÷Õ� � øQúDDW� � *D\ULPHQNXO�

��������øQúDDWÕ�
�� �

gGHQHFHN�WHPHWW���
�
ùLUNHW�����1LVDQ������WDULKLQGH�\DSÕODQ������2OD÷DQ�*HQHO�.XUXO�WRSODQWÕVÕ¶QGD�DOÕQDQ�NDUDU�LVWLQDGHQ�
��� 1LVDQ� ����� WDULKLQGH� ���������� 7/� QDNLW� NDU� GD÷ÕWÕPÕ� JHUoHNOHúPLúWLU�� ���������������� 7/���
�ùLUNHWLQ� JHUL� VDWÕQ� DOGÕ÷Õ� KLVVHOHUH� LOLúNLQ� ��������7/�.DU� SD\Õ� WXWDUÕ� LDGHVL� ROPXúWXU���1HW� |GHQHQ�
WHPHWW��WXWDUÕ�����������7/¶GLU��
�
�
� �
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��� ùø5.(7¶ø1�25*$1ø=$6<218�9(�)$$/ø<(7�.21868��GHYDPÕ��
�

)LQDQVDO�WDEORODUÕQ�RQD\ODQPDVÕ���
�

)LQDQVDO�WDEORODU��\|QHWLP�NXUXOX�WDUDIÕQGDQ�RQD\ODQPÕú�YH���.DVÕP������WDULKLQGH�\D\ÕQODQPDVÕ�LoLQ�
\HWNL�YHULOPLúWLU��*HQHO�.XUXO¶XQ�ILQDQVDO�WDEORODUÕ�GH÷LúWLUPH�\HWNLVL�EXOXQPDNWDGÕU��

�
��� )ø1$16$/�7$%/2/$5,1�6818081$�ø/øù.ø1�(6$6/$5�

�
����� 6XQXPD�øOLúNLQ�7HPHO�(VDVODU�
� �
� 706¶\H�8\JXQOXN�%H\DQÕ�

�
øOLúLNWHNL�ILQDQVDO�WDEORODU�6HUPD\H�3L\DVDVÕ�.XUXOX¶QXQ��³63.´�����+D]LUDQ������WDULK�YH�������VD\ÕOÕ�
5HVPL�*D]HWH¶GH�\D\ÕPODQDQ�6HUL�,,�������1R¶OX�³6HUPD\H�3L\DVDVÕQGD�)LQDQVDO�5DSRUODPD\D�øOLúNLQ�
(VDVODU�7HEOL÷L´��³7HEOL÷´��K�N�POHULQH�X\JXQ�RODUDN�KD]ÕUODQPÕú�ROXS�7HEOL÷LQ����0DGGHVLQH�LVWLQDGHQ�
.DPX�*|]HWLPL�0XKDVHEH�YH�'HQHWLP�6WDQGDUWODUÕ�.XUXPX��³.*.´��WDUDIÕQGDQ�\�U�UO�÷H�NRQXOPXú�
RODQ�7�UNL\H�0XKDVHEH�6WDQGDUWODUÕ��³706´���LOH�EXQODUD�LOLúNLQ�HN�YH�\RUXPODUÕ�HVDV�DOÕQPÕúWÕU��
�
$\UÕFD� ILQDQVDO� WDEORODU� YH� GLSQRWODU� 63.� WDUDIÕQGDQ� �� +D]LUDQ� ����� WDULKOL� GX\XUX� LOH� DoÕNODQDQ�
IRUPDWODUD�X\JXQ�RODUDN�VXQXOPXúWXU��
�
)LQDQVDO� WDEORODU��JHUoH÷H�X\JXQ�GH÷HUOHUL� LOH�|Oo�OHQ�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXOOHU�KDULFLQGH� WDULKL�
PDOL\HW�HVDVÕQD�J|UH�KD]ÕUODQPDNWDGÕU��7DULKL�PDOL\HWLQ�EHOLUOHQPHVLQGH��JHQHOOLNOH�YDUOÕNODU�LoLQ�|GHQHQ�
WXWDUÕQ�JHUoH÷H�X\JXQ�GH÷HUL�HVDV�DOÕQPDNWDGÕU���
�
.XOODQÕODQ�3DUD�%LULPL�
�
ùLUNHW¶LQ� KHU� LúOHWPHVLQLQ� NHQGL� ILQDQVDO� WDEORODUÕ� IDDOL\HWWH� EXOXQGXNODUÕ� WHPHO� HNRQRPLN� oHYUHGH�
JHoHUOL�RODQ�SDUD�ELULPL��IRQNVL\RQHO�SDUD�ELULPL��LOH�VXQXOPXúWXU��+HU�LúOHWPHQLQ�ILQDQVDO�GXUXPX�YH�
IDDOL\HW�VRQXoODUÕ��ùLUNHW¶LQ�JHoHUOL�SDUD�ELULPL�RODQ�YH�ILQDQVDO�WDEORODU�LoLQ�VXQXP�SDUD�ELULPL�RODQ�7/�
FLQVLQGHQ�LIDGH�HGLOPLúWLU��
�
<�NVHN�HQIODV\RQ�G|QHPOHULQGH�ILQDQVDO�WDEORODUÕQ�G�]HOWLOPHVL�
�
63.¶QÕQ����0DUW������WDULK�YH��������VD\ÕOÕ�NDUDUÕ�X\DUÕQFD��7�UNL\H
GH�IDDOL\HWWH�EXOXQDQ�YH�7�UNL\H�
0XKDVHEH�6WDQGDUWODUÕ
QD�X\JXQ�RODUDN�ILQDQVDO�WDEOR�KD]ÕUOD\DQ�úLUNHWOHU�LoLQ����2FDN������WDULKLQGHQ�
LWLEDUHQ�JHoHUOL�ROPDN��]HUH�HQIODV\RQ�PXKDVHEHVL�X\JXODPDVÕQD�VRQ�YHULOPLúWLU��%XQD�LVWLQDGHQ����2FDN�
�����WDULKLQGHQ�LWLEDUHQ����1R¶OX�³<�NVHN�(QIODV\RQOX�(NRQRPLOHUGH�)LQDQVDO�5DSRUODPD´�6WDQGDUGÕ�
�³706���´��X\JXODQPDPÕúWÕU��
�
.DUúÕODúWÕUPDOÕ�%LOJLOHU�YH�gQFHNL�'|QHP�7DULKOL�)LQDQVDO�7DEORODUÕQÕQ�'�]HOWLOPHVL�
�
0DOL�GXUXP�YH�SHUIRUPDQV�WUHQGOHULQLQ�WHVSLWLQH�LPNDQ�YHUPHN��]HUH��ùLUNHW¶LQ�ILQDQVDO�WDEORODUÕ�|QFHNL�
G|QHPOH�NDUúÕODúWÕUPDOÕ�RODUDN�KD]ÕUODQPDNWDGÕU��&DUL�G|QHP�ILQDQVDO�WDEORODUÕQ�VXQXPX�LOH�X\JXQOXN�
VD÷ODQPDVÕ� DoÕVÕQGDQ� NDUúÕODúWÕUPDOÕ� ELOJLOHU� JHUHNOL� J|U�OG�÷�QGH� \HQLGHQ� VÕQÕIODQGÕUÕOÕU� YH� |QHPOL�
IDUNOÕOÕNODU�DoÕNODQÕU���
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����� 6XQXPD�øOLúNLQ�7HPHO�(VDVODU��GHYDPÕ��
�
0�úWHUHN�IDDOL\HWOHUGHNL�SD\ODU��
�
0�úWHUHN� IDDOL\HW�� ELU� G�]HQOHPHGH�P�úWHUHN� NRQWURO�� RODQ� WDUDIODUÕQ� G�]HQOHPH\H� LOLúNLQ� YDUOÕN� YH�
\�N�PO�O�NOHULQ�VRUXPOXOXNODUÕ��]HULQGH�KDNND�VDKLS�ROGX÷X�ELU�RUWDN�G�]HQOHPHGLU��0�úWHUHN�NRQWURO��
ELU�HNRQRPLN�IDDOL\HW��]HULQGHNL�NRQWURO�Q�V|]OHúPH\H�GD\DOÕ�RODUDN�SD\ODúÕOPDVÕGÕU���
�
%X�NRQWURO�Q��LOJLOL�IDDOL\HWOHUH�LOLúNLQ�NDUDUODUÕQ��NRQWURO��SD\ODúDQ�WDUDIODUÕQ�R\�ELUOL÷L�LOH�PXWDEDNDWÕQÕ�
JHUHNWLUGL÷L�GXUXPODUGD�YDU�ROGX÷X�NDEXO�HGLOLU���
�
%LU� ùLUNHW� úLUNHWLQLQ� IDDOL\HWOHULQL� P�úWHUHN� \�U�W�OHQ� IDDOL\HWOHU� NDSVDPÕQGD� JHUoHNOHúWLUGL÷L�
GXUXPODUGD�� P�úWHUHN� IDDOL\HWOHUL� JHUoHNOHúWLUHQ� ùLUNHW�� DúD÷ÕGDNLOHUL� P�úWHUHN� IDDOL\HWOHUGHNL� SD\Õ�
RUDQÕQGD�PDOL�WDEORODUÕQD�GDKLO�HGHU��
�
x� 0�úWHUHN�IDDOL\HWOHUGH�VDKLS�ROGX÷X�YDUOÕNODUGDNL�SD\Õ�LOH�ELUOLNWH�YDUOÕNODUÕQÕ��
x� 0�úWHUHN�IDDOL\HWOHUGH��VWOHQLOHQ�\�N�PO�O�NOHUGHNL�SD\Õ�LOH�ELUOLNWH�\�N�PO�O�NOHUL��
x� 0�úWHUHN� IDDOL\HWOHU� VRQXFXQGD� RUWD\D� oÕNDQ� �U�Q�oÕNWÕQÕQ� VDWÕúÕQGDQ� SD\ÕQD� G�úHQ� WXWDUGD� HOGH�

HGLOHQ�JHOLU��
x� 0�úWHUHN�IDDOL\HWOHU�VRQXFXQGD�RUWD\D�oÕNDQ��U�Q�Q�oÕNWÕQÕQ�VDWÕúÕQGDQ�HOGH�HGLOHQ�JHOLU�SD\Õ�YH�
x� 2UWDN�RODUDN��VWOHQLOHQ�JLGHUOHU�LOH�ELUOLNWH�SD\ÕQD�G�úHQ�W�P�JLGHUOHU�� �

ùLUNHW��P�úWHUHN�IDDOL\HW�oHUoHYHVLQGH�NHQGL�SD\ÕQD�G�úHQ�W�P�YDUOÕNODUÕ��\�N�PO�O�NOHUL��JHOLUOHUL�YH�
JLGHUOHUL�LOJLOL�YDUOÕN��\�N�PO�O�N��JHOLU�YH�JLGHUOHUL�NDSVD\DQ�706�VWDQGDUGÕ�X\DUÕQFD�PXKDVHEHOHúWLULU��
�

����� 'H÷LúHQ�0XKDVHEH�3ROLWLNDODUÕQÕQ�(WNLOHUL�
�
� %X� QRWWD�� 7)56� �� )LQDQVDO� $UDoODU� YH� 7)56� ��� 0�úWHUL� 6|]OHúPHOHULQGHQ� +DVÕODW� VWDQGDUWODUÕQÕQ�

X\JXODPDVÕQÕQ� ùLUNHW¶LQ� ILQDQVDO� WDEORODUÕ� �]HULQGH� HWNLOHUL� LOH� ùLUNHW¶LQ� |QFHNL� G|QHPOHUGHQ� IDUNOÕ�
RODUDN���2FDN������WDULKLQGHQ�LWLEDUHQ�X\JXODPD\D�EDúODGÕ÷Õ�\HQL�PXKDVHEH�SROLWLNDODUÕ��DoÕNODQPÕúWÕU��
� �
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����� 'H÷LúHQ�0XKDVHEH�3ROLWLNDODUÕQÕQ�(WNLOHUL��GHYDPÕ��
�

D�� 'H÷LúHQ�0XKDVHEH�3ROLWLNDODUÕQÕQ�ùLUNHW¶LQ�)LQDQVDO�7DEORODUÕ�h]HULQGHNL�(WNLOHUL�
�

ùLUNHW� GH÷LúHQ� PXKDVHEH� SROLWLNDODUÕQÕQ� LON� GHID� X\JXODPDVÕ� VRQXFX� ROXúDQ� N�P�ODWLI� HWNL\L� IDUN�
G�]HOWPHVL�RODUDN���2FDN������WDULKL�LWLEDUÕ\OD�JHoPLú�\ÕOODU�NDUODUÕ�LoHULVLQGH�PXKDVHEHOHúWLUPLú�ROXS��
|QFHNL� G|QHPOHUH� LOLúNLQ� NDUúÕODúWÕUPDOÕ� ELOJLOHU� \HQLGHQ� G�]HQOHQPHPLúWLU�� 'H÷LúHQ� PXKDVHEH�
SROLWLNDODUÕ�VRQXFX�ILQDQVDO�WDEOR�NDOHPOHUL��LOJLOL�WXWDUODUÕ\OD�ELUOLNWH�DúD÷ÕGD�J|VWHULOPLúWLU��
�

�� �� gQFHGHQ� �� �� �� �� �� <HQLGHQ�
�� �� 5DSRUODQDQ� �� �� �� �� �� '�]HQOHQPLú�
�� �� ���$UDOÕN� �� 7)56���� �� 7)56����� �� ��2FDN�
�� �� ����� �� HWNLVL� �� HWNLVL� �� �����
9$5/,./$5� �� �� �� �� �� �� �� ��

���1DNLW�YH�1DNLW�%HQ]HUOHUL� � ������������ � ���������� � �� � ������������
���7LFDUL�$ODFDNODU� �� ����������� � ���������� � �� � �����������
���'L÷HU�9DUOÕNODU� � �������������� � �� � �� � ��������������
723/$0�9$5/,./$5� �� �������������� � ���������� � �� � ��������������

.$<1$./$5� �� � � � � � � �
����(UWHOHQPLú�*HOLUOHU� � �������������� � � � ������������ � ������������
����'L÷HU�.D\QDNODU� � �������������� � �� � �� � ��������������
����*HoPLú�<ÕOODU�.DUODUÕ�=DUDUODUÕ� �� ������������ � ���������� � ���������� � ������������
723/$0�.$<1$./$5� �� �������������� � ���������� � �� � ��������������

�
E�� 7)56���)LQDQVDO�$UDoODU��
�
)LQDQVDO�7DEORODU�h]HULQGHNL�(WNLOHUL�
�
7)56����706���¶XQ�ILQDQVDO�DUDoODUÕQ�LON�GHID�ILQDQVDO� WDEORODUD�DOÕQPDVÕ��VÕQÕIODQGÕUÕOPDVÕ��|Oo�P���
ILQDQVDO� WDEOR� GÕúÕ� EÕUDNÕOPDVÕ�� GH÷HU� G�ú�NO�÷�� YH� ILQDQVDO� ULVNWHQ� NRUXQPD� PXKDVHEHVLQH� LOLúNLQ�
K�N�POHULQLQ�\HULQH�JHoPHNWHGLU��
�
7)56� �¶XQ� X\JXODQPD\D� EDúODPDVÕ� VRQXFXQGD� �� 2FDN� ����� WDULKLQGHQ� LWLEDUHQ� PXKDVHEH�
SROLWLNDODUÕQGD�ED]Õ�GH÷LúLNOLNOHU�PH\GDQD�JHOPLú�ROXS��ILQDQVDO�WDEORODUD�ED]Õ�G�]HOWPHOHU�\DSÕOPÕúWÕU��
8\JXODQDQ�\HQL�PXKDVHEH�SROLWLNDODUÕ�����QROX�GLSQRWWD�DoÕNODQPÕúWÕU��7)56��¶XQ�JHoLú�K�N�POHUL�LOH�
X\XPOX�RODUDN��JHoPLú�\ÕO� ILQDQVDO� WDEORODUÕ�\HQLGHQ�G�]HQOHQPHPLúWLU��6|]�NRQXVX�GH÷LúLNOLNOHULQ���
2FDN������WDULKOL�JHoPLú�\ÕO�NDUODUÕQD�HWNLVL�DúD÷ÕGDNL�JLELGLU��

�
*HoPLú�\ÕOODU�NDUODUÕ������$UDOÕN������� ������������
1DNLW�YH�1DNLW�%HQ]HUOHUL�EHNOHQHQ�]DUDU�NDUúÕOÕ÷Õ� ����������
ù�SKHOL�DODFDN�NDUúÕOÕ÷ÕQGDNL�DUWÕú�� ����������
7)56���X\DUÕQFD�JHoPLú�\ÕO�G�]HOWPHOHULQLQ�WRSODP�HWNLVL�� ����������
*HoPLú�\ÕOODU�NDUODUÕ�±���2FDN������±��7)56���HWNLOHUL�GDKLO��� ������������
7)56����X\DUÕQFD�JHoPLú�\ÕO�G�]HOWPHOHULQLQ�WRSODP�HWNLVL� ����������
*HoPLú�\ÕOODU�NDUODUÕ�±���2FDN������±��7)56���YH�7)56����HWNLOHUL�GDKLO��� ������������

�
� �
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� �

����� 'H÷LúHQ�0XKDVHEH�3ROLWLNDODUÕQÕQ�(WNLOHUL��GHYDPÕ��
�

6ÕQÕIODQGÕUPD�YH�gOo�P�
�
ùLUNHW� \|QHWLPL� ��2FDN� ����� WDULKL� LWLEDUL\OH�� ILQDQVDO� DUDoODUÕ� 7)56� �¶GD� EHOLUWLOHQ� NDWHJRULOHUGHQ�
KDQJLOHULQGH�J|VWHULOHFH÷LQH�LOLúNLQ�Lú�PRGHOOHULQL�GH÷HUOHQGLUPLúWLU���

�
øWID� HGLOPLú� PDOL\HWLQGHQ� J|VWHULOHQ� WLFDUL� DODFDNODU� �1RW� ��� �� %XQODU� VDGHFH� DQDSDUD� YH� DQDSDUD�
EDNL\HVLQH� LOLúNLQ� IDL]�|GHPHOHULQL� LoHUHQ�V|]OHúPH\H�ED÷OÕ�QDNLW� DNÕúODUÕ� WDKVLO� HWPH\L�DPDoOD\DQ� Lú�
PRGHOL� NDSVDPÕQGD� HOGH� WXWXOPDNWDGÕU�� 'ROD\ÕVÕ\OD�� V|]� NRQXVX� ILQDQVDO� YDUOÕNODU�� 7)56� �
XQ�
X\JXODQPDVÕ�VRQUDVÕQGD�LWID�HGLOPLú�PDOL\HWOHUL��]HULQGHQ�|Oo�OPH\H�GHYDP�HGLOHFHNOHUGLU��
�
'L÷HU� W�P� ILQDQVDO� YDUOÕN� YH� \�N�PO�O�NOHU�� 706� ��� NDSVDPÕQGD� PHYFXW� GXUXPGD� NDEXO� HGLOGL÷L�
úHNOL\OH�|Oo�OPH\H�GHYDP�HGLOHFHNWLU��

�
'H÷HU�'�ú�NO�÷��

�
øWID�HGLOPLú�PDOL\HWLQGHQ�|Oo�OHQ�ILQDQVDO�YDUOÕNODU�7)56��¶GD�EHOLUWLOHQ�GH÷HU�G�ú�NO�÷��NDUúÕOÕNODUÕ�
K�N�POHULQH�WDEL�WXWXOPXúWXU��
�
ùLUNHW��WLFDUL�DODFDNODUÕ�LoLQ�7)56��¶XQ�L]LQ�YHUGL÷L�EDVLWOHúWLULOPLú�\DNODúÕPGDQ�ID\GDODQDUDN�ILQDQVDO�
WDEORODUD�DOÕQPDVÕQGDQ�VRQUD�NUHGL�ULVNLQGH�|QHPOL�GHUHFHGH�DUWÕú�PH\GDQD�JHOPHPLú�ROPDVÕ�GXUXPXQGD�
���D\OÕN�EHNOHQHQ�NUHGL�]DUDUODUÕ�NDUúÕOÕ÷Õ��JHOPHVL�GXUXPXQGD�LVH�|P�U�ER\X�EHNOHQHQ�NUHGL�]DUDUODUÕ�
NDUúÕOÕ÷Õ�D\ÕUÕU�YH�GH÷HU�G�ú�NO�÷��KHVDSODU��
�
F�� 7)56����0�úWHUL�6|]OHúPHOHUL�
�
7)56����³0�úWHULOHUOH�\DSÕODQ�V|]OHúPHOHUGHQ�GR÷DQ�KDVÕODW´�VWDQGDUGÕQD�LON�JHoLú�*UXS��706���¶LQ�
\HULQL� DODQ�7)56����³0�úWHULOHUOH�\DSÕODQ� V|]OHúPHOHUGHQ�GR÷DQ�KDVÕODW´� VWDQGDUGÕQÕ�N�P�ODWLI� HWNL�
PHWRGX\OD�LON�X\JXODPD�WDULKL�RODQ���2FDN������WDULKL�LWLEDUÕ\OD�PXKDVHEHOHúWLUPLúWLU��%X�\|QWHP�LOH�
*UXS�� 7)56� ��� VWDQGDUGÕQD� LON� JHoLúH� LOLúNLQ� N�P�ODWLI� HWNL\L� LON� X\JXODPD� WDULKLQGHNL� JHoPLú� \ÕO�
NDUODUÕQD�ND\GHWPLúWLU��%X�QHGHQOH�JHoPLú�\ÕOODUD�DLW�ILQDQVDO�WDEORODUÕQ�\HQLGHQ�G�]HQOHQPHVLQH�JHUHN�
NDOPDPÕú��V|]�NRQXVX�ILQDQVDO� WDEORODU�706���¶H�X\JXQ�RODUDN�VXQXOPXúWXU��6WDQGDUGÕQ�JHoLú�HWNLVL�
NROD\ODúWÕUÕOPÕú�PHWRGD�J|UH�PXKDVHEHOHúWLUPLúWLU��%X�JHoLú�\|QWHPL�X\DUÕQFD�*UXS��EX�VWDQGDUGÕ�VDGHFH�
LON�X\JXODPD�WDULKL�RODQ���2FDN������WDULKL�LWLEDUÕ\OD�WDPDPODQPDPÕú�V|]OHúPHOHU�LoLQ�KHVDSODPÕú�YH�
KHVDSODQDQ�N�P�ODWLI�HWNL\L�JHoPLú�\ÕO�NDUODUÕQD�ND\GHWPLúWLU��6|]�NRQXVX�GH÷LúLNOLNOHULQ���2FDN������
WDULKOL�JHoPLú�\ÕO�NDUODUÕQD�HWNLVL�DúD÷ÕGDNL�JLELGLU��
�
*HoPLú�\ÕOODU�NDUODUÕ������$UDOÕN������� ������������
7)56����.�P�ODWLI�(WNL�0HWRGX¶QD�J|UH�HWNL� ����������
7)56����X\DUÕQFD�JHoPLú�\ÕO�G�]HOWPHOHULQLQ�WRSODP�HWNLVL�� ����������
*HoPLú�\ÕOODU�NDUODUÕ�±���2FDN������±��7)56����HWNLOHUL�GDKLO�� ������������
7)56���X\DUÕQFD�JHoPLú�\ÕO�G�]HOWPHOHULQLQ�WRSODP�HWNLVL� ����������
*HoPLú�\ÕOODU�NDUODUÕ�±���2FDN�������7)56���YH�7)56����HWNLOHUL�GDKLO�� ������������
�
�
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��� )ø1$16$/�7$%/2/$5,1�6818081$�ø/øù.ø1�(6$6/$5��GHYDPÕ��
�
����� 0XKDVHEH�7DKPLQOHULQGHNL�'H÷LúLNOLNOHU�YH�+DWDODU�
�

0XKDVHEH� WDKPLQOHULQGHNL� GH÷LúLNOLNOHU�� \DOQÕ]FD� ELU� G|QHPH� LOLúNLQ� LVH�� GH÷LúLNOL÷LQ� \DSÕOGÕ÷Õ� FDUL�
G|QHPGH�� JHOHFHN� G|QHPOHUH� LOLúNLQ� LVH�� KHP� GH÷LúLNOL÷LQ� \DSÕOGÕ÷Õ� G|QHPGH� KHP� GH� JHOHFHN�
G|QHPOHUGH�� LOHUL\H� \|QHOLN� RODUDN� X\JXODQÕU�� ùLUNHW¶LQ� FDUL� \ÕO� LoHULVLQGH� PXKDVHEH� WDKPLQOHULQGH�
|QHPOL�ELU�GH÷LúLNOL÷L�ROPDPÕúWÕU���

�
����� <HQL�YH�5HYL]H�(GLOPLú�7�UNL\H�0XKDVHEH�6WDQGDUWODUÕ�

�
D�� �����\ÕOÕQGDQ�LWLEDUHQ�JHoHUOL�RODQ�GH÷LúLNOLNOHU�YH�\RUXPODU�
7)56��� )LQDQVDO�$UDoODU��
7)56���� 0�úWHUL�6|]OHúPHOHULQGHQ�+DVÕODW��
7)56����YH�706�����'H÷LúLNOLNOHU�� <DWÕUÕPFÕ� LOH� øúWLUDN� YH\D� øú� 2UWDNOÕ÷Õ� $UDVÕQGDNL� 9DUOÕN�

6DWÕúODUÕ�YH\D�$\QL�6HUPD\H�.DWNÕODUÕ��
7)56����'H÷LúLNOLNOHU��� +LVVH� %D]OÕ� gGHPH� øúOHPOHULQLQ� 6ÕQÕIODQGÕUÕOPDVÕ� YH�

gOo�OPHVL��
7)56�<RUXP���� <DEDQFÕ�3DUD�øúOHPOHUL�YH�$YDQV�%HGHOL��
706�����'H÷LúLNOLNOHU�� <DWÕUÕP�$PDoOÕ�*D\ULPHQNXO�Q�7UDQVIHUL���
���������� '|QHPLQH� øOLúNLQ� <ÕOOÕN�
ø\LOHúWLUPHOHU�

�
7)56����706�����

�
7)56���)LQDQVDO�$UDoODU�
�
7)56���ILQDQVDO�YDUOÕNODUÕQ�\�N�PO�O�NOHULQ�VÕQÕIODQGÕUÕOPDVÕ�|Oo�P���ND\ÕWODUGDQ�oÕNDUÕOPDVÕ�YH�JHQHO�
NRUXQPD�PXKDVHEHVL\OH�LOJLOL�\HQL�K�N�POHU�JHWLUPHNWH�YH�706����)LQDQVDO�$UDoODU��0XKDVHEHOHúWLUPH�
YH�gOoPH�VWDQGDUGÕQÕQ�\HULQH�JHoPHNWHGLU��
�
7)56��
XQ�WHPHO�K�N�POHUL��
�

x� 7)56���NDSVDPÕQGD�RODQ�W�P�ILQDQVDO�YDUOÕNODUÕQ��LON�PXKDVHEHOHúWLUPH�VRQUDVÕQGD��LWID�HGLOPLú�
PDOL\HWL� YH\D� JHUoH÷H� X\JXQ� GH÷HUL� �]HULQGHQ� PXKDVHEHOHúWLULOPHVL� JHUHNPHNWHGLU�� g]HOOLNOH��
V|]OHúPH\H� GD\DOÕ� QDNLW� DNÕúODUÕQÕ� WDKVLO� HWPH\L� DPDoOD\DQ� ELU� LúOHWPH� PRGHOL� LoLQGH� WXWXODQ�
ERUoODQPD� DUDoODUÕ� LOH� \DOQÕ]FD� DQDSDUD� YH� DQDSDUD� EDNL\HVLQH� LOLúNLQ� IDL]� |GHPHOHULQL� LoHUHQ�
V|]OHúPH\H�ED÷OÕ�QDNLW�DNÕúODUÕQD�VDKLS�ERUoODQPD�DUDoODUÕ��VRQUDNL�PXKDVHEHOHúWLUPHGH�JHQHOOLNOH�
LWID� HGLOPLú�PDOL\HWLQGHQ�|Oo�O�U��+HP�V|]OHúPH\H�GD\DOÕ� QDNLW� DNÕúODUÕQÕ� WDKVLO� HWPHN��KHP�GH�
ILQDQVDO�YDUOÕ÷Õ�VDWPDN�DPDFÕ\OD�HOGH�WXWDQ�ELU�LúOHWPH�PRGHOL�LoLQGH�WXWXODQ�ERUoODQPD�DUDoODUÕ�LOH�
EHOLUOL�WDULKOHUGH�VDGHFH�DQDSDUD�YH�DQDSDUD�EDNL\HVLQGHQ�ND\QDNODQDQ�IDL]�|GHPHOHULQL�LoHUHQ�QDNLW�
DNÕúODUÕQD� \RO� DoDQ� ERUoODQPD� DUDoODUÕQÕQ� JHQHO� RODUDN� JHUoH÷H� X\JXQ� GH÷HU� GH÷LúLPL� GL÷HU�
NDSVDPOÕ�JHOLUH�\DQVÕWÕODUDN�|Oo�O�U��'L÷HU�W�P�ERUoODQPD�DUDoODUÕ�YH�|]ND\QDN�DUDoODUÕ��VRQUDNL�
KHVDS� G|QHPOHULQLQ� VRQXQGD� JHUoH÷H� X\JXQ� GH÷HUOHUL\OH� |Oo�O�U�� $\UÕFD�� 7)56� �� X\DUÕQFD�
LúOHWPHOHU�� WLFDUL� DPDoOD� HOGH� WXWXOPD\DQ� |]ND\QDN� DUDFÕQD� \DSÕODQ� \DWÕUÕPÕQ� JHUoH÷H� X\JXQ�
GH÷HULQGH� PH\GDQD� JHOHQ� GH÷LúLPOHULQ� GL÷HU� NDSVDPOÕ� JHOLUGH� VXQXOPDVÕ� NRQXVXQGD� JHUL�
G|Q�OHPH\HFHN� ELU� WHUFLKWH� EXOXQDELOLUOHU�� %X� W�U� \DWÕUÕPODUGDQ� VD÷ODQDQ� WHPHWW�OHU�� DoÕNoD�
\DWÕUÕPÕQ�PDOL\HWLQLQ�ELU�NÕVPÕQÕQ�JHUL�ND]DQÕOPDVÕ�QLWHOL÷LQGH�ROPDGÕNoD��NkU�YH\D�]DUDU�RODUDN�
ILQDQVDO�WDEORODUD�DOÕQÕU���
�
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�
����� <HQL�YH�5HYL]H�(GLOPLú�7�UNL\H�0XKDVHEH�6WDQGDUWODUÕ�GHYDPÕ��

�
*HUoH÷H� X\JXQ� GH÷HU� GH÷LúLPL� NDU� YH\D� ]DUDUD� \DQVÕWÕODQ� RODUDN� WDQÕPODQDQ� ELU� ILQDQVDO�
\�N�PO�O�÷�Q�|Oo�P��LOJLOL�RODUDN�7)56���X\DUÕQFD��ILQDQVDO�\�N�PO�O�÷H�LOLúNLQ�NUHGL�ULVNLQGH�
PH\GDQD�JHOHQ�GH÷LúLNOLNOHULQ��NkU�YH\D�]DUDUGD�PXKDVHEH�X\XPVX]OX÷X�\DUDWPÕ\RU�\D�GD�NkU�YH\D�
]DUDUGDNL�PXKDVHEH�X\XPVX]OX÷XQX�DUWÕUPÕ\RU�LVH��GL÷HU�NDSVDPOÕ�JHOLUGH�VXQXOPDVÕ�JHUHNLU��%LU�
ILQDQVDO�\�N�PO�O�÷�Q�NUHGL�ULVNLQH�DWIHGLOHELOHQ�JHUoH÷H�X\JXQ�GH÷HULQGHNL�GH÷LúLPOHU�VRQUDNL�
G|QHPOHUGH�NkU�YH\D�]DUDUGD�\HQLGHQ�VÕQÕIODQGÕUÕOPD]��706����X\DUÕQFD��JHUoH÷H�X\JXQ�GH÷HU�IDUNÕ�
NkU�YH\D�]DUDUD�\DQVÕWÕODQ�ILQDQVDO�\�N�PO�O�÷�Q�JHUoH÷H�X\JXQ�GH÷HULQGHNL�GH÷LúLNOL÷LQ�WDPDPÕ�
NDU�YH\D�]DUDUGD�J|VWHULOLU��

�
x� )LQDQVDO� YDUOÕNODUÕQ� GH÷HU�G�ú�NO�÷�QH� LOLúNLQ� RODUDN�7)56� ��� 706���� X\DUÕQFD� X\JXODQDQ�
JHUoHNOHúHQ� NUHGL� ]DUDUÕ� PRGHOLQLQ� DNVLQH�� EHNOHQHQ� NUHGL� ]DUDUÕ� PRGHOLQL� JHUHNWLUPHNWHGLU��
%HNOHQHQ� NUHGL� ]DUDUÕ� PRGHOL�� ELU� LúOHWPHQLQ� EHNOHQHQ� NUHGL� ]DUDUODUÕQÕ� YH� EHNOHQHQ� NUHGL�
]DUDUODUÕQGD�PH\GDQD�JHOHQ�GH÷LúLNOLNOHUL��LON�PXKDVHEHOHúWLUPHGHQ�LWLEDUHQ�NUHGL�ULVNLQGH�ROXúDQ�
GH÷LúLNOLNOHUL�\DQVÕWDFDN�úHNLOGH��KHU�UDSRUODPD�WDULKLQGH�PXKDVHEHOHúWLUPHVLQL�JHUHNWLUPHNWHGLU��
'L÷HU�ELU� LIDGH\OH��\HQL�G�]HQOHPH\H�J|UH��NUHGL�]DUDUODUÕQÕQ�PXKDVHEHOHúWLULOPHVLQGHQ�|QFH�ELU�
NUHGL�]DUDUÕQÕQ�JHUoHNOHúPLú�ROPDVÕ�JHUHNPHPHNWHGLU��

�
x� <HQL� JHQHO� NRUXQPD� PXKDVHEHVL� K�N�POHUL�� 706� ��
GD� KkOLKD]ÕUGD� PHYFXW� RODQ� �o� oHúLW�
NRUXQPD� PXKDVHEH� PHNDQL]PDVÕQÕ� PXKDID]D� HWPHNWHGLU�� 7)56� �� NDSVDPÕQGD�� NRUXQPD�
PXKDVHEHVLQH� X\JXQ� RODELOHFHN� LúOHP� W�UOHULQH� oRN� GDKD� ID]OD� HVQHNOLN� JHWLULOPLúWLU�� |]HOOLNOH�
NRUXQPD� DUDoODUÕ� RODUDN� JHoHQ� RODQ� DUDo� W�UOHUL� YH� ILQDQVDO� ROPD\DQ� NDOHPOHULQ� NRUXQPD�
PXKDVHEHVLQH�X\JXQ�ULVN�ELOHúHQOHULQLQ�W�UOHUL�JHQLúOHWLOPLúWLU��%XQD�HN�RODUDN��HWNLQOLN�WHVWL�J|]GHQ�
JHoLULOPLú�YH�³HNRQRPLN�LOLúNL´�LONHVL�LOH�GH÷LúWLULOPLúWLU��$\UÕFD��NRUXQPDQÕQ�HWNLQOL÷LQLQ�JHUL\H�
G|Q�N� RODUDN� GH÷HUOHQGLULOPHVL� DUWÕN� JHUHNPHPHNWHGLU�� (N� RODUDN�� LúOHPHOHULQ� ULVN� \|QHWLP�
IDDOL\HWOHULQH�\|QHOLN�GLSQRW�\�N�PO�O�NOHUL�DUWWÕUÕOPÕúWÕU��

�
7)56��¶XQ�ùLUNHW¶LQ�ILQDQVDO�WDEORODUÕQD�HWNLOHUL�����1RWWD�GHWD\OÕ�RODUDN�DoÕNODQPÕúWÕU��
�
7)56����0�úWHUL�6|]OHúPHOHULQGHQ�+DVÕODW�
�
7)56� ����P�úWHULOHUOH� \DSÕODQ� V|]OHúPHOHUGHQ� GR÷DQ� KDVÕODWÕQ�PXKDVHEHOHúWLULOPHVLQGH� NXOODQÕOPDN�
�]HUH� WHN�ELU� NDSVDPOÕ�PRGHO�|QH� V�UPHNWHGLU��7)56���� \�U�UO�÷H� JLUPHVL\OH�� KDOLKD]ÕUGD�KDVÕODWÕQ�
ILQDQVDO� WDEORODUD� DOÕQPDVÕQGD� UHKEHUOLN� VD÷OD\DQ� 706� ���+DVÕODW�� 706� ��� øQúDDW� 6|]OHúPHOHUL� YH�
LOLúNLOL�\RUXPODUÕ�JHoHUVL]�NÕOPÕúWÕU��
�
7)56���
LQ�WHPHO�LONHVL��LúOHWPHQLQ�P�úWHULOHULQH�WDDKK�W�HWWL÷L�PDO�YH\D�KL]PHWOHULQ�GHYUL�NDUúÕOÕ÷ÕQGD�
KDN�ND]DQPD\Õ�EHNOHGL÷L� EHGHOL�\DQVÕWDQ�ELU� WXWDU��]HULQGHQ�KDVÕODWÕ� ILQDQVDO� WDEORODUD�\DQVÕWPDVÕGÕU��
g]HOOLNOH��EX�VWDQGDUW�JHOLULQ�ILQDQVDO�WDEORODUD�DOÕQPDVÕQD�EHú�DGÕPOÕ�ELU�\DNODúÕP�JHWLUPHNWHGLU��
�

x� ���$GÕP��0�úWHUL�V|]OHúPHOHULQLQ�WDQÕPODQPDVÕ�
x� ���$GÕP��6|]OHúPHOHUGHNL�HGLP�\�N�PO�O�NOHULQLQ�WDQÕPODQPDVÕ�
x� ���$GÕP��øúOHP�EHGHOLQLQ�EHOLUOHQPHVL�
x� ���$GÕP��6|]OHúPHOHUGHNL�LúOHP�EHGHOLQLQ�HGLP�\�N�PO�O�NOHULQH�GD÷ÕWÕPÕ�
x� ���$GÕP��øúOHWPH�HGLP�\�N�PO�O�NOHULQL�\HULQH�JHWLUGL÷LQGH�KDVÕODWÕQ�ILQDQVDO�WDEORODUD�DOÕQPDVÕ�

�
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�
����� <HQL�YH�5HYL]H�(GLOPLú�7�UNL\H�0XKDVHEH�6WDQGDUWODUÕ�GHYDPÕ��

�
7)56� ��� X\DUÕQFD�� LúOHWPH� HGLP� \�N�PO�O�NOHULQL� \HULQH� JHWLUGL÷LQGH�� ELU� EDúND� GH\LúOH�� ELU� HGLP�
\�N�PO�O�÷��NDSVDPÕQGD�EHOLUWLOHQ�PDOODUÕQ� YH\D� KL]PHWOHULQ� �NRQWURO���P�úWHUL\H� GHYUHGLOGL÷LQGH��
KDVÕODW�ILQDQVDO�WDEORODUD�DOÕQPDNWDGÕU��
�
7)56����GDKD�|]HOOLNOL�VHQDU\RODUD�\|QHOLN�oRN�GDKD�\|QOHQGLULFL�UHKEHU�VXQPDNWDGÕU��%XQD�HN�RODUDN���
7)56����GLSQRWODUGD�GDKD�NDSVDPOÕ�DoÕNODPDODU�JHUHNWLUPHNWHGLU��
�
6RQUDGDQ�\D\ÕQODQDQ�7)56���
H�øOLúNLQ�$oÕNODPDODU�LOH�HGLP�\�N�PO�O�NOHULQL�EHOLUOH\HQ�X\JXODPDODUD��
LúOHWPHQLQ�DVLO�YH\D�YHNLO�ROPDVÕQÕQ�GH÷HUOHQGLULOPHVL�YH�OLVDQVODPD�X\JXODPD�UHKEHUL�GH�HNOHQPLúWLU��
�
7)56���¶LQ�ùLUNHW¶LQ�ILQDQVDO�WDEORODUÕQD�HWNLOHUL�����1RWWD�GHWD\OÕ�RODUDN�DoÕNODQPÕúWÕU��
�
7)56����YH�706�����'H÷LúLNOLNOHU��<DWÕUÕPFÕ�LOH�øúWLUDN�YH\D�øú�2UWDNOÕ÷Õ�$UDVÕQGDNL�9DUOÕN�6DWÕúODUÕ�
YH\D�$\QL�6HUPD\H�.DWNÕODUÕ�
�
%X�GH÷LúLNOLN�LOH�ELU�\DWÕUÕPFÕ�LOH�LúWLUDN�YH\D�Lú�RUWDNOÕ÷Õ�DUDVÕQGDNL�YDUOÕN�VDWÕúODUÕ�YH\D�D\QL�VHUPD\H�
NDWNÕODUÕQGDQ�ND\QDNODQDQ�ND]DQo�YH\D�ND\ÕSODUÕQ�WDPDPÕQÕQ�\DWÕUÕPFÕ�WDUDIÕQGDQ�PXKDVHEHOHúWLULOPHVL�
JHUHNWL÷L�DoÕNOÕ÷D�NDYXúWXUXOPXúWXU��
�
7)56����YH�706���¶GHNL�GH÷LúLNOLNOHULQ�ILQDQVDO�WDEORODU��]HULQGH�KHUKDQJL�ELU�HWNLVL�EXOXQPDPDNWDGÕU��
�
7)56����'H÷LúLNOLNOHU��+LVVH�%D]OÕ�gGHPH�øúOHPOHULQLQ�6ÕQÕIODQGÕUÕOPDVÕ�YH�gOo�OPHVL��
�
%X�GH÷LúLNOLN�KDN�HGLú�NRúXOX�LoHUHQ�QDNGH�GD\DOÕ�KLVVH�ED]OÕ�|GHPH�LúOHPOHULQLQ�PXKDVHEHOHúWLULOPHVL��
QHW�|GHPH�|]HOOL÷LQH� VDKLS�KLVVH�ED]OÕ� |GHPH� LúOHPOHULQLQ� VÕQÕIODQGÕUÕOPDVÕ�YH�KLVVH�ED]OÕ� ELU�|GHPH�
LúOHPLQLQ� VÕQÕIÕQÕ�� QDNLW� RODUDN� |GHQHQ� KLVVH� ED]OÕ� |GHPHGHQ� |]ND\QD÷D� GD\DOÕ� KLVVH� ED]OÕ� |GHPH\H�
oHYLUHQ�ELU�GH÷LúLNOL÷LQ�PXKDVHEHOHúWLULOPHVL�NRQXODUÕQGD�VWDQGDUGD�DoÕNOÕNODU�JHWLUPHNWHGLU����
�
7)56��¶GHNL�GH÷LúLNOLNOHULQ�ILQDQVDO�WDEORODU��]HULQGH�KHUKDQJL�ELU�HWNLVL�EXOXQPDPDNWDGÕU��
�
7)56�<RUXP����<DEDQFÕ�3DUD�øúOHPOHUL�YH�$YDQV�%HGHOL�
�
6|]�NRQXVX�\RUXP�DúD÷ÕGD�VÕUDODQDQ�\DEDQFÕ�SDUD�FLQVLQGHQ�LúOHPOHULQ�ROXúWX÷X�GXUXPODUD�\|QHOLNWLU��
�

x� <DEDQFÕ�SDUD�FLQVLQGHQ�IL\DWODQDQ�YH\D�\DEDQFÕ�SDUD�FLQVLQH�ED÷OÕ�RODQ�ELU�EHGHO�YDUVD��
x� ùLUNHW�EX�EHGHOH�LOLúNLQ�DYDQV�|GHPHVLQL�YH\D�HUWHOHQPLú�JHOLU�\�N�PO�O�÷�Q���ED÷OÕ�ROGX÷X�
YDUOÕNWDQ��JLGHUGHQ�YH\D�JHOLUGHQ�|QFH�ND\ÕWODUÕQD�DOGÕ\VD�YH��
x� $YDQV�|GHPHVL�YH\D�HUWHOHQPLú�JHOLU�\�N�PO�O�÷��SDUDVDO�NÕ\PHW�GH÷LOVH�
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�
<RUXP�.RPLWHVL�DúD÷ÕGDNL�VRQXFD�YDUPÕúWÕU��
�

x� øúOHP�G|YL]�NXUXQXQ�EHOLUOHQPHVL�DoÕVÕQGDQ��LúOHPLQ�JHUoHNOHúWL÷L�WDULK��SDUDVDO�NÕ\PHW�ROPD\DQ�
DYDQV�|GHPHVLQLQ�YH\D�HUWHOHQPLú�JHOLU�\�N�PO�O�÷�Q�Q�LON�ND\ÕWODUD�DOÕQGÕ÷Õ�WDULKWLU���
x� (÷HU�ELUGHQ�ID]OD�|GHPH�YH\D�DYDQV�DOÕPÕ�YDUVD��LúOHP�WDULKL�KHU�DOÕP�YH\D�|GHPH�LoLQ�D\UÕ�D\UÕ�
EHOLUOHQLU��

�
7)56�<RUXP���¶QLQ�ILQDQVDO�WDEORODU��]HULQGH�KHUKDQJL�ELU�HWNLVL�EXOXQPDPDNWDGÕU��
�
706�����'H÷LúLNOLNOHU��<DWÕUÕP�$PDoOÕ�*D\ULPHQNXO�Q�7UDQVIHUL�
�
706���¶D�\DSÕODQ�GH÷LúLNOLNOHU��
�

x� %X� GH÷LúLNOLNOH� ��¶LQFL� SDUDJUDI� ³%LU� JD\ULPHQNXO�Q� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� VÕQÕIÕQD�
WUDQVIHUL�YH\D�EX�VÕQÕIWDQ�WUDQVIHUL�VDGHFH�YH�VDGHFH�NXOODQÕPÕQGD�GH÷LúLNOLN�ROGX÷XQD�LOLúNLQ�ELU�
NDQÕW�ROGX÷X�]DPDQ�\DSÕOÕU��.XOODQÕPGDNL�GH÷LúLNOLN��V|]�NRQXVX�YDUOÕN�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�
ROPD�WDQÕPÕQÕ�VD÷ODGÕ÷Õ�YH\D�DUWÕN�VD÷ODPDGÕ÷Õ�]DPDQ�JHUoHNOHúLU��<|QHWLPLQ��V|]�NRQXVX�YDUOÕ÷Õ�
NXOODQÕOÕú�QL\HWLQLQ�GH÷LúPLú�ROPDVÕ��WHN�EDúÕQD�NXOODQÕP�DPDFÕQÕQ�GH÷LúWL÷LQH�LOLúNLQ�NDQÕW�WHúNLO�
HWPH]�´�DQODPÕQÕ�LoHUHFHN�úHNLOGH�GH÷LúWLULOPLúWLU��
�
x� 3DUDJUDI� ���D�±�G�� DUDVÕQGD� EHOLUWLOHQ� NDQÕWODUÕQ� GHWD\OÕ� OLVWHVL� |UQHNOHUL� LoHUHQ� OLVWH� RODUDN�
GH÷LúWLULOPLúWLU��

�
706���¶GDNL�GH÷LúLNOLNOHULQ�ILQDQVDO�WDEORODU��]HULQGH�KHUKDQJL�ELU�HWNLVL�EXOXQPDPDNWDGÕU��
�
����������'|QHPLQH�øOLúNLQ�<ÕOOÕN�ø\LOHúWLUPHOHU�
�

x� 7)56� ��� 6|]� NRQXVX� L\LOHúWLUPH� SODQODQDQ� NXOODQÕPÕQD� XODúÕOPDVÕ� VHEHEL\OH� (�±(��
SDUDJUDIODUÕQGDNL�NÕVD�YDGHOL�LVWLVQDODUÕ�NDOGÕUPDNWDGÕU��
�
x� 706�����6|]�NRQXVX�L\LOHúWLUPH��ELU�JLULúLP�VHUPD\HVL�NXUXOXúXQXQ�YH\D�|]HOOLNOL�EDúND�ELU�
NXUXOXúXQ�VDKLS�ROGX÷X� LúWLUDN�YH\D� Lú�RUWDNOÕ÷Õ� \DWÕUÕPÕQÕQ�JHUoH÷H�X\JXQ�GH÷HU� IDUNÕ�NDU�YH\D�
]DUDUD�\DQVÕWÕODQ�YDUOÕN�RODUDN�|Oo�OPHVL�VHoHQH÷LQLQ�LON�ND\ÕWODUD�DOÕQGÕNWDQ�VRQUD�KHU�ELU�LúWLUDN�\D�
GD�Lú�RUWDNOÕ÷Õ�\DWÕUÕPÕQÕQ�D\UÕ�D\UÕ�HOH�DOÕQPDVÕQÕQ�P�PN�Q�ROGX÷XQD�DoÕNOÕN�JHWLUPHNWHGLU��

�
���������� G|QHPLQH� LOLúNLQ� \ÕOOÕN� L\LOHúWLUPHOHULQ� ILQDQVDO� WDEORODU� �]HULQGH� KHUKDQJL� ELU� HWNLVL�
EXOXQPDPDNWDGÕU��
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����� <HQL�YH�5HYL]H�(GLOPLú�7�UNL\H�0XKDVHEH�6WDQGDUWODUÕ�GHYDPÕ��

�
E�� +HQ�]�\�U�UO�÷H�JLUPHPLú�VWDQGDUWODU�LOH�PHYFXW�|QFHNL�VWDQGDUWODUD�JHWLULOHQ�GH÷LúLNOLNOHU�YH�
\RUXPODU�

�
ùLUNHW�KHQ�]�\�U�UO�÷H�JLUPHPLú�DúD÷ÕGDNL�VWDQGDUWODU�LOH�PHYFXW�|QFHNL�VWDQGDUWODUD�JHWLULOHQ�DúD÷ÕGDNL�
GH÷LúLNOLN�YH�\RUXPODUÕ�KHQ�]�X\JXODPDPÕúWÕU��
�
7)56���� .LUDODPDODU���
706�����'H÷LúLNOLNOHU�� øúWLUDN�YH�øú�2UWDNOÕNODUÕQGDNL�8]XQ�9DGHOL�3D\ODU���
7)56�<RUXP���� *HOLU�9HUJLVL�8\JXODPDODUÕQD�øOLúNLQ�%HOLUVL]OLNOHU��
�

����2FDN������WDULKLQGHQ�VRQUD�EDúOD\DQ�KHVDS�G|QHPOHULQGHQ�LWLEDUHQ�JHoHUOLGLU��
�
7)56����.LUDODPDODU�
�
7)56�����NLUDODPD�LúOHPOHULQLQ�ILQDQVDO�WDEORODUGD�QH�úHNLOGH�PXKDVHEHOHúWLULOHFH÷LQH��|Oo�OHFH÷LQH�YH�
GLSQRW�J|VWHULPL�\DSÕODFD÷ÕQD�LOLúNLQ�K�N�POHUL�LoHUPHNWH�ROXS�706����.LUDODPD�øúOHPOHUL�VWDQGDUGÕQÕQ�
\HULQH�JHoHFHNWLU��%X�VWDQGDUW��NLUDFÕODU�LoLQ��LOJLOL�YDUOÕ÷ÕQ�G�ú�N�GH÷HUOL�ROPDVÕ�YH\D�NLUD�V�UHVLQLQ����
D\GDQ�NÕVD�ROPDVÕ�GXUXPODUÕ�KDULFLQGH�WHN�ELU�PXKDVHEHOHúWLUPH�\|QWHPL�|QHUPHNWHGLU��.LUD\D�YHUHQOHU��
NLUDODPD� LúOHPOHULQL�PHYFXW�VWDQGDUWWD�ROGX÷X�JLEL� ILQDQVDO�YH�IDDOL\HW�NLUDODPDVÕ�RODUDN�VÕQÕIODPD\D�
GHYDP�HGHFHN�ROXS��7)56����NLUD\D�YHUHQOHU�DoÕVÕQGDQ�706���¶GHNL�K�N�POHUH�|QHPOL�GH÷LúLNOLNOHU�
JHWLUPHPHNWHGLU���
�
706�����'H÷LúLNOLNOHU��øúWLUDN�YH�øú�2UWDNOÕNODUÕQGDNL�8]XQ�9DGHOL�3D\ODU�
�
%X� GH÷LúLNOLN� ELU� LúOHWPHQLQ�� 7)56� �¶X� LúWLUDNLQ� YH\D� Lú� RUWDNOÕ÷ÕQÕQ� QHW� \DWÕUÕPÕQÕQ� ELU� SDUoDVÕQÕ�
ROXúWXUDQ�DQFDN�|]ND\QDN�PHWRGXQXQ�X\JXODQPDGÕ÷Õ�ELU�LúWLUDNWHNL�YH\D�Lú�RUWDNOÕ÷ÕQGDNL�X]XQ�YDGHOL�
SD\ODUD�X\JXODGÕ÷ÕQÕ�DoÕNODU��
�

7)56�<RUXP����*HOLU�9HUJLVL�8\JXODPDODUÕQD�øOLúNLQ�%HOLUVL]OLNOHU�
�
%X�<RUXP��JHOLU�YHUJLVL�X\JXODPDODUÕQD�LOLúNLQ�ELU�EHOLUVL]OL÷LQ�ROGX÷X�GXUXPODUGD��706���¶GH�\HU�DODQ�
ILQDQVDO�WDEORODUD�DOPD�YH�|Oo�P�K�N�POHULQLQ�QDVÕO�X\JXODQDFD÷ÕQD�DoÕNOÕN�JHWLUPHNWHGLU��
�
6|]�NRQXVX�VWDQGDUW��GH÷LúLNOLN�YH�L\LOHúWLUPHOHULQ�ùLUNHW¶LQ�ILQDQVDO�GXUXPX�YH�SHUIRUPDQVÕ��]HULQGHNL�
PXKWHPHO�HWNLOHUL�GH÷HUOHQGLULOPHNWHGLU��
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�
����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��

�
øOLúNLOL�7DUDIODU�
�
øOLúNLOL� WDUDIODU�� ILQDQVDO� WDEORODUÕQÕ� KD]ÕUOD\DQ� LúOHWPH\OH� �UDSRUOD\DQ� LúOHWPH�� LOLúNLOL� RODQ� NLúL� YH\D�
LúOHWPHGLU���
�

D��%LU�NLúL�YH\D�EX�NLúLQLQ�\DNÕQ�DLOHVLQLQ�ELU��\HVL��DúD÷ÕGDNL�GXUXPODUGD�UDSRUOD\DQ�LúOHWPH\OH�LOLúNLOL�
VD\ÕOÕU��6|]�NRQXVX�NLúLQLQ���
�

�L�����UDSRUOD\DQ�LúOHWPH��]HULQGH�NRQWURO�YH\D�P�úWHUHN�NRQWURO�J�F�QH�VDKLS�ROPDVÕ�GXUXPXQGD���
�LL����UDSRUOD\DQ�LúOHWPH��]HULQGH�|QHPOL�HWNL\H�VDKLS�ROPDVÕ�GXUXPXQGD���
�LLL��UDSRUOD\DQ�LúOHWPHQLQ�YH\D�UDSRUOD\DQ�LúOHWPHQLQ�ELU�DQD�RUWDNOÕ÷ÕQÕQ�NLOLW�\|QHWLFL�SHUVRQHOLQLQ�
ELU��\HVL�ROPDVÕ�GXUXPXQGD���

�

�E��$úD÷ÕGDNL�NRúXOODUGDQ�KHUKDQJL�ELULQLQ�PHYFXW�ROPDVÕ�KDOLQGH�LúOHWPH�UDSRUOD\DQ�LúOHWPH�LOH�LOLúNLOL�
VD\ÕOÕU���
�

�L��øúOHWPH�YH�UDSRUOD\DQ�LúOHWPHQLQ�D\QÕ�JUXEXQ��\HVL�ROPDVÕ�KDOLQGH��\DQL�KHU�ELU�DQD�RUWDNOÕN��
ED÷OÕ�RUWDNOÕN�YH�GL÷HU�ED÷OÕ�RUWDNOÕN�GL÷HUOHUL�LOH�LOLúNLOLGLU����
�LL��øúOHWPHQLQ��GL÷HU�LúOHWPHQLQ��YH\D�GL÷HU�LúOHWPHQLQ�GH��\HVL�ROGX÷X�ELU�JUXEXQ��\HVLQLQ��LúWLUDNL�
\D�GD�Lú�RUWDNOÕ÷Õ�ROPDVÕ�KDOLQGH���
�LLL��+HU�LNL�LúOHWPHQLQ�GH�D\QÕ�ELU��o�QF��WDUDIÕQ�Lú�RUWDNOÕ÷Õ�ROPDVÕ�KDOLQGH���
�LY��øúOHWPHOHUGHQ�ELULQLQ��o�QF��ELU�LúOHWPHQLQ�Lú�RUWDNOÕ÷Õ�ROPDVÕ�YH�GL÷HU�LúOHWPHQLQ�V|]�NRQXVX�
�o�QF��LúOHWPHQLQ�LúWLUDNL�ROPDVÕ�KDOLQGH���
�Y�� øúOHWPHQLQ�� UDSRUOD\DQ� LúOHWPHQLQ� \D� GD� UDSRUOD\DQ� LúOHWPH\OH� LOLúNLOL� RODQ� ELU� LúOHWPHQLQ�
oDOÕúDQODUÕQD� LOLúNLQ� RODUDN� LúWHQ� D\UÕOPD� VRQUDVÕQGD� VD÷ODQDQ� ID\GD� SOkQODUÕQÕQ� ROPDVÕ� KDOLQGH��
5DSRUOD\DQ� LúOHWPHQLQ�NHQGLVLQLQ�E|\OH� ELU�SOkQÕQÕQ�ROPDVÕ�KDOLQGH�� VSRQVRU�RODQ� LúYHUHQOHU�GH�
UDSRUOD\DQ�LúOHWPH�LOH�LOLúNLOLGLU���
�YL�� øúOHWPHQLQ� �D��PDGGHVLQGH� WDQÕPODQDQ� ELU� NLúL� WDUDIÕQGDQ� NRQWURO� YH\D�P�úWHUHNHQ� NRQWURO�
HGLOPHVL�KDOLQGH���
�YLL�� �D�� PDGGHVLQLQ� �L�� EHQGLQGH� WDQÕPODQDQ� ELU� NLúLQLQ� LúOHWPH� �]HULQGH� |QHPOL� HWNLVLQLQ�
EXOXQPDVÕ� YH\D� V|]� NRQXVX� LúOHWPHQLQ� �\D� GD� EX� LúOHWPHQLQ� DQD� RUWDNOÕ÷ÕQÕQ�� NLOLW� \|QHWLFL�
SHUVRQHOLQLQ�ELU��\HVL�ROPDVÕ�KDOLQGH��

�
� øOLúNLOL�WDUDIOD�\DSÕODQ�LúOHP�UDSRUOD\DQ�LúOHWPH�LOH�LOLúNLOL�ELU�WDUDI�DUDVÕQGD�ND\QDNODUÕQ��KL]PHWOHULQ�\D�

GD�\�N�PO�O�NOHULQ��ELU�EHGHO�NDUúÕOÕ÷Õ�ROXS�ROPDGÕ÷ÕQD�EDNÕOPDNVÕ]ÕQ�WUDQVIHULGLU��
�
+DVÕODW�
�
*HOLUOHU��IDDOL\HWOHULQGHQ�GROD\Õ�ùLUNHW¶H�HNRQRPLN�JHWLUL�VD÷ODQPDVÕ�RODVÕOÕ÷Õ�ROGX÷X�YH�JHOLULQ�J�YHQLOLU�
RODUDN�|Oo�OHELOPHVLQLQ�P�PN�Q�ROGX÷X�]DPDQ�PXKDVHEHOHúWLULOLU��*HOLUOHU��NDWPD�GH÷HU�YHUJLVL�YH�VDWÕú�
YHUJLOHUL� G�ú�OG�NWHQ� VRQUD� QHW� RODUDN� J|VWHULOLU�� *HOLULQ� ROXúPDVÕ� LoLQ� DúD÷ÕGDNL� NRúXOODUÕQ�
JHUoHNOHúPHVL�NULWHUL�DUDQPDNWDGÕU��

�����������
�����������*D\ULPHQNXO�VDWÕúÕ��
������������

+DVÕODW� V|]OHúPH�X\DUÕQFD� WDDKK�W� HGLOHQ�JD\ULPHQNXO�P�úWHUL\H�GHYUHGLOHUHN� V|]OHúPHGH�EHOLUOHQHQ�
HGLP�\�N�PO�O�÷��\HULQH�JHWLULOGL÷LQGH�ILQDQVDO� WDEORODUD�DOÕQÕU��*D\ULPHQNXO�Q�NRQWURO��P�úWHULQLQ�
HOLQH�JHoWL÷LQGH�JD\ULPHQNXO�GHYUHGLOPLú�ROXU��
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�

+DVÕODW��GHYDPÕ��
�
*D\ULPHQNXO�NLUDODPDODUÕQGDQ�HOGH�HGLOHQ�NLUD�JHOLUL��
�
*D\ULPHQNXOOHUGHQ�HOGH�HGLOHQ�NLUD�JHOLUL��LOJLOL�NLUDODPD�V|]OHúPHVL�ER\XQFD�GR÷UXVDO�RODUDN�WDKDNNXN�
HVDVÕQD� J|UH� PXKDVHEHOHúWLULOLU�� (÷HU� ùLUNHW¶LQ� NLUDFÕODUÕQD� VD÷ODGÕ÷Õ� PHQIDDWOHU� YDUVD�� EXQODU� GD�
NLUDODPD�V�UHVL�ER\XQFD�NLUD�JHOLULQL�D]DOWDFDN�úHNLOGH�ND\GHGLOLU��
�
7HPHWW��YH�IDL]�JHOLUL��
� �
+LVVH�VHQHGL�\DWÕUÕPODUÕQGDQ�HOGH�HGLOHQ�WHPHWW��JHOLUL��KLVVHGDUODUÕQ�WHPHWW��DOPD�KDNNÕ�GR÷GX÷X�]DPDQ�
�ùLUNHW¶LQ�HNRQRPLN�ID\GDODUÕ�HOGH�HGHFH÷L�YH�JHOLULQ�J�YHQLOLU�ELU�ELoLPGH�|Oo�OPHVL�P�PN�Q�ROGX÷X�
V�UHFH��ND\GD�DOÕQÕU��
�
)LQDQVDO� YDUOÕNODUGDQ� HOGH� HGLOHQ� IDL]� JHOLUL�� ùLUNHW¶LQ� HNRQRPLN� ID\GDODUÕ� HOGH� HGHFH÷L� YH� JHOLULQ�
J�YHQLOLU� ELU� ELoLPGH� |Oo�OPHVL� P�PN�Q� ROGX÷X� V�UHFH� ND\ÕWODUD� DOÕQÕU�� )DL]� JHOLUL�� NDODQ� DQDSDUD�
EDNL\HVL�LOH�EHNOHQHQ�|PU��ER\XQFD�LOJLOL�ILQDQVDO�YDUOÕNWDQ�HOGH�HGLOHFHN�WDKPLQL�QDNLW�JLULúOHULQL�V|]�
NRQXVX�YDUOÕ÷ÕQ�ND\ÕWOÕ�GH÷HULQH�LQGLUJH\HQ�HIHNWLI�IDL]�RUDQÕ�QLVSHWLQGH�LOJLOL�G|QHPGH�WDKDNNXN�HWWLULOLU��
�
$UVD�VDWÕúODUÕ��
�
3URMHOHQGLULOPHPLú� DUVDODUÕQ� ULVNLQLQ� YH� ID\GDVÕQÕQ� DOÕFÕ\D� WUDQVIHU� ROGX÷X� ]DPDQ� YH� JHOLU� WXWDUÕQÕQ�
J�YHQLOLU�ELU�úHNLOGH�KHVDSODQDELOGL÷L�GXUXPODUGD�JHOLU�ROXúPXú�VD\ÕOÕU���
�
$UVD�6DWÕúÕ�.DUúÕOÕ÷Õ�*HOLU�3D\ODúÕPÕ��$6.*3��\|QWHPL�LOH�SURMHOHQGLULOHQ�DUVDODUÕQ�VDWÕúODUÕ��
�
ùLUNHW��$6.*3�NDSVDPÕQGD�SURMHOHQGLUGL÷L�DUVDODUÕQÕQ� VDWÕú�JHOLUOHULQL��DUVDODUÕQ��]HULQGHNL�NXOODQÕP�
KDNNÕ�DQODPÕQD�JHOHQ��WDPDPODQDQ�ED÷ÕPVÕ]�E|O�POHUL�VDWÕQ�DODQ�DOÕFÕODUD�WHVOLP�HGLOPHVL�LOH�ND\ÕWODUÕQD�
DOÕU��6DWÕúÕQ�KHQ�]�JHUoHNOHúPHGL÷L�GXUXPODUGD��ùLUNHW�ELODQoR�WDULKL�LWLEDUÕ\OD�WDKVLO�HWWL÷L�NHQGL�SD\ÕQD�
G�úHFHN�JHOLUL�ND]DQÕOPDPÕú�JHOLUOHU�RODUDN�WDNLS�HWPHNWHGLU��3URMHOHU�VRQXFXQGD�ROXúDQ�7RSODP�6DWÕú�
*HOLUL��³76*´��LoLQGHNL�ùLUNHW�SD\Õ��DUVD�VDWÕú�JHOLUL���LOJLOL�DUVDQÕQ�VWRNODU�LoHULVLQGHNL�PDOL\HWL�GH�VDWÕODQ�
DUVDODUÕQ�PDOL\HWL�RODUDN�JHOLU�WDEORVX�LOH�LOLúNLOHQGLULOLU��
�

����������6WRNODU�
�
6WRNODU��PDOL\HWLQ�\D�GD�QHW�JHUoHNOHúHELOLU�GH÷HULQ�G�ú�N�RODQÕ�LOH�GH÷HUOHQPHNWHGLU��1HW�JHUoHNOHúHELOLU�
GH÷HU��ROD÷DQ�WLFDUL�IDDOL\HW�LoHULVLQGH�ROXúDQ�WDKPLQL�VDWÕú�IL\DWÕQGDQ�WDKPLQL�WDPDPODQPD�PDOL\HWL�LOH�
VDWÕúÕ� JHUoHNOHúWLUPHN� LoLQ�\�NOHQLOPHVL� JHUHNHQ� WDKPLQL�PDOL\HWOHULQ� WRSODPÕQÕQ� LQGLULOPHVL\OH� HOGH�
HGLOLU�� 6WRNODUÕQ� QHW� JHUoHNOHúHELOLU� GH÷HUL� PDOL\HWLQLQ� DOWÕQD� G�úW�÷�QGH�� VWRNODU� QHW� JHUoHNOHúHELOLU�
GH÷HULQH� LQGLUJHQLU� YH� GH÷HU� G�ú�NO�÷�Q�Q� ROXúWX÷X� \ÕOGD� NDU� YH\D� ]DUDU� WDEORVXQD� JLGHU� RODUDN�
\DQVÕWÕOÕU�� 'DKD� |QFH� VWRNODUÕQ� QHW� JHUoHNOHúHELOLU� GH÷HUH� LQGLUJHQPHVLQH� QHGHQ� RODQ� NRúXOODUÕQ�
JHoHUOLOL÷LQL� ND\EHWPHVL� YH\D� GH÷LúHQ� HNRQRPLN� NRúXOODU�QHGHQL\OH� QHW� JHUoHNOHúHELOLU� GH÷HUGH� DUWÕú�
ROGX÷X�NDQÕWODQGÕ÷Õ�GXUXPODUGD��D\UÕODQ�GH÷HU�G�ú�NO�÷��NDUúÕOÕ÷Õ�LSWDO�HGLOLU��øSWDO�HGLOHQ�WXWDU�|QFHGHQ�
D\UÕODQ�GH÷HU�G�ú�NO�÷��WXWDUÕ�LOH�VÕQÕUOÕGÕU��
�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�
�����������0DGGL�'XUDQ�9DUOÕNODU�

�
0DGGL� GXUDQ� YDUOÕNODU�� PDOL\HW� GH÷HUOHULQGHQ� ELULNPLú� DPRUWLVPDQ� YH� ELULNPLú� GH÷HU� G�ú�NO�NOHUL�
G�ú�OG�NWHQ�VRQUDNL�WXWDU��]HULQGHQ�J|VWHULOLU��$UD]L�YH�DUVDODU�DPRUWLVPDQD�WDEL�WXWXOPD]ODU�YH�PDOL\HW�
GH÷HUOHULQGHQ�ELULNPLú�GH÷HU�G�ú�NO�NOHUL�G�ú�OG�NWHQ�VRQUDNL�WXWDU��]HULQGHQ�J|VWHULOLUOHU����

� �
øGDUL� DPDoOÕ� \D� GD� KDOLKD]ÕUGD� EHOLUOHQPHPLú� RODQ� GL÷HU� DPDoODU� GR÷UXOWXVXQGD� LQúD� HGLOPH�
DúDPDVÕQGDNL� YDUOÕNODU�� PDOL\HW� GH÷HUOHULQGHQ� YDUVD� GH÷HU� G�ú�NO�÷�� ND\EÕ� G�ú�OHUHN� J|VWHULOLUOHU��
0DOL\HWH�\DVDO�KDUoODU�GD�GDKLO�HGLOLU��.XOODQÕPD�YH�VDWÕúD�KD]ÕU�KDOH�JHWLULOPHVL�|QHPOL�|Oo�GH�]DPDQ�
LVWH\HQ� YDUOÕNODU� V|]� NRQXVX� ROGX÷XQGD�� ERUoODQPD� PDOL\HWOHUL� DNWLIOHúWLULOLU�� %X� YDUOÕNODUÕQ� LQúDVÕ�
ELWWL÷LQGH�YH�NXOODQÕPD�KD]ÕU�KDOH�JHOGLNOHULQGH�LOJLOL�PDGGL�GXUDQ�YDUOÕN�NDOHPLQH�VÕQÕIODQGÕUÕOÕUODU��%X�
W�U�YDUOÕNODU��GL÷HU�VDELW�YDUOÕNODU�LoLQ�NXOODQÕODQ�DPRUWLVPDQ�\|QWHPLQGH�ROGX÷X�JLEL��NXOODQÕPD�KD]ÕU�
ROGXNODUÕQGD�DPRUWLVPDQD�WDEL�WXWXOXU��
�

�� $UD]L�YH�\DSÕOPDNWD�RODQ�\DWÕUÕPODU�GÕúÕQGD��PDGGL�GXUDQ�YDUOÕNODUÕQ�PDOL\HW�WXWDUODUÕ��EHNOHQHQ�ID\GDOÕ�
|P�UOHULQH�J|UH�GR÷UXVDO�DPRUWLVPDQ�\|QWHPL�NXOODQÕODUDN�DPRUWLVPDQD�WDEL�WXWXOXU��%HNOHQHQ�ID\GDOÕ�
|P�U��NDOÕQWÕ�GH÷HU�YH�DPRUWLVPDQ�\|QWHPL��WDKPLQOHUGH�RUWD\D�oÕNDQ�GH÷LúLNOLNOHULQ�RODVÕ�HWNLOHUL�LoLQ�
KHU�\ÕO�J|]GHQ�JHoLULOLU�YH�WDKPLQOHUGH�ELU�GH÷LúLNOLN�YDUVD�LOHUL\H�G|Q�N�RODUDN�PXKDVHEHOHúWLULOLU��
�
)LQDQVDO�NLUDODPD�LOH�DOÕQDQ�YDUOÕNODU��VDKLS�ROXQDQ�PDGGL�GXUDQ�YDUOÕNODUGD�ROGX÷X�JLEL�EHNOHQHQ�ID\GDOÕ�
|PU�QH�J|UH�DPRUWLVPDQD�WDEL�WXWXOXU��(÷HU�ILQDQVDO�NLUDODPD�G|QHPLQLQ�VRQXQGD�VDKLSOL÷LQ�ND]DQÕOÕS�
ND]DQÕOPD\DFD÷Õ�NHVLQ�GH÷LO�LVH�EHNOHQHQ�ID\GDOÕ�|PU��LOH�V|]�NRQXVX�NLUDODPD�V�UHVLQGHQ�NÕVD�RODQÕQD�
J|UH�DPRUWLVPDQD�WDEL�WXWXOXU��
�
%LU�PDGGL�GXUDQ�YDUOÕN�HOGHQ�oÕNDUÕOGÕ÷ÕQGD�YH\D�NXOODQÕPÕ�\D�GD�VDWÕúÕQGDQ��JHOHFHNWH�HNRQRPLN�\DUDU�
HOGH� HGLOPHVLQLQ� EHNOHQPHPHVL� GXUXPXQGD� ILQDQVDO� GXUXP� WDEORVX� GÕúÕ� EÕUDNÕOÕU�� 0DGGL� GXUDQ�
YDUOÕNODUÕQ�HOGHQ�oÕNDUÕOPDVÕ�\D�GD�ELU�PDGGL�GXUDQ�YDUOÕ÷ÕQ�KL]PHWWHQ�DOÕQPDVÕ�VRQXFX�ROXúDQ�ND]DQo�
YH\D�ND\ÕS� VDWÕú�KDVÕODWÕ� LOH�YDUOÕ÷ÕQ�GHIWHU�GH÷HUL� DUDVÕQGDNL� IDUN�RODUDN�EHOLUOHQLU� YH�NDU�YH\D� ]DUDU�
WDEORVXQD�GDKLO�HGLOLU��
�

�����������)LQDQVDO�.LUDODPD�øúOHPOHUL�
�
0�ONL\HWH�DLW� ULVN�YH�ND]DQÕPODUÕQ�|QHPOL�ELU�NÕVPÕQÕQ�NLUDFÕ\D�DLW�ROGX÷X�NLUDODPD� LúOHPL�� ILQDQVDO�
NLUDODPD�RODUDN�VÕQÕIODQGÕUÕOÕU��'L÷HU�NLUDODPDODU�IDDOL\HW�NLUDODPDVÕ�RODUDN�VÕQÕIODQÕU��
�
.LUDODPD����NLUDOD\DQ�GXUXPXQGD�ùLUNHW��
�
)LQDQVDO�NLUDODPD�DODFDNODUÕ�ùLUNHW¶LQ�NLUDODPDGDNL�QHW�\DWÕUÕP�WXWDUÕ�NDGDU�ND\GHGLOLU��)LQDQVDO�NLUDODPD�
JHOLUL��ùLUNHW¶LQ�ILQDQVDO�NLUDODPD�QHW�\DWÕUÕPÕQD�VDELW�G|QHPVHO�JHWLUL�RUDQÕ�VD÷OD\DFDN�úHNLOGH�PXKDVHEH�
G|QHPOHULQH�GD÷ÕWÕOÕU��
�
)DDOL\HW� NLUDODPDVÕQD� LOLúNLQ� NLUD� JHOLUOHUL�� LOJLOL� NLUD� G|QHPL� ER\XQFD� GR÷UXVDO� \|QWHP� LOH�
PXKDVHEHOHúWLULOLU��.LUDODPDQÕQ�JHUoHNOHúPHVL�YH�P�]DNHUH�HGLOPHVLQGH�NDWODQÕODQ�GR÷UXGDQ�EDúODQJÕo�
PDOL\HWOHUL� NLUDODQDQ�YDUOÕ÷ÕQ�PDOL\HWLQH�GDKLO� HGLOLU� YH�GR÷UXVDO�\|QWHP� LOH�NLUD� V�UHVL�ER\XQFD� LWID�
HGLOLU��
�
�
�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�
�����������)LQDQVDO�.LUDODPD�øúOHPOHUL��GHYDPÕ��
�

.LUDODPD����NLUDFÕ�GXUXPXQGD�ùLUNHW�
�
)LQDQVDO�NLUDODPD\OD�HOGH�HGLOHQ�YDUOÕNODU��NLUDODPD�WDULKLQGHNL�YDUOÕ÷ÕQ�PDNXO�GH÷HUL��\D�GD�DVJDUL�NLUD�
|GHPHOHULQLQ� EXJ�QN�� GH÷HULQGHQ� G�ú�N� RODQÕ� NXOODQÕODUDN� DNWLIOHúWLULOLU�� .LUDOD\DQD� NDUúÕ� RODQ�
\�N�PO�O�N��ELODQoRGD�ILQDQVDO�NLUDODPD�\�N�PO�O�÷��RODUDN�J|VWHULOLU���
�
)LQDQVDO�NLUDODPD�|GHPHOHUL��ILQDQVPDQ�JLGHUL�YH�ILQDQVDO�NLUDODPD�\�N�PO�÷�QGHNL�D]DOÕúÕ�VD÷OD\DQ�
DQDSDUD� |GHPHVL� RODUDN� D\UÕOÕU� YH�E|\OHOLNOH� ERUFXQ� JHUL� NDODQ� DQDSDUD� EDNL\HVL� �]HULQGHQ� VDELW� ELU�
RUDQGD�IDL]�KHVDSODQPDVÕQÕ�VD÷ODU��)LQDQVDO�JLGHUOHU��ùLUNHW¶LQ�\XNDUÕGD�D\UÕQWÕODUÕQD�\HU�YHULOHQ�JHQHO�
ERUoODQPD�SROLWLNDVÕ� NDSVDPÕQGD� ILQDQVPDQ�JLGHUOHULQLQ�DNWLIOHúWLULOHQ�NÕVPÕ�KDULFLQGHNL�E|O�P��NDU�
YH\D�]DUDU�WDEORVXQD�ND\GHGLOLU��.RúXOOX�NLUDODU�ROXúWXNODUÕ�G|QHPGH�JLGHU�RODUDN�ND\GHGLOLU��
�
)DDOL\HW�NLUDODPDODUÕ�LoLQ�\DSÕODQ�|GHPHOHU��NLUDOD\DQGDQ�NLUD�LúOHPLQLQ�JHUoHNOHúHELOPHVL�LoLQ�DOÕQDQ�
YH\D� DOÕQDFDN� RODQ� WHúYLNOHU� GH� NLUD� G|QHPL� ER\XQFD� GR÷UXVDO� \|QWHP� LOH� NDU� YH\D� ]DUDU� WDEORVXQD�
ND\GHGLOLU��� NLUD� G|QHPL� ER\XQFD� GR÷UXVDO� \|QWHP� LOH� NDU� YH\D� ]DUDU� WDEORVXQD� ND\GHGLOLU�� )DDOL\HW�
NLUDODPDVÕ�DOWÕQGDNL�NRúXOOX�NLUDODU�ROXúWXNODUÕ�G|QHPGH�JLGHU�RODUDN�ND\GHGLOLU���
�

�����������0DGGL�2OPD\DQ�'XUDQ�9DUOÕNODU��
�
� 6DWÕQ�DOÕQDQ�PDGGL�ROPD\DQ�GXUDQ�YDUOÕNODU�

�
6DWÕQ�DOÕQDQ�PDGGL�ROPD\DQ�GXUDQ�YDUOÕNODUGDQ�VÕQÕUOÕ�|PUH�VDKLS�RODQODU��PDOL\HW�GH÷HUOHULQGHQ�ELULNPLú�
LWID� SD\ODUÕ� YH� ELULNPLú� GH÷HU� G�ú�NO�NOHUL� G�ú�OG�NWHQ� VRQUDNL� WXWDUÕ\OD� J|VWHULOLUOHU�� %X� YDUOÕNODU�
EHNOHQHQ�ID\GDOÕ�|P�UOHULQH�J|UH�GR÷UXVDO�DPRUWLVPDQ�\|QWHPL�NXOODQÕODUDN�LWID�HGLOLU��%HNOHQHQ�ID\GDOÕ�
|P�U� YH� DPRUWLVPDQ� \|QWHPL�� WDKPLQOHUGH� RUWD\D� oÕNDQ� GH÷LúLNOLNOHULQ� RODVÕ� HWNLOHULQL� WHVSLW� HWPHN�
DPDFÕ\OD�KHU�\ÕO�J|]GHQ�JHoLULOLU�YH�WDKPLQOHUGHNL�GH÷LúLNOLNOHU�LOHUL\H�G|Q�N�RODUDN�PXKDVHEHOHúWLULOLU��
6DWÕQ� DOÕQDQ� PDGGL� ROPD\DQ� GXUDQ� YDUOÕNODUGDQ� VÕQÕUVÕ]� |PUH� VDKLS� RODQODU� PDOL\HW� GH÷HUOHULQGHQ�
ELULNPLú�GH÷HU�G�ú�NO�NOHUL�G�ú�OG�NWHQ�VRQUDNL�WXWDUÕ\OD�J|VWHULOLUOHU��
�

� %LOJLVD\DU�\D]ÕOÕPÕ�
�
6DWÕQ�DOÕQDQ�ELOJLVD\DU�\D]ÕOÕPODUÕ��VDWÕQ�DOÕPÕ�VÕUDVÕQGD�YH�VDWÕQ�DOPDGDQ�NXOODQÕPD�KD]ÕU�RODQD�NDGDU�
JHoHQ�V�UHGH�ROXúDQ�PDOL\HWOHU��]HULQGHQ�DNWLIOHúWLULOLU��6|]�NRQXVX�PDOL\HWOHU��ID\GDOÕ�|P�UOHULQH�J|UH�
������\ÕO��LWID�HGLOLU��%LOJLVD\DU�\D]ÕOÕPODUÕQÕ�JHOLúWLUPHN�YH�V�UG�UPHNOH�LOLúNLOL�PDOL\HWOHU��ROXúWXNODUÕ�
G|QHPGH�NDU�YH\D�]DUDU�WDEORVXQD�ND\GHGLOPHNWHGLU���
�
0DGGL�ROPD\DQ�YDUOÕNODUÕQ�ELODQoR�GÕúÕ�EÕUDNÕOPDVÕ�
�
%LU� PDGGL� ROPD\DQ� GXUDQ� YDUOÕN� HOGHQ� oÕNDUÕOGÕ÷ÕQGD� YH\D� NXOODQÕPÕ� \D� GD� VDWÕúÕQGDQ�� JHOHFHNWH�
HNRQRPLN�\DUDU�HOGH�HGLOPHVLQLQ�EHNOHQPHPHVL�GXUXPXQGD�ILQDQVDO�GXUXP�WDEORVX�GÕúÕ�EÕUDNÕOÕU��%LU�
PDGGL�ROPD\DQ�GXUDQ�YDUOÕ÷ÕQ�ILQDQVDO�GXUXP�WDEORVX�GÕúÕ�EÕUDNÕOPDVÕQGDQ�ND\QDNODQDQ�NkU�\D�GD�]DUDU��
YDUVD��YDUOÕNODUÕQ�HOGHQ�oÕNDUÕOPDVÕQGDQ�VD÷ODQDQ�QHW�WDKVLODWODU�LOH�GHIWHU�GH÷HUOHUL�DUDVÕQGDNL�IDUN�RODUDN�
KHVDSODQÕU�� %X� IDUN�� LOJLOL� YDUOÕN� ILQDQVDO� GXUXP� WDEORVX� GÕúÕQD� DOÕQGÕ÷Õ� ]DPDQ� NkU� YH\D� ]DUDUGD�
PXKDVHEHOHúWLULOLU��
�
�
�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
� �
� 0DGGL� 'XUDQ� 9DUOÕNODU� YH� ùHUHIL\H� +DULFLQGH� 0DGGL� 2OPD\DQ� 'XUDQ� 9DUOÕNODUGD� 'H÷HU�

'�ú�NO�÷��
�
ùLUNHW��KHU�UDSRUODPD� WDULKLQGH�YDUOÕNODUÕQGD�GH÷HU�G�ú�NO�÷��ROXS�ROPDGÕ÷ÕQÕ�EHOLUOHPHN� LoLQ�PDGGL�
RODQ� YH� ROPD\DQ� GXUDQ� YDUOÕNODUÕQÕQ� GHIWHU� GH÷HULQL� LQFHOHU�� 9DUOÕNODUGD� GH÷HU� G�ú�NO�÷�� ROPDVÕ�
GXUXPXQGD��GH÷HU�G�ú�NO�÷��WXWDUÕQÕQ�EHOLUOHQHELOPHVL�LoLQ�YDUOÕNODUÕQ��YDUVD��JHUL�ND]DQÕODELOLU�WXWDUÕ�
|Oo�O�U��%LU�YDUOÕ÷ÕQ�JHUL�ND]DQÕODELOLU�WXWDUÕQÕQ�|Oo�OHPHGL÷L�GXUXPODUGD�ùLUNHW��YDUOÕNOD� LOLúNLOL�QDNLW�
\DUDWDQ�ELULPLQ�JHUL�ND]DQÕODELOLU� WXWDUÕQÕ�|OoHU��0DNXO�YH� WXWDUOÕ�ELU� WDKVLV�HVDVÕ�EHOLUOHQPHVL�KDOLQGH�
úLUNHW�YDUOÕNODUÕ�QDNLW�\DUDWDQ�ELULPOHUH�GD÷ÕWÕOÕU��%XQXQ�P�PN�Q�ROPDGÕ÷Õ�GXUXPODUGD��ùLUNHW�YDUOÕNODUÕ�
PDNXO�YH�WXWDUOÕ�ELU�WDKVLV�HVDVÕQÕQ�EHOLUOHQPHVL�LoLQ�HQ�N�o�N�QDNLW�\DUDWDQ�ELULPOHUH�GD÷ÕWÕOÕU��
�
6�UHVL]�HNRQRPLN�|PU��RODQ�YH�NXOODQÕPD�KD]ÕU�ROPD\DQ�PDGGL�ROPD\DQ�GXUDQ�YDUOÕNODU��\ÕOGD�HQ�D]�
ELU�NH]�\D�GD�GH÷HU�G�ú�NO�÷��J|VWHUJHVL�ROPDVÕ�GXUXPXQGD�GH÷HU�G�ú�NO�÷��WHVWLQH�WDEL�WXWXOXU��*HUL�
ND]DQÕODELOLU� WXWDU��ELU�YDUOÕ÷ÕQ�YH\D�QDNLW�\DUDWDQ�ELULPLQ�� VDWÕú�PDOL\HWOHUL�G�ú�OP�ú�JHUoH÷H�X\JXQ�
GH÷HUL�LOH�NXOODQÕP�GH÷HULQGHQ�\�NVHN�RODQÕGÕU��.XOODQÕP�GH÷HUL��ELU�YDUOÕN�YH\D�QDNLW�\DUDWDQ�ELULPGHQ�
HOGH� HGLOPHVL� EHNOHQHQ� JHOHFHNWHNL� QDNLW� DNÕúODUÕQÕQ� EXJ�QN�� GH÷HULGLU�� .XOODQÕP� GH÷HULQLQ�
KHVDSODQPDVÕQGD� PHYFXW� G|QHPGHNL� SL\DVD� GH÷HUOHQGLUPHVLQH� J|UH� SDUDQÕQ� NXOODQÕP� GH÷HULQL� YH�
JHOHFHNWHNL�QDNLW�DNÕPODUÕ�WDKPLQOHULQGH�GLNNDWH�DOÕQPD\DQ�YDUOÕ÷D�|]J��ULVNOHUL�\DQVÕWDQ�YHUJL�|QFHVL�
LVNRQWR�RUDQÕ�NXOODQÕOÕU��
�
%LU�YDUOÕ÷ÕQ��\D�GD�QDNLW�\DUDWDQ�ELULPLQ��JHUL�ND]DQÕODELOLU� WXWDUÕQÕQ�GHIWHU�GH÷HULQGHQ�G�ú�N�ROGX÷X�
GXUXPODUGD��YDUOÕ÷ÕQ��\D�GD�QDNLW�\DUDWDQ�ELULPLQ��GHIWHU�GH÷HUL��JHUL�ND]DQÕODELOLU�WXWDUÕQD�LQGLULOLU��øOJLOL�
YDUOÕ÷ÕQ� \HQLGHQ� GH÷HUOHQHQ� WXWDUOD� |Oo�OPHGL÷L� KDOOHUGH� GH÷HU� G�ú�NO�÷�� ]DUDUÕ� GR÷UXGDQ� NDU�]DUDU�
LoLQGH�PXKDVHEHOHúWLULOLU��%X�GXUXPGD�GH÷HU�G�ú�NO�÷��]DUDUÕ�\HQLGHQ�GH÷HUOHPH�GH÷HU�D]DOÕúÕ�RODUDN�
GLNNDWH�DOÕQÕU��
�
'H÷HU�G�ú�NO�÷��]DUDUÕQÕQ�VRQUDNL�G|QHPOHUGH�LSWDOL�V|]�NRQXVX�ROGX÷XQGD��YDUOÕ÷ÕQ��\D�GD�LOJLOL�QDNLW�
\DUDWDQ� ELULPLQ�� GHIWHU� GH÷HUL� JHUL� ND]DQÕODELOLU� WXWDU� LoLQ� \HQLGHQ� J�QFHOOHQHQ� WDKPLQL� WXWDUD� GHQN�
JHOHFHN�úHNLOGH�DUWÕUÕOÕU��$UWWÕUÕODQ�GHIWHU�GH÷HU��LOJLOL�YDUOÕN��\D�GD�LOJLOL�QDNLW�\DUDWDQ�ELULPL��LoLQ�|QFHNL�
G|QHPOHUGH�YDUOÕN�LoLQ�GH÷HU�G�ú�NO�÷��]DUDUÕQÕQ�D\UÕOPDPÕú�ROPDVÕ�GXUXPXQGD�XODúDFD÷Õ�GHIWHU�GH÷HUL�
DúPDPDOÕGÕU��9DUOÕN�\HQLGHQ�GH÷HUOHQPLú�ELU�WXWDU��]HULQGHQ�J|VWHULOPHGLNoH��GH÷HU�G�ú�NO�÷��]DUDUÕQD�
LOLúNLQ�LSWDO�LúOHPL�GR÷UXGDQ�NDU�]DUDU�LoLQGH�PXKDVHEHOHúWLULOLU��<HQLGHQ�GH÷HUOHQPLú�ELU�YDUOÕ÷ÕQ�GH÷HU�
G�ú�NO�÷��]DUDUÕQÕQ�LSWDOL��\HQLGHQ�GH÷HUOHPH�DUWÕúÕ�RODUDN�GLNNDWH�DOÕQÕU��
�

�����������%RUoODQPD�0DOL\HWOHUL�
�
.XOODQÕPD�YH�VDWÕúD�KD]ÕU�KDOH�JHWLULOPHVL�|QHPOL�|Oo�GH�]DPDQ�LVWH\HQ�YDUOÕNODU��|]HOOLNOL�YDUOÕNODU��V|]�
NRQXVX� ROGX÷XQGD�� VDWÕQ� DOÕQPDVÕ�� \DSÕPÕ� YH\D� �UHWLPL� LOH� GR÷UXGDQ� LOLúNLOHQGLULOHQ� ERUoODQPD�
PDOL\HWOHUL�� LOJLOL� YDUOÕN� NXOODQÕPD� YH\D� VDWÕúD� KD]ÕU� KDOH� JHWLULOHQH� NDGDU� YDUOÕ÷ÕQ� PDOL\HWLQH� GDKLO�
HGLOPHNWHGLU���
�
%LU�G|QHPGH��|]HOOLNOL�ELU�YDUOÕ÷ÕQ�HOGH�HGLOPHVL�DPDFÕ\OD�ERUo�DOÕQDQ�IRQODUD�LOLúNLQ�DNWLIOHúWLULOHELOHFHN�
ERUoODQPD� PDOL\HWOHUL� WXWDUÕ�� LOJLOL� G|QHPGH� EX� YDUOÕNODU� LoLQ� NDWODQÕODQ� WRSODP� ERUoODQPD�
PDOL\HWOHULQGHQ� EX� IRQODUÕQ� JHoLFL� \DWÕUÕPODUGDQ� HOGH� HGLOHQ� JHOLUOHULQ� G�ú�OPHVL� VRQXFX� EHOLUOHQHQ�
WXWDUGÕU��
�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�

� %RUoODQPD�0DOL\HWOHUL��GHYDPÕ��
�
ùLUNHW�JHQHO�DPDoOÕ�RODUDN�ERUoODQGÕ÷ÕQGD�YH�EX�IRQODUÕQ�ELU�NÕVPÕ�ELU�|]HOOLNOL�YDUOÕ÷ÕQ�ILQDQVPDQÕ�LoLQ�
NXOODQÕOGÕ÷Õ�GXUXPODUGD��DNWLIOHúWLULOHELOHFHN�ERUoODQPD�PDOL\HWOHULQLQ�WXWDUÕ��LOJLOL�YDUOÕ÷D�LOLúNLQ�\DSÕODQ�
KDUFDPDODUD�X\JXODQDFDN�ELU�DNWLIOHúWLUPH�RUDQÕ�\DUGÕPÕ�LOH�EHOLUOHQLU��%X�DNWLIOHúWLUPH�RUDQÕ��|]HOOLNOL�
YDUOÕN�DOÕPÕQD�\|QHOLN�\DSÕOPÕú�ERUoODQPDODU�KDULo�ROPDN��]HUH��ùLUNHW¶LQ�LOJLOL�G|QHP�V�UHVLQFH�PHYFXW�
W�P�ERUoODUÕQD�LOLúNLQ�ERUoODQPD�PDOL\HWOHULQLQ�D÷ÕUOÕNOÕ�RUWDODPDVÕGÕU��<DWÕUÕPOD�LOJLOL�NUHGLQLQ�KHQ�]�
KDUFDQPDPÕú� NÕVPÕQÕQ� JHoLFL� V�UH� LOH� ILQDQVDO� \DWÕUÕPODUGD�GH÷HUOHQGLULOPHVL\OH� HOGH� HGLOHQ� ILQDQVDO�
\DWÕUÕP�JHOLUL�DNWLIOHúWLUPH\H�X\JXQ�ERUoODQPD�PDOL\HWOHULQGHQ�PDKVXS�HGLOLU��
�
'L÷HU�W�P�ERUoODQPD�PDOL\HWOHUL��ROXúWXNODUÕ�G|QHPGH�NDU�YH\D�]DUDU�WDEORVXQD�ND\GHGLOPHNWHGLU��
�

� )LQDQVDO�$UDoODU�
�

� )LQDQVDO�YDUOÕNODU��
�
ùLUNHW��|QHPOL�ELU�ILQDQVPDQ�ELOHúHQLQH�VDKLS�ROPD\DQ�WLFDUL�DODFDNODU�GÕúÕQGDNL�NDODQ�ILQDQVDO�YDUOÕNODUÕ�
LON�GHID�ILQDQVDO�WDEORODUD�DOÕUNHQ�JHUoH÷H�X\JXQ�GH÷HULQGHQ�|OoHU��7LFDUL�DODFDNODUÕQ�7)56����X\DUÕQFD�
|QHPOL� ELU� ILQDQVPDQ�ELOHúHQLQH� VDKLS� ROPDPDVÕ� �YH\D� ùLUNHW¶LQ� NROD\ODúWÕUÕFÕ� X\JXODPD\Õ� VHoPHVL��
GXUXPXQGD��EX�DODFDNODU� LON�GHID� ILQDQVDO� WDEORODUD�DOÕQPDVÕ�VÕUDVÕQGD�LúOHP�EHGHOL��]HULQGHQ��7)56�
��¶WH�WDQÕPODQGÕ÷Õ�úHNOL\OH��|Oo�O�U��
�
*HUoH÷H� X\JXQ� GH÷HU� GH÷LúLPOHUL� NkU� YH\D� ]DUDUD� \DQVÕWÕODQODU� GÕúÕQGDNL� ILQDQVDO� YDUOÕNODUÕQ� LON�
|Oo�P�QGH��EXQODUÕQ�HGLQLPL\OH�YH\D�LKUDFÕ\OD�GR÷UXGDQ�LOLúNLOHQGLULOHELOHQ�LúOHP�PDOL\HWOHUL�GH�JHUoH÷H�
X\JXQ�GH÷HUH�LODYH�HGLOLU�YH\D�JHUoH÷H�X\JXQ�GH÷HUGHQ�G�ú�O�U��1RUPDO�\ROGDQ�DOÕQÕS�VDWÕODQ�ILQDQVDO�
YDUOÕNODU�LúOHP�WDULKLQGH�ND\ÕWODUD�DOÕQPDNWDGÕU��
�
ùLUNHW� ILQDQVDO�YDUOÕNODUÕQÕ� �D��)LQDQVDO�YDUOÕNODUÕQ�\|QHWLPL� LoLQ� LúOHWPHQLQ�NXOODQGÕ÷Õ� Lú�PRGHOL�� �E��
)LQDQVDO� YDUOÕ÷ÕQ� V|]OHúPH\H� ED÷OÕ� QDNLW� DNÕúODUÕQÕQ� |]HOOLNOHULQL� HVDV� DODUDN� VRQUDNL�
PXKDVHEHOHúWLUPHGH�LWID�HGLOPLú�PDOL\HWL��]HULQGHQ��JHUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�GL÷HU�NDSVDPOÕ�JHOLUH�
\DQVÕWÕODUDN� YH\D� JHUoH÷H� X\JXQ� GH÷HU� GH÷LúLPL� NkU� YH\D� ]DUDUD� \DQVÕWÕODUDN� |Oo�OHQ� RODUDN�
VÕQÕIODQGÕUÕOÕU��øúOHWPH�VDGHFH�ILQDQVDO�YDUOÕNODUÕQ�\|QHWLPL�LoLQ�NXOODQGÕ÷Õ�Lú�PRGHOLQL�GH÷LúWLUGL÷LQGH��
EX� GH÷LúLNOLNWHQ� HWNLOHQHQ� W�P� ILQDQVDO� YDUOÕNODUÕ� \HQLGHQ� VÕQÕIODQGÕUÕU�� )LQDQVDO� YDUOÕNODUÕQ� \HQLGHQ�
VÕQÕIODQGÕUÕOPDVÕ�� \HQLGHQ� VÕQÕIODQGÕUPD� WDULKLQGHQ� LWLEDUHQ� LOHUL\H� \|QHOLN� RODUDN� X\JXODQÕU�� %X� W�U�
GXUXPODUGD��GDKD�|QFH�ILQDQVDO� WDEORODUD�DOÕQPÕú�RODQ�ND]DQo��ND\ÕS��GH÷HU�G�ú�NO�÷��ND]DQo�\D�GD�
ND\ÕSODUÕ�GkKLO��YH\D�IDL]OHU�LoLQ�KHUKDQJL�G�]HOWPH�\DSÕOPD]��
�
�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�

� )LQDQVDO�$UDoODU��GHYDPÕ��
�

� )LQDQVDO�YDUOÕNODU��GHYDPÕ��
�
øWID�HGLOPLú�PDOL\HWL��]HULQGHQ�J|VWHULOHQ�ILQDQVDO�YDUOÕNODU�
�
%LU�ILQDQVDO�YDUOÕN�DúD÷ÕGDNL�KHU�LNL�úDUWÕQ�ELUGHQ�VD÷ODQPDVÕ�GXUXPXQGD�LWID�HGLOPLú�PDOL\HWL��]HULQGHQ�
|Oo�O�U���
�D�� )LQDQVDO� YDUOÕ÷ÕQ�� V|]OHúPH\H� ED÷OÕ� QDNLW� DNÕúODUÕQÕQ� WDKVLO� HGLOPHVLQL� DPDoOD\DQ� ELU� Lú� PRGHOL�
NDSVDPÕQGD�HOGH�WXWXOPDVÕ���
�E�� )LQDQVDO� YDUOÕ÷D� LOLúNLQ� V|]OHúPH� úDUWODUÕQÕQ�� EHOLUOL� WDULKOHUGH� VDGHFH� DQDSDUD� YH� DQDSDUD�
EDNL\HVLQGHQ�ND\QDNODQDQ�IDL]�|GHPHOHULQL�LoHUHQ�QDNLW�DNÕúODUÕQD�\RO�DoPDVÕ��
�
øWID� HGLOPLú� PDOL\HWL� �]HULQGHQ� J|VWHULOHQ� ILQDQVDO� YDUOÕNODUD� LOLúNLQ� IDL]� JHOLUL� HWNLQ� IDL]� \|QWHPL�
NXOODQÕODUDN�KHVDSODQÕU��%X�JHOLU��DúD÷ÕGDNLOHU�GÕúÕQGD��ILQDQVDO�YDUOÕ÷ÕQ�EU�W�GHIWHU�GH÷HULQH�HWNLQ�IDL]�
RUDQÕ�X\JXODQDUDN�KHVDSODQÕU���
�D��6DWÕQ�DOÕQGÕ÷ÕQGD�YH\D�ROXúWXUXOGX÷XQGD�NUHGL�GH÷HU�G�ú�NO�÷��EXOXQDQ�ILQDQVDO�YDUOÕNODU��%X�W�U�
ILQDQVDO�YDUOÕNODU� LoLQ� LúOHWPH�� LON�GHID� ILQDQVDO� WDEORODUD�DOÕQPDVÕQGDQ� LWLEDUHQ�� ILQDQVDO�YDUOÕ÷ÕQ� LWID�
HGLOPLú�PDOL\HWLQH�NUHGL\H�J|UH�G�]HOWLOPLú�HWNLQ�IDL]�RUDQÕQÕ�X\JXODU���
�E��6DWÕQ� DOÕQGÕ÷ÕQGD�YH\D�ROXúWXUXOGX÷XQGD�NUHGL�GH÷HU�G�ú�NO�÷��EXOXQDQ� ILQDQVDO�YDUOÕN�ROPD\DQ�
DQFDN�VRQUDGDQ�NUHGL�GH÷HU�G�ú�NO�÷�QH�X÷UDPÕú�ILQDQVDO�YDUOÕN�KDOLQH�JHOHQ�ILQDQVDO�YDUOÕNODU��%X�W�U�
ILQDQVDO�YDUOÕNODU�LoLQ�LúOHWPH��VRQUDNL� UDSRUODPD�G|QHPOHULQGH��YDUOÕ÷ÕQ�LWID�HGLOPLú�PDOL\HWLQH�HWNLQ�
IDL]�RUDQÕQÕ�X\JXODU��
�
%LU� ILQDQVDO�YDUOÕ÷ÕQ�V|]OHúPH\H�ED÷OÕ�QDNLW�DNÕúODUÕQÕQ�GH÷LúWLULOPLú�\D�GD�EDúND�ELU�úHNLOGH�\HQLGHQ�
\DSÕODQGÕUÕOPÕú�ROPDVÕ�YH�EX�GH÷LúWLUPH�YH�\HQLGHQ�\DSÕODQGÕUPDQÕQ�ILQDQVDO�YDUOÕ÷ÕQ�ILQDQVDO�WDEOR�GÕúÕ�
EÕUDNÕOPDVÕQD� \RO� DoPDGÕ÷Õ� GXUXPODUGD�� ILQDQVDO� YDUOÕ÷ÕQ� EU�W� GHIWHU� GH÷HUL� \HQLGHQ� KHVDSODQDUDN�
\DSÕODQGÕUPD�ND]DQo�YH\D�ND\EÕ�NkU�YH\D�]DUDUD�\DQVÕWÕOÕU��
�
%LU�ILQDQVDO�YDUOÕ÷ÕQ�GH÷HULQLQ�NÕVPHQ�\D�GD�WDPDPHQ�JHUL�ND]DQÕOPDVÕQD� LOLúNLQ�PDNXO�EHNOHQWLOHULQ�
EXOXQPDPDVÕ�GXUXPXQGD�ùLUNHW��ILQDQVDO�YDUOÕ÷ÕQ�EU�W�GHIWHU�GH÷HULQL�GR÷UXGDQ�G�ú�UHUHN�ILQDQVDO�WDEOR�
GÕúÕQGD�EÕUDNÕU��
�
*HUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�GL÷HU�NDSVDPOÕ�JHOLUH�\DQVÕWÕODQ�ILQDQVDO�YDUOÕNODU�
�
%LU�ILQDQVDO�YDUOÕN�DúD÷ÕGDNL�KHU�LNL�úDUWÕQ�ELUGHQ�VD÷ODQPDVÕ�GXUXPXQGD�JHUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�
GL÷HU�NDSVDPOÕ�JHOLUH�\DQVÕWÕODUDN�|Oo�O�U���
�D��)LQDQVDO�YDUOÕ÷ÕQ��V|]OHúPH\H�ED÷OÕ�QDNLW�DNÕúODUÕQÕQ�WDKVLO�HGLOPHVLQL�YH�ILQDQVDO�YDUOÕ÷ÕQ�VDWÕOPDVÕQÕ�
DPDoOD\DQ�ELU�Lú�PRGHOL�NDSVDPÕQGD�HOGH�WXWXOPDVÕ���
�E�� )LQDQVDO� YDUOÕ÷D� LOLúNLQ� V|]OHúPH� úDUWODUÕQÕQ�� EHOLUOL� WDULKOHUGH� VDGHFH� DQDSDUD� YH� DQDSDUD�
EDNL\HVLQGHQ�ND\QDNODQDQ�IDL]�|GHPHOHULQL�LoHUHQ�QDNLW�DNÕúODUÕQD�\RO�DoPDVÕ��
�
�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�

� )LQDQVDO�$UDoODU��GHYDPÕ��
�

� )LQDQVDO�YDUOÕNODU��GHYDPÕ��
�
*HUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�GL÷HU�NDSVDPOÕ�JHOLUH�\DQVÕWÕODQ�ILQDQVDO�YDUOÕNODU��GHYDPÕ��
�
*HUoH÷H� X\JXQ� GH÷HU� GH÷LúLPL� GL÷HU� NDSVDPOÕ� JHOLUH� \DQVÕWÕODUDN� |Oo�OHQ� ELU� ILQDQVDO� YDUOÕNWDQ�
ND\QDNODQDQ�ND]DQo�YH\D�ND\ÕSODUGDQ��GH÷HU�G�ú�NO�÷��ND]DQo�\D�GD�ND\ÕSODUÕ�LOH�NXU�IDUNÕ�ND]DQo�YH\D�
ND\ÕSODUÕ� GÕúÕQGD� NDODQODU�� ILQDQVDO� YDUOÕN� ILQDQVDO� WDEOR� GÕúÕ� EÕUDNÕOÕQFD\D� \D� GD� \HQLGHQ�
VÕQÕIODQGÕUÕOÕQFD\D�NDGDU�GL÷HU�NDSVDPOÕ�JHOLUH�\DQVÕWÕOÕU��)LQDQVDO�YDUOÕN�\HQLGHQ�VÕQÕIODQGÕUÕOGÕ÷ÕQGD��
GDKD�|QFH�GL÷HU�NDSVDPOÕ�JHOLUH�\DQVÕWÕODQ�WRSODP�ND]DQo�\D�GD�ND\ÕS��\HQLGHQ�VÕQÕIODQGÕUPD�WDULKLQGH�
\HQLGHQ� VÕQÕIODQGÕUPD�G�]HOWPHVL� RODUDN�|]ND\QDNWDQ� oÕNDUÕODUDN� NkU� YH\D� ]DUDUD� \DQVÕWÕOÕU��*HUoH÷H�
X\JXQ� GH÷HU� GH÷LúLPL� GL÷HU� NDSVDPOÕ� JHOLUH� \DQVÕWÕODUDN� |Oo�OHQ� ILQDQVDO� YDUOÕ÷ÕQ� \HQLGHQ�
VÕQÕIODQGÕUÕOPDVÕ�GXUXPXQGD��LúOHWPH�GDKD�|QFH�GL÷HU�NDSVDPOÕ�JHOLUH�\DQVÕWWÕ÷Õ� WRSODP�ND]DQo�\D�GD�
ND\EÕ� ILQDQVDO� WDEORODUD� DOÕU�� (WNLQ� IDL]� \|QWHPL� NXOODQÕODUDN� KHVDSODQDQ� IDL]�� NkU� YH\D� ]DUDU� RODUDN�
ILQDQVDO�WDEORODUD�DOÕQÕU��
�
øON� GHID� ILQDQVDO� WDEORODUD� DOPDGD� LúOHWPH�� WLFDUL� DPDoOD� HOGH� WXWXOPD\DQ� |]ND\QDN� DUDFÕQD� \DSÕODQ�
\DWÕUÕPÕQ� JHUoH÷H� X\JXQ� GH÷HULQGHNL� VRQUDNL� GH÷LúLNOLNOHULQ� GL÷HU� NDSVDPOÕ� JHOLUGH� VXQXOPDVÕ�
NRQXVXQGD��JHUL�G|Q�OHPH\HFHN�ELU�WHUFLKWH�EXOXQXODELOLU��
�
*HUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�NDU�YH\D�]DUDU�WDEORVXQD�\DQVÕWÕODQ�ILQDQVDO�YDUOÕNODU�
�
%LU�ILQDQVDO�YDUOÕN��LWID�HGLOPLú�PDOL\HWL��]HULQGHQ�\D�GD�JHUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�GL÷HU�NDSVDPOÕ�
JHOLUH�\DQVÕWÕODUDN�|Oo�OP�\RUVD��JHUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�NkU�YH\D�]DUDUD�\DQVÕWÕODUDN�|Oo�O�U��
�
)LQDQVDO�ULVNH�NDUúÕ�HWNLOL�ELU�NRUXPD�DUDFÕ�RODUDN�EHOLUOHQPHPLú�RODQ�W�UHY��U�QOHUL�WHúNLO�HGHQ�EDKVH�
NRQX�ILQDQVDO�YDUOÕNODU�GD�JHUoH÷H�X\JXQ�GH÷HU�IDUNÕ�NkU�YH\D�]DUDUD�\DQVÕWÕODQ�ILQDQVDO�YDUOÕNODU�RODUDN�
VÕQÕIODQGÕUÕOÕU��øOJLOL�ILQDQVDO�YDUOÕNODU��JHUoH÷H�X\JXQ�GH÷HUOHUL�LOH�J|VWHULOPHNWH�ROXS��\DSÕODQ�GH÷HUOHPH�
VRQXFX�ROXúDQ�ND]DQo�YH�ND\ÕSODU�NDU�YH\D�]DUDU�WDEORVXQGD�PXKDVHEHOHúWLULOPHNWHGLU��
�
'H÷HU�'�ú�NO�÷��
�
ùLUNHW�LWID�HGLOPLú�PDOL\HWL��]HULQGHQ�J|VWHULOHQ�ILQDQVDO�YDUOÕNODU�YH�JHUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�GL÷HU�
NDSVDPOÕ�JHOLUH�\DQVÕWÕODQ�ILQDQVDO�YDUOÕNODUÕQD�LOLúNLQ�EHNOHQHQ�NUHGL�]DUDUODUÕ�LoLQ�]DUDU�NDUúÕOÕ÷Õ�D\ÕUÕU��
�
øúOHWPH�JHUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�GL÷HU�NDSVDPOÕ�JHOLUH�\DQVÕWÕODUDN�|Oo�OHQ�ILQDQVDO�YDUOÕNODU�LoLQ�
]DUDU� NDUúÕOÕ÷Õ� WXWDUÕQÕ� ILQDQVDO� WDEORODUD� DOÕUNHQ� YH� |OoHUNHQ� GH÷HU� G�ú�NO�÷�� K�N�POHULQL� X\JXODU��
%XQXQOD� ELUOLNWH�� ]DUDU� NDUúÕOÕ÷Õ� GL÷HU� NDSVDPOÕ� JHOLUH� \DQVÕWÕOÕU� YH� ILQDQVDO� YDUOÕ÷ÕQ� ILQDQVDO� GXUXP�
WDEORVXQGDNL�GHIWHU�GH÷HULQL�D]DOWPD]��
�
�



+$/.�*$<5ø0(1.8/�<$7,5,0�257$./,ö,�$�ù��
�

6,1,5/,�'(1(7ø0'(1�*(d0øù����(</h/������7$5ø+ø�ø7ø%$5,</$��
)ø1$16$/�7$%/2/$5$�ø/øù.ø1�'ø3127/$5�
�

�7�P�WXWDUODU�7�UN�/LUDVÕ��7/��RODUDN�J|VWHULOPLúWLU���
�

�
� ��

��� )ø1$16$/�7$%/2/$5,1�6818081$�ø/øù.ø1�(6$6/$5��GHYDPÕ��
�

����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�

� )LQDQVDO�$UDoODU��GHYDPÕ��
�

� )LQDQVDO�YDUOÕNODU��GHYDPÕ��
�

'H÷HU�'�ú�NO�÷���GHYDPÕ��
�

%LU�ILQDQVDO�DUDoWDNL�NUHGL�ULVNLQLQ��LON�GHID�ILQDQVDO�WDEORODUD�DOÕQPDVÕQGDQ�EX�\DQD�|QHPOL�|Oo�GH�DUWPÕú�
ROPDVÕ�GXUXPXQGD��KHU�UDSRUODPD�WDULKLQGH��LúOHWPH�V|]�NRQXVX�ILQDQVDO�DUDFD�LOLúNLQ�]DUDU�NDUúÕOÕ÷ÕQÕ�
|P�U�ER\X�EHNOHQHQ�NUHGL�]DUDUODUÕQD�HúLW�ELU�WXWDUGDQ�|OoHU���
�

5DSRUODPD�WDULKLQGH��VDWÕQ�DOÕQGÕ÷ÕQGD�\D�GD�ROXúWXUXOGX÷XQGD�NUHGL�GH÷HU�G�ú�NO�÷��EXOXQDQ�ILQDQVDO�
YDUOÕNODU�KDULFLQGH��ELU�ILQDQVDO�DUDoWDNL�NUHGL�ULVNLQGH�LON�GHID�ILQDQVDO�WDEORODUD�DOÕQPDVÕQGDQ�EX�\DQD�
|QHPOL�GHUHFHGH�DUWÕú�PH\GDQD�JHOPHPLú�ROPDVÕ�GXUXPXQGD�LúOHWPH�V|]�NRQXVX�ILQDQVDO�DUDFD�LOLúNLQ�
]DUDU�NDUúÕOÕ÷ÕQÕ����D\OÕN�EHNOHQHQ�NUHGL�]DUDUODUÕQD�HúLW�ELU�WXWDUGDQ�|OoHU��5DSRUODPD�WDULKLQGH�LúOHWPH��
VDWÕQ�DOÕQGÕ÷ÕQGD�\D�GD�ROXúWXUXOGX÷XQGD�NUHGL�GH÷HU�G�ú�NO�÷��EXOXQDQ�ILQDQVDO�YDUOÕNODU�LoLQ�\DOQÕ]FD�
LON� GHID� ILQDQVDO� WDEORODUD� DOÕQPDVÕQGDQ� EX� \DQD� |P�U� ER\X� EHNOHQHQ� NUHGL� ]DUDUODUÕQGDNL� WRSODP�
GH÷LúLNOLNOHUL�]DUDU�NDUúÕOÕ÷Õ�RODUDN�ILQDQVDO�WDEORODUD�DOÕU��
�

ùLUNHW� |QHPOL� ILQDQVPDQ�XQVXUX�ROPD\DQ� WLFDUL� DODFDNODU�� V|]OHúPH�YDUOÕNODUÕ� YH� NLUD� DODFDNODUÕ� LoLQ�
EDVLWOHúWLULOPLú� \DNODúÕPGDQ� ID\GDODQDUDN� ]DUDU� NDUúÕOÕNODUÕQÕ�� KHU� ]DPDQ� |P�U� ER\X� EHNOHQHQ� NUHGL�
]DUDUÕQD�HúLW�WXWDUGD�KHVDSODPDNWDGÕU���
�
)LQDQVDO�\�N�PO�O�NOHU�
�
øúOHWPH�� ILQDQVDO� \�N�PO�O�÷�� LON� GHID� ILQDQVDO� WDEORODUD� DOÕUNHQ� JHUoH÷H� X\JXQ� GH÷HULQGHQ� |OoHU��
*HUoH÷H� X\JXQ� GH÷HU� GH÷LúLPOHUL� NkU� YH\D� ]DUDUD� \DQVÕWÕODQODU� GÕúÕQGDNL� \�N�PO�O�NOHULQ� LON�
|Oo�P�QGH��EXQODUÕQ�HGLQLPL\OH�YH\D�LKUDFÕ\OD�GR÷UXGDQ�LOLúNLOHQGLULOHELOHQ�LúOHP�PDOL\HWOHUL�GH�JHUoH÷H�
X\JXQ�GH÷HUH�LODYH�HGLOLU��
�

øúOHWPH�� DúD÷ÕGDNLOHU� GÕúÕQGD� NDODQ� W�P� ILQDQVDO� \�N�PO�O�NOHULQL� VRQUDNL� PXKDVHEHOHúWLUPHGH� LWID�
HGLOPLú�PDOL\HWLQGHQ�|Oo�OHQ�RODUDN�VÕQÕIODQGÕUÕU���
�

�D��*HUoH÷H�X\JXQ�GH÷HU�GH÷LúLPL�NkU�YH\D�]DUDUD�\DQVÕWÕODQ�ILQDQVDO�\�N�PO�O�NOHU��%X�\�N�PO�O�NOHU��
W�UHY��U�QOHU�GH�GkKLO�ROPDN��]HUH��VRQUDNL�PXKDVHEHOHúWLUPHGH�JHUoH÷H�X\JXQ�GH÷HULQGHQ�|Oo�O�U���
�

�E�� )LQDQVDO� YDUOÕ÷ÕQ� GHYUHGLOPHVL� LúOHPLQLQ� ILQDQVDO� WDEOR� GÕúÕ� EÕUDNPD� úDUWODUÕQÕ� WDúÕPDPDVÕ� YH\D�
GHYDP�HGHQ�LOLúNL�\DNODúÕPÕQÕQ�X\JXODQPDVÕ�GXUXPXQGD�RUWD\D�oÕNDQ�ILQDQVDO�\�N�PO�O�NOHU��ùLUNHW��
ELU�YDUOÕ÷Õ�GHYDP�HGHQ�LOLúNLVL�|Oo�V�QGH�ILQDQVDO�WDEORGD�J|VWHUPH\H�GHYDP�HWWL÷L�GXUXPGD��ILQDQVDO�
WDEOR\D�EXQD�ED÷OÕ�ELU�\�N�PO�O�N�GH�\DQVÕWÕU��'HYUHGLOHQ�YDUOÕN�YH�EXQD�ED÷OÕ�\�N�PO�O�N��LúOHWPHQLQ�
HOLQGH�WXWPD\D�GHYDP�HWWL÷L�KDN�YH�P�NHOOHIL\HWOHUL�\DQVÕWDFDN�úHNLOGH�|Oo�O�U��'HYUHGLOHQ�YDUOÕ÷D�ED÷OÕ�
\�N�PO�O�N��GHYUHGLOHQ�YDUOÕ÷ÕQ�QHW�GHIWHU�GH÷HUL�LOH�D\QÕ�XVXOGH�|Oo�O�U��
�
�F��7)56��¶�Q�X\JXODQGÕ÷Õ�ELU�LúOHWPH�ELUOHúPHVLQGH�HGLQHQ�LúOHWPH�WDUDIÕQGDQ�ILQDQVDO�WDEORODUD�DOÕQDQ�
úDUWD�ED÷OÕ�EHGHO��øON�GHID�ILQDQVDO�WDEORODUD�DOÕQPDVÕQGDQ�VRQUD��EX�W�U�ELU�úDUWD�ED÷OÕ�EHGHOGHNL�JHUoH÷H�
X\JXQ�GH÷HU�GH÷LúLPOHUL�NkU�YH\D�]DUDUD�\DQVÕWÕODUDN�|Oo�O�U��
�

øúOHWPH��KHUKDQJL�ELU�ILQDQVDO�\�N�PO�O�÷��\HQLGHQ�VÕQÕIODQGÕUPD]�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�

� )LQDQVDO�$UDoODU��GHYDPÕ��
�
)LQDQVDO�YDUOÕNODUÕQ�YH�\�N�PO�O�NOHULQ�ND\GD�DOÕQPDVÕ�YH�ELODQoR�GÕúÕ�EÕUDNÕOPDVÕ�

�
ùLUNHW��ILQDQVDO�YDUOÕN�YH�\�N�PO�O�NOHUL�VDGHFH�ILQDQVDO�DUDoODUÕQ�V|]OHúPHVLQH�WDUDI�ROGX÷X�WDNGLUGH�
ND\ÕWODUÕQD�DOPDNWDGÕU��ùLUNHW��ILQDQVDO�YDUOÕ÷D�DLW�QDNLW�DNÕúODUÕQD�LOLúNLQ�V|]OHúPHGHQ�GR÷DQ�KDNODUÕQÕQ�
V�UHVLQLQ� GROPDVÕ� YH\D� LOJLOL� ILQDQVDO� YDUOÕ÷Õ� YH� EX� YDUOÕ÷ÕQ� P�ONL\HWLQGHQ� GR÷DQ� W�P� ULVNOHUL� YH�
ND]DQÕPODUÕ�EDúND�ELU� WDUDID�GHYUHWPHVL�GXUXPXQGD� V|]�NRQXVX�YDUOÕ÷Õ� ELODQoR�GÕúÕ�EÕUDNÕU��9DUOÕ÷ÕQ�
P�ONL\HWLQGHQ� GR÷DQ� W�P� ULVNOHULQ� YH� ND]DQÕPODUÕQ� EDúND� ELU� WDUDID� GHYUHGLOPHGL÷L� YH� YDUOÕ÷ÕQ�
NRQWURO�Q�Q� ùLUNHW� WDUDIÕQGDQ� HOGH� EXOXQGXUXOGX÷X� GXUXPODUGD�� ùLUNHW�� YDUOÕNWD� NDODQ� SD\ÕQÕ� YH� EX�
YDUOÕNWDQ�ND\QDNODQDQ�YH�|GHQPHVL�JHUHNHQ�\�N�PO�O�NOHUL�PXKDVHEHOHúWLUPH\H�GHYDP�HGHU��ùLUNHW¶LQ�
GHYUHGLOHQ� ELU� YDUOÕ÷ÕQ� P�ONL\HWLQGHQ� GR÷DQ� W�P� ULVNOHUL� YH� ND]DQÕPODUÕ� HOGH� WXWPDVÕ� GXUXPXQGD��
ILQDQVDO�YDUOÕ÷ÕQ�PXKDVHEHOHúWLULOPHVLQH�GHYDP�HGLOLU�YH�HOGH�HGLOHQ�JHOLUOHU�LoLQ�WUDQVIHU�HGLOHQ�ILQDQVDO�
YDUOÕN�NDUúÕVÕQGD�WHPLQDWD�ED÷ODQDQ�ELU�ERUo�WXWDUÕ�GD�PXKDVHEHOHúWLULOLU��ùLUNHW��ILQDQVDO�\�N�PO�O�÷��
VDGHFH�V|]OHúPHGH�WDQÕPODQDQ�\�N�PO�O�÷��RUWDGDQ�NDONDU��LSWDO�HGLOLU�YH\D�]DPDQ�DúÕPÕQD�X÷UDU�LVH�
ELODQoR�GÕúÕ�EÕUDNÕU��
�

� 7�UHY�ILQDQVDO�DUDoODU�YH�NRUXQPD�PXKDVHEHVL�
�
*HOHFHNWHNL�QDNLW�DNÕPODUÕQÕQ�ILQDQVDO�ULVNWHQ�NRUXQPDVÕ�RODUDN�EHOLUOHQHQ�YH�EX�NRQXGD�HWNLQ�RODQ�W�UHY�
ILQDQVDO�DUDoODUÕQ�JHUoH÷H�X\JXQ�GH÷HULQGHNL�GH÷LúLNOLNOHU�GR÷UXGDQ�|]ND\QDN�LoHULVLQGH�HWNLQ�ROPD\DQ�
NÕVPÕ�LVH�GR÷UXGDQ�NDU�YH\D�]DUDU�WDEORVXQGD�ND\ÕWODUD�DOÕQÕU���

�
%D÷OD\ÕFÕ�WDDKK�G�Q�YH\D�JHOHFHNWHNL�WDKPLQL�ELU�LúOHPLQ�QDNLW�DNÕP�ULVNLQGHQ�NRUXQPDVÕ�LúOHPLQLQ��ELU�
YDUOÕ÷ÕQ�YH\D�\�N�PO�O�÷�Q�ND\GD�DOÕPÕ�LOH�VRQXoODQPDVÕ�GXUXPXQGD��LOJLOL�YDUOÕN�YH�\�N�PO�O�NOHU�LON�
ND\GD�DOÕQGÕNODUÕQGD�� |QFHGHQ�|]ND\QDN� LoHULVLQGH�ND\GD�DOÕQPÕú�RODQ� W�UHY� ILQDQVDO� DUDoODUD� LOLúNLQ�
ND]DQo� YH\D� ND\ÕSODU�� YDUOÕ÷ÕQ� \D� GD� \�N�PO�O�÷�Q� EDúODQJÕo� WXWDUÕQÕQ� |Oo�P�QH� GDKLO� HGLOLU�� %LU�
YDUOÕ÷ÕQ� YH\D� \�N�PO�O�÷�Q�ND\GD�DOÕQPDVÕ� LOH� VRQXoODQPD\DQ� ILQDQVDO� ULVNWHQ�NRUXQPD� LúOHPLQGH��
|]ND\QDN�LoHULVLQGH�\HU�DODQ�WXWDUODU�ILQDQVDO�ULVNWHQ�NRUXQDQ�NDOHPLQ�NDU�YH\D�]DUDU�WDEORVXQX�HWNLOHGL÷L�
G|QHPGH�NDU�YH\D�]DUDU�WDEORVX�LoHULVLQGH�ND\GD�DOÕQÕUODU��)LQDQVDO�ULVNWHQ�NRUXQPD�PXKDVHEHVL� LoLQ�
JHUHNOL�úDUWODUÕ�NDUúÕODPD\DQ�W�UHY�ILQDQVDO�DUDoODUÕQ�JHUoH÷H�X\JXQ�GH÷HULQGHNL�GH÷LúLNOLNOHU�ROXúWXNODUÕ�
G|QHPGH�NDU�YH\D�]DUDU�WDEORVXQD�ND\GHGLOLU��
�
)LQDQVDO�ULVNWHQ�NRUXQPD�PXKDVHEHVLQH��ILQDQVDO�ULVNWHQ�NRUXQPD�DUDFÕQÕQ�NXOODQÕP�V�UHVLQLQ�GROPDVÕ��
VDWÕOPDVÕ�\D�GD�NXOODQÕOPDVÕ�YH\D�NRUXQPD�PXKDVHEHVL�LoLQ�JHUHNOL�úDUWODUÕ�NDUúÕOD\DPD]�KDOH�JHOGL÷L�
GXUXPGD� VRQ� YHULOLU�� øOJLOL� WDULKWH�� |]ND\QDN� LoHULVLQGH� ND\GD� DOÕQPÕú�RODQ� ILQDQVDO� ULVNWHQ� NRUXQPD�
DUDFÕQGDQ�ND\QDNODQDQ�N�P�ODWLI�ND]DQo�YH\D�]DUDUD�LúOHPLQ�JHUoHNOHúPHVLQLQ�EHNOHQGL÷L�WDULKH�NDGDU�
|]ND\QDNWD� \HU� YHULOPH\H� GHYDP� HGLOLU�� )LQDQVDO� ULVNWHQ� NRUXQDQ� LúOHP� JHUoHNOHúPH]� LVH� |]ND\QDN�
LoLQGHNL�N�P�ODWLI�QHW�ND]DQo�YH\D�]DUDU��G|QHPLQ�NDU�]DUDUÕQD�ND\GHGLOLU��
�
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� �
� .XU�'H÷LúLPLQLQ�(WNLOHUL��

�
<DEDQFÕ�3DUD�øúOHP�YH�%DNL\HOHU��
�
ùLUNHW¶LQ� KHU� LúOHWPHVLQLQ� NHQGL� ILQDQVDO� WDEORODUÕ� IDDOL\HWWH� EXOXQGXNODUÕ� WHPHO� HNRQRPLN� oHYUHGH�
JHoHUOL� RODQ� SDUD� ELULPL� �IRQNVL\RQHO� SDUD� ELULPL�� LOH� VXQXOPXúWXU�� +HU� LúOHWPHQLQ�PDOL� GXUXPX� YH�
IDDOL\HW� VRQXoODUÕ�� ùLUNHW¶LQ� JHoHUOL� SDUD� ELULPL� RODQ� YH� ILQDQVDO� WDEORODU� LoLQ� VXQXP�ELULPL� RODQ�7/�
FLQVLQGHQ�LIDGH�HGLOPLúWLU��+HU�ELU�LúOHWPHQLQ�ILQDQVDO�WDEORODUÕQÕQ�KD]ÕUODQPDVÕ�VÕUDVÕQGD��\DEDQFÕ�SDUD�
FLQVLQGHQ� �7/� GÕúÕQGDNL� SDUD� ELULPOHUL�� JHUoHNOHúHQ� LúOHPOHU�� LúOHP� WDULKLQGHNL� NXUODU� HVDV� DOÕQPDN�
VXUHWL\OH�ND\GHGLOPHNWHGLU��%LODQoRGD�\HU�DODQ�G|YL]H�HQGHNVOL�SDUDVDO�YDUOÕN�YH�\�N�PO�O�NOHU�ELODQoR�
WDULKLQGH� JHoHUOL� RODQ� NXUODU� NXOODQÕODUDN� 7�UN� /LUDVÕ¶QD� oHYULOPHNWHGLU�� *HUoH÷H� X\JXQ� GH÷HUL� LOH�
L]OHQPHNWH� RODQ� SDUDVDO� ROPD\DQ� NDOHPOHUGHQ� \DEDQFÕ� SDUD� FLQVLQGHQ� ND\GHGLOPLú� RODQODU�� JHUoH÷H�
X\JXQ�GH÷HULQ�EHOLUOHQGL÷L�WDULKWHNL�NXUODU�HVDV�DOÕQPDN�VXUHWL\OH�7/¶\H�oHYULOPHNWHGLU��7DULKL�PDOL\HW�
FLQVLQGHQ� |Oo�OHQ� \DEDQFÕ� SDUD� ELULPLQGHNL� SDUDVDO� ROPD\DQ� NDOHPOHU� \HQLGHQ� oHYULOPH\H� WDEL�
WXWXOPD]ODU��
�
.XU� IDUNODUÕ�� DúD÷ÕGD� EHOLUWLOHQ� GXUXPODU� KDULFLQGH�� ROXúWXNODUÕ� G|QHPGHNL� NDU� \D� GD� ]DUDUGD�
PXKDVHEHOHúWLULOLUOHU��

�
x� *HOHFH÷H�\|QHOLN�NXOODQÕP�DPDFÕ\OD�LQúD�HGLOPHNWH�RODQ�YDUOÕNODUOD�LOLúNLOL�RODQ�YH�\DEDQFÕ�SDUD�

ELULPL\OH�J|VWHULOHQ�ERUoODU��]HULQGHNL�IDL]�PDOL\HWOHULQH�G�]HOWPH�NDOHPL�RODUDN�HOH�DOÕQDQ�YH�
EX�W�U�YDUOÕNODUÕQ�PDOL\HWLQH�GDKLO�HGLOHQ�NXU�IDUNODUÕ��
�

x� <DEDQFÕ� SDUD� ELULPLQGHQ� ND\QDNODQDQ� ULVNOHUH� NDUúÕ� ILQDQVDO� NRUXPD� VD÷ODPDN� DPDFÕ\OD�
JHUoHNOHúWLULOHQ�LúOHPOHUGHQ�ND\QDNODQDQ�NXU�IDUNODUÕ��

�
x� <XUWGÕúÕ� IDDOL\HWLQGHNL� QHW� \DWÕUÕPÕQ� ELU� SDUoDVÕQÕ� ROXúWXUDQ�� oHYULP� \HGHNOHULQGH�

PXKDVHEHOHúWLULOHQ�YH�QHW�\DWÕUÕPÕQ�VDWÕúÕQGD�NDU�\D�GD�]DUDUOD�LOLúNLOHQGLULOHQ��|GHQPH�QL\HWL�\D�
GD�LKWLPDOL�ROPD\DQ�\XUWGÕúÕ�IDDOL\HWOHUGHQ�ND\QDNODQDQ�SDUDVDO�ERUo�YH�DODFDNODUGDQ�GR÷DQ�NXU�
IDUNODUÕ��
�

� 3D\�%DúÕQD�.D]DQo�
�
.DU�YH\D�]DUDU�WDEORVXQGD�EHOLUWLOHQ�SD\�EDúÕQD�ND]DQo��QHW�NDUÕQ��\ÕO�ER\XQFD�SL\DVDGD�EXOXQDQ�KLVVH�
VHQHWOHULQLQ�D÷ÕUOÕNOÕ�RUWDODPD�VD\ÕVÕQD�E|O�QPHVL�LOH�EXOXQPXúWXU��
�
7�UNL\H¶GH�úLUNHWOHU��VHUPD\HOHULQL��KLVVHGDUODUÕQD�JHoPLú�\ÕO�NDUODUÕQGDQ�GD÷ÕWWÕNODUÕ�³EHGHOVL]�KLVVH´�
\ROX�LOH�DUWWÕUDELOPHNWHGLUOHU��%X�WLS�³EHGHOVL]�KLVVH´�GD÷ÕWÕPODUÕ��SD\�EDúÕQD�ND]DQo�KHVDSODPDODUÕQGD��
LKUDo�HGLOPLú�KLVVH�JLEL�GH÷HUOHQGLULOLU��%XQD�J|UH��EX�KHVDSODPDODUGD�NXOODQÕODQ�D÷ÕUOÕNOÕ�RUWDODPD�KLVVH�
VD\ÕVÕ��V|]�NRQXVX�KLVVH�VHQHGL�GD÷ÕWÕPODUÕQÕQ�JHoPLúH�G|Q�N�HWNLOHUL�GH�GLNNDWH�DOÕQDUDN�EXOXQPXúWXU��
�

�����������5DSRUODPD�'|QHPLQGHQ�6RQUDNL�2OD\ODU�
�
5DSRUODPD�G|QHPLQGHQ�VRQUDNL�ROD\ODU��NDUD�LOLúNLQ�KHUKDQJL�ELU�GX\XUX�YH\D�GL÷HU�VHoLOPLú�ILQDQVDO�
ELOJLOHULQ�NDPX\D�DoÕNODQPDVÕQGDQ�VRQUD�RUWD\D�oÕNPÕú�ROVDODU�ELOH��ELODQoR�WDULKL�LOH�ELODQoRQXQ�\D\ÕPÕ�
LoLQ�\HWNLOHQGLULOPH�WDULKL�DUDVÕQGDNL�W�P�ROD\ODUÕ�NDSVDU��ùLUNHW��ELODQoR�WDULKLQGHQ�VRQUDNL�G�]HOWPH�
JHUHNWLUHQ�ROD\ODUÕQ�RUWD\D�oÕNPDVÕ�GXUXPXQGD��ILQDQVDO�WDEORODUD�DOÕQDQ�WXWDUODUÕ�EX�\HQL�GXUXPD�X\JXQ�
úHNLOGH�G�]HOWLU��
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��

�
�����������.DUúÕOÕNODU��.RúXOOX�9DUOÕN�YH�<�N�PO�O�NOHU�

�
*HoPLú� ROD\ODUGDQ� ND\QDNODQDQ� PHYFXW� ELU� \�N�PO�O�÷�Q� EXOXQPDVÕ�� \�N�PO�O�÷�Q� \HULQH�
JHWLULOPHVLQLQ� PXKWHPHO� ROPDVÕ� YH� V|]� NRQXVX� \�N�PO�O�N� WXWDUÕQÕQ� J�YHQLOLU� ELU� úHNLOGH� WDKPLQ�
HGLOHELOLU�ROPDVÕ�GXUXPXQGD�ILQDQVDO�WDEORODUGD�NDUúÕOÕN�D\UÕOÕU��
�
.DUúÕOÕN� RODUDN� D\UÕODQ� WXWDU�� \�N�PO�O�÷H� LOLúNLQ� ULVN� YH� EHOLUVL]OLNOHU� J|]� |Q�QGH� EXOXQGXUXODUDN��
ELODQoR�WDULKL�LWLEDUÕ\OD�\�N�PO�O�÷�Q�\HULQH�JHWLULOPHVL�LoLQ�\DSÕODFDN�KDUFDPDQÕQ�HQ�J�YHQLOLU�úHNLOGH�
WDKPLQ�HGLOPHVL�\ROX\OD�KHVDSODQÕU��.DUúÕOÕ÷ÕQ��PHYFXW�\�N�PO�O�÷�Q�NDUúÕODQPDVÕ�LoLQ�JHUHNOL�WDKPLQL�
QDNLW� DNÕPODUÕQÕ� NXOODQDUDN� |Oo�OPHVL� GXUXPXQGD� V|]� NRQXVX� NDUúÕOÕ÷ÕQ� GHIWHU� GH÷HUL�� LOJLOL� QDNLW�
DNÕPODUÕQÕQ�EXJ�QN��GH÷HULQH�HúLWWLU���
�
.DUúÕOÕ÷ÕQ�|GHQPHVL�LoLQ�JHUHNOL�RODQ�HNRQRPLN�ID\GDQÕQ�ELU�NÕVPÕ�\D�GD�WDPDPÕQÕQ��o�QF��WDUDIODUFD�
NDUúÕODQPDVÕQÕQ� EHNOHQGL÷L� GXUXPODUGD�� WDKVLO� HGLOHFHN� WXWDU�� LOJLOL� WXWDUÕQ� WDKVLO� HGLOPHVLQLQ� KHPHQ�
KHPHQ�NHVLQ�ROPDVÕ�YH�J�YHQLOLU�ELU�úHNLOGH�|Oo�OPHVL�KDOLQGH�YDUOÕN�RODUDN�PXKDVHEHOHúWLULOLU��
�

�����������<DWÕUÕP�$PDoOÕ�*D\ULPHQNXOOHU�
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXOOHU�YH�EX�DPDoODU�LoLQ�\DSÕP�DúDPDVÕQGD�RODQ�JD\ULPHQNXOOHU��NLUD�YH�YH\D�
GH÷HU�DUWÕú�ND]DQFÕ�HOGH�HWPHN�DPDFÕ\OD�HOGH�WXWXODQ�JD\ULPHQNXOOHU�ROXS�LON�RODUDN�PDOL\HW�GH÷HUOHUL�YH�
EXQD�GDKLO�RODQ�LúOHP�PDOL\HWOHUL�LOH�|Oo�O�U��%DúODQJÕo�PXKDVHEHOHúWLUPHVL�VRQUDVÕQGD�\DWÕUÕP�DPDoOÕ�
JD\ULPHQNXOOHU��ELODQoR�WDULKL�LWLEDUÕ\OD�SL\DVD�NRúXOODUÕQÕ�\DQVÕWDQ�JHUoH÷H�X\JXQ�GH÷HU�LOH�GH÷HUOHQLU��
���(\O�O������WDULKL�LWLEDUL\OH�KHUKDQJL�ELU�GH÷HUOHPH�oDOÕúPDVÕ�\DSÕOPDPÕú�ROXS��FDUL�G|QHP�LoHULVLQGH�
\DWÕUÕP� DPDoOÕ� JD\ULPHQNXOOHUH� DLW� ROXúDQ� PDOL\HWOHULQ� JHUoH÷H� X\JXQ� GH÷HUOHULQL� \DQVÕWWÕ÷Õ�
|QJ|U�OPHNWHGLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXOOHULQ� JHUoH÷H� X\JXQ� GH÷HULQGHNL� GH÷LúLNOLNOHUGHQ�
ND\QDNODQDQ�ND]DQo�YH\D�]DUDUODU�ROXúWXNODUÕ�G|QHPGH�NDU�YH\D�]DUDU�WDEORVXQD�GDKLO�HGLOLU��

�
<DWÕUÕP� DPDoOÕ� JD\ULPHQNXOOHU�� VDWÕOPDODUÕ� YH\D� NXOODQÕODPD]�KDOH� JHOPHOHUL� YH� VDWÕúÕQGDQ� JHOHFHNWH�
KHUKDQJL�ELU�HNRQRPLN�\DUDU�VD÷ODQDPD\DFD÷ÕQÕQ�EHOLUOHQPHVL�GXUXPXQGD�ELODQoR�GÕúÕ�EÕUDNÕOÕU��<DWÕUÕP�
DPDoOÕ� JD\ULPHQNXO�Q� NXOODQÕP� V�UHVLQL� GROGXUPDVÕQGDQ� YH\D� VDWÕúÕQGDQ� ND\QDNODQDQ� NDU�]DUDU��
ROXúWXNODUÕ�G|QHPGH�NDU�YH\D�]DUDU�WDEORVXQD�GDKLO�HGLOLU��
�
7UDQVIHUOHU�� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXOOHULQ� NXOODQÕPÕQGD�ELU� GH÷LúLNOLN� ROGX÷XQGD� \DSÕOÕU��*HUoH÷H�
X\JXQ� GH÷HU� HVDVÕQD� J|UH� L]OHQHQ� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXOGHQ�� VDKLEL� WDUDIÕQGDQ� NXOODQÕODQ�
JD\ULPHQNXO�VÕQÕIÕQD�\DSÕODQ�ELU�WUDQVIHUGH��WUDQVIHU�VRQUDVÕQGD�\DSÕODQ�PXKDVHEHOHúWLUPH�LúOHPLQGHNL�
WDKPLQL�PDOL\HWL��DQÕODQ�JD\ULPHQNXO�Q�NXOODQÕP�úHNOLQGHNL�GH÷LúLNOL÷LQ�JHUoHNOHúWL÷L�WDULKWHNL�JHUoH÷H�
X\JXQ� GH÷HULGLU�� 6DKLEL� WDUDIÕQGDQ� NXOODQÕODQ� ELU� JD\ULPHQNXO�Q�� JHUoH÷H� X\JXQ� GH÷HU� HVDVÕQD� J|UH�
J|VWHULOHFHN�\DWÕUÕP�DPDoOÕ�ELU�JD\ULPHQNXOH�G|Q�úPHVL�GXUXPXQGD��LúOHWPH��NXOODQÕPGDNL�GH÷LúLNOL÷LQ�
JHUoHNOHúWL÷L�WDULKH�NDGDU�³0DGGL�'XUDQ�9DUOÕNODU´D�X\JXODQDQ�PXKDVHEH�SROLWLNDVÕQÕ�X\JXODU��

�
)DDOL\HW� NLUDODPDVÕ� oHUoHYHVLQGH� NLUDODQDQ� JD\ULPHQNXOOHU�� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� RODUDN�
VÕQÕIODQGÕUÕOPDPÕúWÕU��
�
�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�

� .XUXP�.D]DQFÕ�h]HULQGHQ�+HVDSODQDQ�9HUJLOHU�
�
����� VD\ÕOÕ� .XUXPODU� 9HUJLVL� .DQXQX� �³.9.´�� PDGGH� ����G�� ���¶H� J|UH�� JD\ULPHQNXO� \DWÕUÕP�
RUWDNOÕ÷ÕQGDQ�HOGH� HGLOHQ�ND]DQoODU�.XUXPODU�9HUJLVL¶QGHQ� LVWLVQD� WXWXOPXúWXU��%X� LVWLVQD�D\UÕFD�DUD�
G|QHP�*HoLFL�9HUJL�LoLQ�GH�X\JXODQPDNWDGÕU���
�
.9.�0DGGH��������JHUH÷L��JD\ULPHQNXO�\DWÕUÕP�RUWDNOÕNODUÕQÕQ�ND]DQoODUÕ�GD÷ÕWÕOVÕQ�YH\D�GD÷ÕWÕOPDVÕQ��
NXUXP� E�Q\HVLQGH����� RUDQÕQGD� YHUJL� NHVLQWLVLQH� WDELGLU�� .9.�0DGGH� ������� NDSVDPÕQGDNL� \HWNL�
oHUoHYHVLQGH��%DNDQODU�.XUXOX����¶LQFL�PDGGHGH�EHOLUWLOHQ�YHUJL�NHVLQWLVL�RUDQODUÕQÕ��KHU�ELU�|GHPH�YH�
JHOLU�LoLQ�D\UÕ�D\UÕ�VÕIÕUD�NDGDU�LQGLUPH\H��NXUXPODU�YHUJLVL�RUDQÕQD�NDGDU�\�NVHOWPH\H�YH�D\QÕ�VÕQÕUODU�
GDKLOLQGH��o�QF��IÕNUDGD�EHOLUWLOHQ�ND]DQoODU�LoLQ�IRQ�YH\D�RUWDNOÕN�W�UOHULQH�J|UH�\D�GD�SRUWI|\OHULQGHNL�
YDUOÕNODUÕQ� QLWHOLN� YH� GD÷ÕOÕPÕQD� J|UH� IDUNOÕODúWÕUPD\D� \HWNLOLGLU��%X� NDSVDPGD� YHUJL� NHVLQWLVLQH� WDEL�
WXWXODQ�ND]DQoODU��.9.�0DGGH��������K�NP��JHUH÷L�D\UÕFD�WHPHWW��YHUJL�NHVLQWLVLQH�WDEL�GH÷LOGLU���
�
<LQH�.9.�*HoLFL�0DGGH����¶GH�\DSÕODQ�G�]HQOHPH\H�J|UH��EX�NDQXQOD�WDQÕQDQ�\HWNLOHU�oHUoHYHVLQGH�
%DNDQODU�.XUXOX� WDUDIÕQGDQ�\HQL�NDUDUODU�DOÕQÕQFD\D�NDGDU������VD\ÕOÕ�*HOLU�9HUJLVL�.DQXQX�LOH������
VD\ÕOÕ�.DQXQ�NDSVDPÕQGD�YHUJL�RUDQODUÕQD�YH�GL÷HU�KXVXVODUD�LOLúNLQ�RODUDN�\D\ÕQODQDQ�%DNDQODU�.XUXOX�
NDUDUODUÕQGD� \HU� DODQ� G�]HQOHPHOHULQ�� \HQL� .9.¶GD� EHOLUOHQHQ� \DVDO� VÕQÕUODUÕ� DúPDPDN� �]HUH�
JHoHUOLOL÷LQL�NRUX\DFD÷Õ�EHOLUWLOPLúWLU���
�
<XNDUÕGD� EHOLUWLOHQ� YH� .9.� 0DGGH� ������� JHUH÷LQFH� ���� RODUDN� EHOLUWLOHQ� YHUJL� NHVLQWL� RUDQODUÕ�
KDNNÕQGDNL������������VD\ÕOÕ�%DNDQODU�.XUXOX�.DUDUÕ���ùXEDW������WDULK�YH�������VD\ÕOÕ�5HVPL�*D]HWH�
LOH� \D\ÕPODQDUDN���� RODUDN� EHOLUOHQPLú� YH� D\QÕ� WDULKWH� \�U�UO�÷H� JLUPLúWLU�� %X� QHGHQOH�� .XUXPODU�
9HUJLVL�.DQXQX¶QXQ��¶LQFL�PDGGHVLQLQ�ELULQFL�IÕNUDVÕQÕQ��G��EHQGLQLQ�����QXPDUDOÕ�DOW�EHQGLQGH�\D]ÕOÕ�
JD\ULPHQNXO� \DWÕUÕP� RUWDNOÕNODUÕQÕQ� ND]DQoODUÕ� GD÷ÕWÕOVÕQ� YH\D� GD÷ÕWÕOPDVÕQ� ��� RUDQÕQGD� YHUJL�
NHVLQWLVLQH�WDEL�WXWXODFDNWÕU���
�
(UWHOHQPLú�YHUJL�
�
ùLUNHW¶LQ� NXUXP� ND]DQFÕ� .XUXPODU� 9HUJLVL� .DQXQX¶QXQ� �¶LQFL� PDGGHVL� JHUH÷LQFH� .XUXPODU�
9HUJLVL¶QGHQ�LVWLVQD�ROGX÷XQGDQ�HUWHOHQPLú�YHUJL�KHVDSODQPDPÕúWÕU���

�
� dDOÕúDQODUD�6D÷ODQDQ�)D\GDODU��

�
.ÕGHP�WD]PLQDWODUÕ��
�
7�UNL\H¶GH�PHYFXW�NDQXQODU�YH�WRSOX�Lú�V|]OHúPHOHUL�K�N�POHULQH�J|UH�NÕGHP�WD]PLQDWÕ��HPHNOLOLN�YH\D�
LúWHQ�oÕNDUÕOPD�GXUXPXQGD�|GHQPHNWHGLU��*�QFHOOHQPLú�RODQ�706����dDOÕúDQODUD�6D÷ODQDQ�)D\GDODU�
6WDQGDUGÕ� � �³706���´��X\DUÕQFD� V|]� NRQXVX� W�UGHNL�|GHPHOHU� WDQÕPODQPÕú� HPHNOLOLN� ID\GD�SODQODUÕ�
RODUDN�QLWHOHQGLULOLU��
�

� %LODQoRGD�PXKDVHEHOHúWLULOHQ�NÕGHP�WD]PLQDWÕ�\�N�PO�O�÷���W�P�oDOÕúDQODUÕQ�HPHNOLOLNOHUL�GROD\ÕVÕ\OD�
LOHULGH�GR÷PDVÕ�EHNOHQHQ�\�N�PO�O�N�WXWDUODUÕQÕQ�QHW�EXJ�QN��GH÷HULQH�J|UH�KHVDSODQPÕú�YH�ILQDQVDO�
WDEORODUD�\DQVÕWÕOPÕúWÕU��+HVDSODQDQ� W�P�DNW�HU\DO�ND]DQoODU�YH�ND\ÕSODU�GL÷HU�NDSVDPOÕ�JHOLU� DOWÕQGD�
PXKDVHEHOHúWLULOPLúWLU���

�
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����� gQHPOL�0XKDVHEH�3ROLWLNDODUÕQÕQ�g]HWL��GHYDPÕ��
�
dDOÕúDQODUD�6D÷ODQDQ�)D\GDODU��GHYDPÕ��
�
.DU�SD\Õ�YH�LNUDPL\H�|GHPHOHUL�
�
ùLUNHW�� ED]Õ� G�]HOWPHOHU� VRQUDVÕ� úLUNHW� KLVVHGDUODUÕQD� DLW� NDUÕ� GLNNDWH� DODQ� ELU� \|QWHPH� GD\DQDUDN�
KHVDSODQDQ�NDU�SD\Õ�YH�LNUDPL\H\L�\�N�PO�O�N�YH�JLGHU�RODUDN�ND\GHWPHNWHGLU��ùLUNHW��V|]OHúPH\H�ED÷OÕ�
ELU�]RUXQOXOXN�\D�GD�]ÕPQL�ELU�\�N�PO�O�N�\DUDWDQ�JHoPLú�ELU�X\JXODPDQÕQ�ROGX÷X�GXUXPODUGD�NDUúÕOÕN�
D\ÕUPDNWDGÕU��
�

� 1DNLW�$NÕú�7DEORVX�
�
1DNLW�DNÕú�WDEORVXQGD��G|QHPH�LOLúNLQ�QDNLW�DNÕúODUÕ�HVDV��\DWÕUÕP�YH�ILQDQVPDQ�IDDOL\HWOHULQH�GD\DOÕ�ELU�
ELoLPGH�VÕQÕIODQGÕUÕODUDN�UDSRUODQÕU��
�

�����������6HUPD\H�YH�7HPHWW�OHU�
�
$GL� KLVVHOHU�� |]VHUPD\H� RODUDN� VÕQÕIODQGÕUÕOÕU�� $GL� KLVVHOHU� �]HULQGHQ� GD÷ÕWÕODQ� WHPHWW�OHU�� WHPHWW��
NDUDUÕQÕQ�DOÕQGÕ÷Õ�G|QHPGH�ELULNPLú�NDUGDQ�LQGLULOHUHN�ND\GHGLOLU��
�

����� %|O�POHUH�*|UH�5DSRUODPD�
�
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DoPÕú�YH�LKDOH�VRQXFXQD�J|UH�ELU�ILUPD�LOH����ùXEDW������WDULKLQGH�V|]OHúPH�LP]DODPÕúWÕU��ùLUNHW�����ùXEDW������
WDULKLQGH�SURMHQLQ��]HULQGH�\HU�DOGÕ÷Õ�KHU�LNL�SDUVHO�LoLQ�WDSX�N�W�÷�QGH�NDW�LUWLIDNÕ�WHVLV�HWPLúWLU���
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ùLUNHW� LOH� \�NOHQLFL� ILUPD� DUDVÕQGD� ³$UVD� 6DWÕúÕ� .DUúÕOÕ÷Õ� *HOLU� 3D\ODúÕPÕ� 8VXO�´� LOH� NRQXW� NRPSOHNVL� \DSÕPÕ�
DQODúPDVÕQD�LVWLQDGHQ����ùXEDW������YH���0DUW������WDULKLQGH������������7/�YH���������7/�\�NOHQLFL�ILUPDGDQ�
DYDQV�DOÕQPÕúWÕU��ùLUNHW¶LQ�SURMHOHQGLULOPLú�DUVD�PDOL\HWL������������7/¶GLU���
�
ùLUNHW�����0D\ÕV������WDULKLQGH�LON�\DSÕ�UXKVDWÕ�DOÕQDQ�YH�LQúDVÕQD�GHYDP�HGLOHQ�5HIHUDQV�%DNÕUN|\�SURMHVLQGH�����
DGHW�RODQ�WRSODP�NRQXW�VD\ÕVÕ�����DGHW�YH����DGHW�RODQ�WRSODP�WLFDUL��QLWH�VD\ÕVÕ����DGHW�RODFDN�úHNLOGH�UHYL]\RQD�
JLGLOPLú� ROXS�� UHYL]\RQODU� oHUoHYHVLQGH� DOÕQDQ� 7DGLODW� 5XKVDWÕ� ��� (\O�O� ����� WDULKLQGH� LOJLOL� PDNDPODUFD�
RQD\ODQPÕúWÕU���



+$/.�*$<5ø0(1.8/�<$7,5,0�257$./,ö,�$�ù��
�

6,1,5/,�'(1(7ø0'(1�*(d0øù����(</h/������7$5ø+ø�ø7ø%$5,</$��
)ø1$16$/�7$%/2/$5$�ø/øù.ø1�'ø3127/$5�
�

�7�P�WXWDUODU�7�UN�/LUDVÕ��7/��RODUDN�J|VWHULOPLúWLU���
�

�
� ��

��� 672./$5��GHYDPÕ��
�
����� \ÕOÕQGD� ùLUNHW� \�NOHQLFL� LOH� D\QL� SD\ODúÕP� JHUoHNOHúWLUPLú� ROXS�� ��� DGHW� ED÷ÕPVÕ]� E|O�P� \�NOHQLFL\H�
EÕUDNÕOPÕúWÕU����DGHW�ED÷ÕPVÕ]�E|O�P�úLUNHWWH�NDOPÕúWÕU���
�
����� \ÕOÕQGD���DGHW�ED÷ÕPVÕ]�E|O�P�GHYUL� JHUoHNOHúPLú� ROXS�� WRSODP�VDWÕú� WXWDUÕ�����������7/�YH���������7/�
VDWÕúODUÕQ�PDOL\HWL�RODUDN�PXKDVHEHOHúWLULOPLúWLU������$UDOÕN����������DGHW�WDSX�GHYUL�LOH������������7/�WXWDUÕQGD�
NRQXW�VDWÕú�JHOLUL�KDVÕODWWD�YH�����������7/�VDWÕúODUÕQ�PDOL\HWLGLU��6DWÕúODUÕQ�PDOL\HWL�NDOHPL�LoHULVLQGH�YHUJL��UHVLP�
YH�KDUo�PDVUDIODUÕ�EXOXQPDNWDGÕU����
�
���(\O�O������WDULKL�LWLEDUÕ\OD�����DGHW�ED÷ÕPVÕ]�E|O�P�Q�WDSX�GHYLU�LúOHPOHUL�WDPDPODQPÕúWÕU���
�
ùLUNHW� JHoPLú� \ÕOODUGD� WHVOLPLQL� JHUoHNOHúWLUGL÷L� DQFDN� WDSX� GHYUL� \DSPDGÕ÷Õ� LoLQ� HUWHOHQPLú� JHOLUOHUGH�
VÕQÕIODQGÕUGÕ÷Õ�����������7/�+DVÕODW�YH�����������7/�PDOL\HW� WXWDUÕQÕ����2FDN������WDULKLQGH�\�U�UO�÷H�JLUHQ��
7)56����³0�úWHUL�6|]OHúPHOHULQGHQ�+DVÕODW´VWDQGDUGÕ�NDSVDPÕQGD�&��SUDJUDIÕ��E��EHQGLQGH�DoÕNODQGÕ÷Õ�úHNLOGH�
YH�&��SUDJUDIÕQGDNL�úHNLOGH�6WDQGDUGÕQ�LON�NH]�X\JXODQPDVÕ�VRQXFX�ROXúDQ�N�P�ODWLI�HWNL\L�LON�X\JXODPD�WDULKLQL�
NDSVD\DQ� \ÕOÕN� UDSRUODPD�G|QHPLQH� LOLúNLQ� JHoPLú� \ÕOODU� NDUODUÕ� KHVDEÕQÕQ� �YH\D� X\JXQ� J|U�OHFHN� GL÷HU�ELU� |]�
ND\QDN�ELOHúHQLQLQ��DoÕOÕú�EDNL\HVLQGH�IDUN�G�]HOWPHVL�RODUDN�ILQDQVDO�WDEORODUD�DOPÕúWÕU��
�
����2GXQSD]DUÕ�$UVDVÕ��(VNLúHKLU�øOL��2GXQSD]DUÕ�øOoHVL��2VPDQJD]L�0DKDOOHVL��HVNL������DGD����SDUVHO�YH����YH����
0DUW������WDULKLQGH�WDSX�VLFLOLQH�YH�LPDU�DODQÕQGD�\DSÕODQ�GH÷LúLNOLN�LOH�\HQLGHQ�EHOLUOHQHQ�����SDUVHO��]HULQGH�
ND\ÕWOÕGÕU��ùLUNHW�����0DUW� ����� WDULKLQGH�������PHWUHNDUH� \�]|Oo�P�QGHNL�����SDUVHOLQ�(VNLúHKLU�2GXQSD]DUÕ�
%HOHGL\HVL¶QH�DLW�E|O�P�Q����������7/�EHGHOOH�VDWÕQ�DODUDN�|QFHNL��������PHWUHNDUH�\�]|Oo�P�QGHNL����SDUVHO�
YH����SDUVHOL�����QXPDUDOÕ�SDUVHO�RODUDN�WDSX�ND\GÕQÕ�JHUoHNOHúWLUPLúWLU��<HQL�LPDU�SODQÕQD�J|UH�JD\ULPHQNXOGH�
WHYGL� \DSÕODUDN� |QFHGHQ� �������PHWUHNDUH� RODQ� SDUVHO� ������PHWUHNDUH� RODUDN� WDSX� N�W�÷�QH� ND\ÕW� HGLOPLúWLU��
$UVDQÕQ� QLWHOL÷L� WHYGL� LúOHPLQGHQ� |QFH� EDKoHOL� NDUJLU� IDEULND� LNHQ� WHYGL� LúOHPLQLQ� DUGÕQGDQ� DUVD� RODUDN�
GH÷LúWLULOPLúWLU�����$UDOÕN������WDULKLQGH����DGHW�NRQXW���DGHW�GH�WLFDUL��QLWHQLQ�NDW�LUWLIDNÕ�WDSXODUÕ�oÕNDUÕOPÕúWÕU��
�����\ÕOÕQGD���DGHW�ED÷ÕPVÕ]��QLWHQLQ�NDW�P�ONL\HWL�WDSX�GHYUL�LOH�����������7/�WXWDUÕQGD�NRQXW�VDWÕú�JHOLUL�KDVÕODWWD�
YH�����������7/�VDWÕúODUÕQ�PDOL\HWLQGH��NRQXW�VDWÕú�JHOLUOHUL�YH�NRQXW�PDOL\HWL�RODUDN�PXKDVHEHOHúWLULOPLúWLU�����
$UDOÕN����������DGHW�WDSX�GHYUL������������7/�WXWDUÕQGD�NRQXW�VDWÕú�JHOLUL�YH�����������7/�VDWÕúODUÕQ�PDOL\HWL�NRQXW�
VDWÕú�JHOLUOHUL�YH�NRQXW�PDOL\HWL�RODUDN�PXKDVHEHOHúWLULOPLúWLU���6DWÕúODUÕQ�PDOL\HWL�NDOHPL�LoHULVLQGH�YHUJL��UHVLP�
YH�KDUo�PDVUDIODUÕ�EXOXQPDNWDGÕU��
�
$\UÕFD������������ WDULKLQGH�6WRNODU�KHVDEÕQGD� \HU�DODQ�(VNLúHKLU�%�%ORN����1XPDUDOÕ� ED÷ÕPVÕ]�E|O�P�NLUD\D�
YHULOPLú� ROXS�� LOJLOL� ED÷ÕPVÕ]� E|O�P� LoLQ� �������� 7/� 6WRNODU� NDOHPLQGHQ� <DWÕUÕP� $PDoOÕ� *D\ULPHQNXOOHU�
NDOHPLQGH�VÕQÕIODQGÕUPD�\DSÕOPÕúWÕU���
�
����+DON�*<2�9DNÕI�*<2�$GL�2UWDNOÕ÷Õ�WDUDIÕQGDQ��]HULQGH�JD\ULPHQNXO�SURMHVL�JHUoHNOHúWLULOPHN��]HUH�����(NLP�
����� WDULKLQGH� øVWDQEXO� LOL�� 6DQFDNWHSH� øOoHVL�� 6DPDQGÕUD� 0DKDOOHVL¶QGH� ������������ 7/¶\H� DUVD� DOÕPÕ�
JHUoHNOHúPLúWLU�����(NLP������WDULKLQGH�\�NOHQLFL�ILUPD�LOH�V|]OHúPH�LP]DODQPÕúWÕU����.DVÕP������WDULKLQGH�\DSÕ�
UXKVDWÕ�DOÕQPÕúWÕU��$UVD�VWRNX��]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU���
�
���(\O�O������G|QHPL� LWLEDUL\OH�SURMHGH�ED÷ÕPVÕ]�E|O�P�WHVOLPOHUL�EDúODPÕú�ROXS������DGHW�ED÷ÕPVÕ]�E|O�P�Q�
WHVOLP�LúOHPOHUL�WDPDODQPÕúWÕU��7RSODP�VDWÕú�WXWDUÕ�������������7/�YH�������������7/�VDWÕúODUÕQ�PDOL\HWL�RODUDN�
PXKDVHEHOHúWLULOPLúWLU���
�
����+DON�*<2�(U�.RQXW�$GL�2UWDNOÕ÷Õ�WDUDIÕQGDQ��]HULQGH�JD\ULPHQNXO�SURMHVL�JHUoHNOHúWLULOPHN��]HUH����1LVDQ�
�����WDULKLQGH�(U]XUXP�LOL��<DNXWL\H�øOoHVL��*H]�0DKDOOHVL¶QGH������������7/¶\H�DUVD�DOÕPÕ�JHUoHNOHúPLúWLU�����
0D\ÕV������WDULKLQGH�\�NOHQLFL�ILUPD�LOH�V|]OHúPH�LP]DODQPÕúWÕU�����0D\ÕV������WDULKLQGH�\DSÕ�UXKVDWÕ�DOÕQPÕúWÕU��
$UVD�VWRNX��]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU��

������������
���(\O�O������G|QHPL� LWLEDUL\OH�SURMHGH�ED÷ÕPVÕ]�E|O�P�WHVOLPOHUL�EDúODPÕú�ROXS������DGHW�ED÷ÕPVÕ]�E|O�P�Q�
WHVOLP�LúOHPOHUL� WDPDODQPÕúWÕU��7RSODP�VDWÕú�WXWDUÕ�������������7/�YH� ������������7/�VDWÕúODUÕQ�PDOL\HWL�RODUDN�
PXKDVHEHOHúWLULOPLúWLU���
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YH�.XUXoD\�0DKDOOHOHUL¶QGH�EXOXQDQ�SDUVHOOHULQ��]HULQGH�NDUPD�SURMH�JHUoHNOHúWLUPHN��]HUH�$UVD�6DWÕúÕ�.DUúÕOÕ÷Õ�
*HOLU�3D\ODúÕPÕ�øúL�RODUDN�LP]DODQDQ�V|]OHúPH\H�LVWLQDGHQ�\DSÕODQ�UHVPL�PDVUDIODUGDQ�ROXúPDNWDGÕU��$UVD�VWRNX�
�]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU�����(WDS�$UVD�6DWÕúÕ�.DUúÕOÕ÷Õ�*HOLU�3D\ODúÕPÕ�øúL��(YRUD�ø]PLU��
NDSVDPÕQGD�������$GD���3DUVHOGH�\HU�DODQ�����DGHW�NRQXWD�DLW�<DSÕ�5XKVDWODUÕ������������WDULKLQGH�DOÕQPÕúWÕU��

�
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9HULOHQ�\DWÕUÕP�DYDQVODUÕ��
� �������������� �������������

'L÷HU ��������� ����

�������������� �������������
�

�
�
�� ��� (\O�O� ����� WDULKL� LWLEDUÕ\OD� YHULOHQ� DYDQVODU�� ø)0� SURMHVL� NDSVDPÕQGD� DQD� \�NOHQLFL� YH� SURMH� \|QHWLP�
\�NOHQLFL� ILUPDODUÕQD� YHULOHQ� ������������ 7/� ���� $UDOÕN� ������ ����������� 7/��� ø]PLU¶GHNL� NRQXW� SURMHVL�
NDSVDPÕQGD�YHULOHQ������������7/�����$UDOÕN������������������7/���6DQFDNWHSH¶GHNL�NRQXW�SURMHVL�NDSVDPÕQGD�
YHULOHQ���7/�����$UDOÕN�����������������7/���(U]XUXP�ùHKULVWDQ�3URMHVL�NDSVDPÕQGD�YHULOHQ��������7/�����$UDOÕN�
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GH÷HUOHPH� úLUNHWLQLQ�� �� $UDOÕN� ����� WDULKOL� UDSRUXQD� J|UH� øVWDQEXO� .DUDN|\� %LQDVÕ¶QÕQ� HPVDO�
NDUúÕODúWÕUPD� \|QWHPLQH� J|UH� EHOLUOHGL÷L� JHUoH÷H� X\JXQ� GH÷HUL� ����������� 7/¶GLU�� <DWÕUÕP� DPDoOÕ�
JD\ULPHQNXO��]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU��ùLUNHW�EX�WDúÕQPD]ÕQÕ�+DONEDQN¶D�NLUD\D�
YHUPLúWLU�� ùLUNHW� V|]� NRQXVX� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXOGHQ�� �� 2FDN� ����� �� ��� (\O�O� ����� UDSRU�
G|QHPLQGH���7/����2FDN�±����(\O�O�����������������7/��NLUD�JHOLUL�HOGH�HWPLúWLU��øOJLOL�JD\ULPHQNXO�
LoLQ������UDSRU�G|QHPLQGH��������7/����2FDN�±����(\O�O��������������7/��JLGHU�ROXúPXúWXU�����(NLP�
�����LWLEDUÕ\OD�+DONEDQN�LOH�RODQ�NLUD�V|]OHúPHVL�VRQD�HUPLúWLU��*D\ULPHNXO�ERú�GXUXPGDGÕU��
�
øVWDQEXO�6DOÕSD]DUÕ�%LQDVÕ��
�
øVWDQEXO� 6DOÕSD]DUÕ� %LQDVÕ�� WDSX� ND\ÕWODUÕQGD� \�]|Oo�P�� ������PHWUHNDUH� RODQ� øVWDQEXO� øOL�� %H\R÷OX�
øOoHVL��.ÕOÕoDOL�0DKDOOHVL�����DGD����SDUVHOGH�ND\ÕWOÕ�ELQDGÕU���
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�
RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�G�]HQOHGL÷L����.DVÕP������WDULKOL�UDSRUD�J|UH������������
7/�RODUDN�EHOLUOHQPLú�YH�+DONEDQN� WDUDIÕQGDQ�D\QL� VHUPD\H�RODUDN�ùLUNHW¶H����(NLP������ WDULKLQGH�
GHYUROPXúWXU��63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�
GH÷HUOHPH� úLUNHWLQLQ�� ��� $UDOÕN� ����� WDULKOL� UDSRUXQD� J|UH� øVWDQEXO� 6DOÕSD]DUÕ� %LQDVÕ¶QÕQ� PDOL\HW�
\|QWHPLQH� J|UH� EHOLUOHGL÷L� JHUoH÷H� X\JXQ� GH÷HUL� ����������� 7/¶GLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�
�]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU��ùLUNHW�V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXOGHQ����
2FDN������±����(\O�O������UDSRU�G|QHPLQGH�����������7/����2FDN�±����(\O�O���������������7/��NLUD�
JHOLUL�HOGH�HWPLúWLU�øOJLOL�*D\ULPHQNXO�LoLQ������KHVDS�G|QHPLQGH���������7/����2FDN�±����(\O�O�������
�������7/��JLGHU�ROXúPXúWXU��ùLUNHW��6DOÕSD]DUÕ�%LQDVÕ¶�QÕQ�RWHO�RODUDN�NXOODQÕOPDVÕ�LoLQ�%HULO�2WHOFLOLN�
7XUL]P�YH�7LF��/WG��ùWL��LOH�V|]OHúPH�LP]DODPÕúWÕU��%LQDQÕQ�QLWHOL÷LQLQ�RWHOH�G|Q�úW�U�OPHVL�V�UHFLQGH�
ROXS� �� 2FDN� ����� WDULKLQGH� WDGLODW� YH� IRQNVL\RQ� UXKVDWÕ� DOÕQPÕúWÕU�� '|Q�ú�P� IDDOL\HWOHUL� GHYDP�
HWPHNWHGLU����$÷XVWRV������WDULKLQGH�ELQDQÕQ�\DSÕ�UXKVDWÕ�DOÕQPÕúWÕU���
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ø]PLU�.RQDN�%LQDVÕ��WDSX�ND\ÕWODUÕQGD�\�]|Oo�P������PHWUHNDUH�RODQ�ø]PLU�øOL��.RQDN�øOoHVL��$NGHQL]�
0DKDOOHVL�� ���� DGD����SDUVHOGH� ND\ÕWOÕ� EDQND�ELQDVÕGÕU��*D\ULPHQNXO�Q�ED÷ÕPVÕ]� E|O�POHUL� LoLQ� NDW�
LUWLIDNÕ�NXUXOPDPÕúWÕU���
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�
RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�G�]HQOHGL÷L���$UDOÕN������WDULKOL�UDSRUD�J|UH������������7/�
RODUDN� EHOLUOHQPLú� YH� +DONEDQN� WDUDIÕQGDQ� D\QL� VHUPD\H� RODUDN� ùLUNHW¶H� �� .DVÕP� ����� WDULKLQGH�
GHYUROPXúWXU��63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�
GH÷HUOHPH�úLUNHWLQLQ�����$UDOÕN������WDULKOL�UDSRUXQD�J|UH�ø]PLU�.RQDN�%LQD¶QÕQ�HPVDO�NDUúÕODúWÕUPD�
\|QWHPLQH� J|UH� EHOLUOHGL÷L� JHUoH÷H� X\JXQ� GH÷HUL� ����������� 7/¶GLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�
�]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU��ùLUNHW�EX�WDúÕQPD]ÕQÕ�+DONEDQN¶D�NLUD\D�YHUPLúWLU��
ùLUNHW� V|]� NRQXVX� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXOGHQ�� ��2FDN� ����� ±� ���(\O�O� ����� UDSRU� G|QHPLQGH�
����������7/����2FDN�����(\O�O���������������7/��NLUD�JHOLUL�HOGH�HWPLúWLU�øOJLOL�JD\ULPHQNXO�LoLQ������
UDSRU�G|QHPLQGH��������7/����2FDN�����(\O�O��������������7/��JLGHU�ROXúPXúWXU��
�
$QNDUD�.Õ]ÕOD\�%LQDVÕ��
�
$QNDUD�.Õ]ÕOD\�%LQDVÕ� WDSX� ND\ÕWODUÕQGD� \�]|Oo�P������PHWUHNDUH� RODQ�$QNDUD� øOL��dDQND\D� øOoHVL��
&XPKXUL\HW�0DKDOOHVL�������DGD����SDUVHOGH�ND\ÕWOÕ�NDUJLU�DSDUWPDQGÕU���
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�7LFDUHW�0DKNHPHVL�WDUDIÕQGDQ�DWDQDQ�ELOLUNLúLOHULQ�G�]HQOHGL÷L����
ùXEDW������WDULKOL�UDSRUD�J|UH������������7/�RODUDN�EHOLUOHQPLú�YH�+DONEDQN�WDUDIÕQGDQ�D\QL�VHUPD\H�
RODUDN�ùLUNHW¶H����(NLP������WDULKLQGH�GHYUROPXúWXU��63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�
\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�����$UDOÕN������WDULKOL�UDSRUXQD�J|UH�$QNDUD�
.Õ]ÕOD\�%LQDVÕ¶QÕQ� HPVDO� NDUúÕODúWÕUPD� \|QWHPLQH� J|UH� EHOLUOHGL÷L� JHUoH÷H� X\JXQ�GH÷HUL� �����������
7/¶GLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD� EXOXQPDPDNWDGÕU�� ùLUNHW� EX�
WDúÕQPD]ÕQÕ�+DONEDQN¶D�NLUD\D� YHUPLúWLU��ùLUNHW� V|]�NRQXVX�\DWÕUÕP�DPDoOÕ� JD\ULPHQNXOGHQ����2FDN�
�����±����(\O�O������KHVDS�G|QHPLQGH�����������7/����2FDN�±����(\O�O�����������������7/��WXWDUÕQGD�
NLUD�JHOLUL�HOGH�HWPLúWLU�øOJLOL�JD\ULPHQNXO�LoLQ������UDSRU�G|QHPLQGH��������7/����2FDN�±����(\O�O�
�������������7/��JLGHU�ROXúPXúWXU��
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øVWDQEXO�%H\R÷OX�%LQDVÕ��WDSX�ND\ÕWODUÕQGD�\�]|Oo�P������PHWUHNDUH�YH�PHWUH�GHULQOLN�YH�EHú�EXoXN�
PHWUH�LUWLIDGD��øVWDQEXO�øOL��%H\R÷OX�øOoHVL��+�VH\LQD÷D�0DKDOOHVL������DGD���SDUVHOGH�ND\ÕWOÕ� øVWDQEXO�
%HOHGL\HVL�OHKLQH�XPXPXQ�JHoPHVLQH�PDKVXV�LUWLIDN�KDNNÕ�RODQ�NDUJLU�LúKDQÕGÕU���
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�
RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�G�]HQOHGL÷L���$UDOÕN������WDULKOL�UDSRUD�J|UH������������7/�
RODUDN� EHOLUOHQPLú� YH� +DONEDQN� WDUDIÕQGDQ� D\QL� VHUPD\H� RODUDN� ùLUNHW¶H� ��� (NLP� ����� WDULKLQGH�
GHYUROPXúWXU��63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�
GH÷HUOHPH� úLUNHWLQLQ�� ��� $UDOÕN� ����� WDULKOL� UDSRUXQD� J|UH� øVWDQEXO� %H\R÷OX� %LQDVÕ¶QÕQ� HPVDO�
NDUúÕODúWÕUPD� \|QWHPLQH� J|UH� EHOLUOHGL÷L� JHUoH÷H� X\JXQ� GH÷HUL� ����������� 7/¶GLU�� <DWÕUÕP� DPDoOÕ�
JD\ULPHQNXO��]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU��ùLUNHW�EX�WDúÕQPD]ÕQÕQ�LNLQFL���o�QF���
G|UG�QF���EHúLQFL�YH�DOWÕQFÕ�NDWODUÕQÕ�7�UNL\H�&XPKXUL\HWL�%DúEDNDQOÕN�+D]LQH�0�VWHúDUOÕ÷Õ��³+D]LQH�
0�VWHúDUOÕ÷Õ´�¶QD�GL÷HU�E|O�POHULQL�GH�+DONEDQN¶D�NLUD\D�YHUPLúWLU��ùLUNHW�V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�
JD\ULPHQNXOGHQ����2FDN����������(\O�O������UDSRU�G|QHPLQGH�����������7/����2FDN�±����(\O�O�������
����������7/��NLUD�JHOLUL�HOGH�HWPLúWLU��øOJLOL�JD\ULPHQNXO�LoLQ������UDSRU�G|QHPLQGH��������7/����2FDN�
±����(\O�O��������������7/���JLGHU�ROXúPXúWXU���1LVDQ������LWLEDUL\OH�7�UNL\H�&XPKXUL\HWL�%DúEDNDQOÕN�
+D]LQH�0�VWHúDUOÕ÷Õ��³+D]LQH�0�VWHúDUOÕ÷Õ´��LOH�NLUD�V|]OHúPHVL�VRQD�HUPLúWLU��
�
øVWDQEXO�%HúLNWDú�%LQDVÕ��
�
øVWDQEXO� %HúLNWDú� %LQDVÕ�� WDSX� ND\ÕWODUÕQGD� \�]|Oo�P�� ���� PHWUHNDUH�� øVWDQEXO� LOL�� %HúLNWDú� LOoHVL��
6LQDQSDúD�0DKDOOHVL������DGD����SDUVHOGH�ND\ÕWOÕ�RODQ�NDUJLU�LúKDQÕGÕU���
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�7LFDUHW�0DKNHPHVL�WDUDIÕQGDQ�DWDQDQ�ELOLUNLúLOHULQ�G�]HQOHGL÷L����
2FDN������WDULKOL�UDSRUD�J|UH������������7/�RODUDN�EHOLUOHQPLú�YH�+DONEDQN�WDUDIÕQGDQ�D\QL�VHUPD\H�
RODUDN�ùLUNHW¶H����(NLP������WDULKLQGH�GHYUROPXúWXU��63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�
\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�����$UDOÕN������WDULKOL�UDSRUXQD�J|UH�øVWDQEXO�
%HúLNWDú�%LQDVÕ¶QÕQ�HPVDO�NDUúÕODúWÕUPD�\|QWHPLQH�J|UH�EHOLUOHGL÷L�JHUoH÷H�X\JXQ�GH÷HUL������������
7/¶GLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD� EXOXQPDPDNWDGÕU�� ùLUNHW� EX�
WDúÕQPD]Õ�+DONEDQN¶D�NLUD\D�YHUPLúWLU��ùLUNHW�V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXOGHQ����2FDN������
±����(\O�O������UDSRU�G|QHPLQGH�����������7/����2FDN�±����(\O�O���������������7/��NLUD�JHOLUL�HOGH�
HWPLúWLU��øOJLOL�JD\ULPHQNXO�LoLQ������UDSRU�G|QHPLQGH�������7/����2FDN�±����(\O�O�������������7/��
JLGHU�ROXúPXúWXU��
�
�
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7/�RODUDN�EHOLUOHQPLú�YH�+DONEDQN� WDUDIÕQGDQ�D\QL� VHUPD\H�RODUDN�ùLUNHW¶H����(NLP������ WDULKLQGH�
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GH÷HUOHPH�úLUNHWLQLQ�����$UDOÕN������WDULKOL�UDSRUXQD�J|UH�øVWDQEXO�(WLOHU�%LQDVÕ¶QÕQ�HPVDO�NDUúÕODúWÕUPD�
\|QWHPLQH� J|UH� EHOLUOHGL÷L� JHUoH÷H� X\JXQ� GH÷HUL� ����������� 7/¶GLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�
�]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU��ùLUNHW�EX�WDúÕQPD]ÕQÕ�+DONEDQN¶D�NLUD\D�YHUPLúWLU��
ùLUNHW� V|]� NRQXVX� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXOGHQ�� ��2FDN� ����� ±� ���(\O�O� ����� UDSRU� G|QHPLQGH�
��������7/����2FDN�±���(\O�O���������������7/��NLUD�JHOLUL�HOGH�HWPLúWLU��øOJLOL�JD\ULPHQNXO�LoLQ������
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�
øVWDQEXO�ùLúOL�%LQDVÕ��
�
øVWDQEXO� ùLúOL� %LQDVÕ�� WDSX� ND\ÕWODUÕQGD� \�]|Oo�P�� ���� PHWUHNDUH� RODQ�� øVWDQEXO� øOL�� ùLúOL� øOoHVL��
0HúUXWL\HW�0DKDOOHVL������SDIWD������DGD����SDUVHOGH�ND\ÕWOÕ�NDUJLU�DSDUWPDQGÕU���
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�
RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�G�]HQOHGL÷L���$UDOÕN������WDULKOL�UDSRUD�J|UH������������7/�
RODUDN� EHOLUOHQPLú� YH� +DONEDQN� WDUDIÕQGDQ� D\QL� VHUPD\H� RODUDN� ùLUNHW¶H� �� .DVÕP� ����� WDULKLQGH�
GHYUROPXúWXU��63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�
GH÷HUOHPH�úLUNHWLQLQ�����$UDOÕN������WDULKOL�UDSRUXQD�J|UH�øVWDQEXO�ùLúOL�%LQDVÕ¶QÕQ�HPVDO�NDUúÕODúWÕUPD�
\|QWHPLQH� J|UH� EHOLUOHGL÷L� JHUoH÷H� X\JXQ� GH÷HUL� ����������� 7/¶GLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�
�]HULQGH�KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU��ùLUNHW�EX�WDúÕQPD]ÕQÕ�+DONEDQN¶D�NLUD\D�YHUPLúWLU��
ùLUNHW� V|]� NRQXVX� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXOGHQ�� ��2FDN� ����� ±� ���(\O�O� ����� UDSRU� G|QHPLQGH�
��������7/����2FDN�±����(\O�O���������������7/��NLUD�JHOLUL�HOGH�HWPLúWLU��øOJLOL�JD\ULPHQNXO�LoLQ������
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D� ELU� E|O�P�Q�� GH�+DON�+D\DW� YH�(PHNOLOLN�$�ù�
\H� NLUD\D� YHUPLúWLU�� ùLUNHW� V|]� NRQXVX�
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JD\ULPHQNXO� GH÷HUOHPH� úLUNHWLQLQ�� ���$UDOÕN� ����� WDULKOL� UDSRUXQD� J|UH�$QNDUD�%DúNHQW� %LQDVÕ¶QÕQ�
HPVDO�NDUúÕODúWÕUPD�\|QWHPLQH�J|UH�EHOLUOHGL÷L�JHUoH÷H�X\JXQ�GH÷HUL������������7/¶GLU��<DWÕUÕP�DPDoOÕ�
JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD� EXOXQPDPDNWDGÕU�� ùLUNHW�� EX� WDúÕQPD]ÕQ� ELU� E|O�P�Q��
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7/��JLGHU�ROXúPXúWXU��
�
.RFDHOL�%LQDVÕ��
�
.RFDHOL�%LQDVÕ�� WDSX� ND\ÕWODUÕQGD� \�]|Oo�P������PHWUHNDUH�RODQ�.RFDHOL� øOL�� ø]PLW� øOoHVL��gPHUD÷D�
0DKDOOHVL������DGD����SDUVHOGH�ND\ÕWOÕ�ELQDGÕU���
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�7LFDUHW�0DKNHPHVL�WDUDIÕQGDQ�DWDQDQ�ELOLUNLúLOHULQ�G�]HQOHGL÷L����
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�
6DNDU\D�$GDSD]DUÕ�%LQDVÕ��
�
6DNDU\D�$GDSD]DUÕ�%LQDVÕ��WDSX�ND\ÕWODUÕQGD�\�]|Oo�P��������PHWUHNDUH�RODQ�6DNDU\D�øOL��$GDSD]DUÕ�
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øVWDQEXO�1LúDQWDúÕ�%LQDVÕ��
�
øVWDQEXO�1LúDQWDúÕ�%LQDVÕ��WDSX�ND\ÕWODUÕQGD�\�]|Oo�P���������PHWUHNDUH�RODQ�øVWDQEXO�øOL��ùLúOL�øOoHVL��
+DODVNDUJD]L� 0DKDOOHVL�� ���� DGD� ��� SDUVHOGH� ND\ÕWOÕ� VHNL]� NDW� ELU� ORNDQWD� WHGL� PHVNHQOL� NDUJLU�
DSDUWPDQGÕU��6|]�NRQXVX�JD\ULPHQNXO�NRUXQPDVÕ�JHUHNOL�WDúÕQPD]�N�OW�U�YDUOÕ÷Õ�QLWHOL÷LQGHGLU���
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�7LFDUHW�0DKNHPHVL�WDUDIÕQGDQ�DWDQDQ�ELOLUNLúLOHULQ�G�]HQOHGL÷L����
2FDN������WDULKOL�UDSRUD�J|UH�����������7/�RODUDN�EHOLUOHQPLú�YH�+DONEDQN�WDUDIÕQGDQ�D\QL�VHUPD\H�
RODUDN�ùLUNHW¶H���.DVÕP������WDULKLQGH�GHYUROPXúWXU��63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�
\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ����$UDOÕN������WDULKOL�UDSRUXQD�J|UH�øVWDQEXO�
1LúDQWDúÕ�%LQDVÕ¶QÕQ�HPVDO�NDUúÕODúWÕUPD�\|QWHPLQH�J|UH�EHOLUOHGL÷L�JHUoH÷H�X\JXQ�GH÷HUL�����������
7/¶GLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD� EXOXQPDPDNWDGÕU�� ùLUNHW� EX�
WDúÕQPD]ÕQÕ�+DONEDQN¶D�NLUD\D� YHUPLúWLU��ùLUNHW� V|]�NRQXVX�\DWÕUÕP�DPDoOÕ� JD\ULPHQNXOGHQ����2FDN�
�����±����(\O�O������UDSRU�G|QHPLQGH���������7/����2FDN�±����(\O�O���������������7/��NLUD�JHOLUL�
HOGH�HWPLúWLU��øOJLOL�JD\ULPHQNXO�LoLQ������UDSRU�G|QHPLQGH�������7/����2FDN�±����(\O�O�������������
7/��JLGHU�ROXúPXúWXU��
�
+DONEDQN�)LQDQV�.XOH��
�
+DONEDQN�)LQDQV�.XOH��WDSX�ND\ÕWODUÕQGD�\�]|Oo�P��������PHWUHNDUH�RODQ��øVWDQEXO�øOL��$WDúHKLU�øOoHVL��
.�o�NEDNNDON|\�0DKDOOHVL�������DGD����SDUVHO��]HULQGH�ND\ÕWOÕGÕU��<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�.�<DSÕ�
*D\ULPHQNXO�*HOLúWLUPH�øQú��6DQ��YH�'Õú�7LF��$ù¶GHQ�DOÕQPÕúWÕU��øOJLOL�V|]OHúPH\H�J|UH�.'9�GDKLO�VDWÕú�
EHGHOLQLQ����¶VL�RODQ������������7/�NDW�LUWLIDNOÕ�����DGHW�WDSXQXQ�GHYULQGH�|GHQPLúWLU��6DWÕú�EHGHOLQLQ�
���¶L�RODQ������������7/����+D]LUDQ������WDULKLQGH�YH�EHGHOLQ����¶L�RODQ�VRQ�|GHPHQLQ������������
7/¶VL����7HPPX]������WDULKLQGH�|GHQPLúWLU��ùLUNHW¶LQ�DOÕPÕQGDQ�|W�U��NDODQ�����������7/�WXWDUÕQGDNL�
\DSÕODFDN�|GHPH�.�<DSÕ�*D\ULPHQNXO�*HOLúWLUPH�øQú��6DQ��YH�'Õú�7LF��$ù�LOH�\DSÕODQ�GL÷HU�LúOHPOHU�LOH�
PDKVXSODúPÕúWÕU��<DSÕODQ�|GHPHOHU�LOH�ELUOLNWH�����������7/�WDSX�KDUo�EHGHOL����������7/�LVNDQ�WXWDUODUÕ�
YH� EX� 3OD]D¶\D� LVWLQDGHQ� DOÕQDQ� NUHGLQLQ� ���������� 7/¶OLN� IDL]� JLGHUL� DUVD� LOH� ELQD� EHGHOLQH� LODYH�
HGLOPLúWLU��+DONEDQN�)LQDQV�.XOH�ILQDQVPDQÕ�LoLQ�7��+DON�%DQNDVÕ�$�ù�¶GHQ�NXOODQÕODQ�NUHGL�NDUúÕOÕ÷ÕQGD�
������������7/�LSRWHN�JHQHO�NUHGL�V|]OHúPHVL�NDSVDPÕQGD�WHPLQDW�RODUDN�YHULOPLúWLU��63.�WDUDIÕQGDQ�
GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�����$UDOÕN�
�����WDULKOL�UDSRUXQD�J|UH�+DONEDQN�)LQDQV�.XOH�LoLQ�HPVDO�NDUúÕODúWÕUPD�\|QWHPLQH�J|UH�EHOLUOHGL÷L�
JHUoH÷H� X\JXQ� GH÷HUL� ������������ 7/¶GLU�� ùLUNHW�� V|]� NRQXVX� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�� 7�+DON�
%DQNDVÕ�$�ù�
\H�NLUD\D�YHUPLú�ROXS��V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXOGHQ���2FDN������±����(\O�O�
�����UDSRU�G|QHPLQGH������������7/����2FDN�±����(\O�O������������������7/��NLUD�JHOLUL�HOGH�HWPLúWLU��
øOJLOL�JD\ULPHQNXO�LoLQ������UDSRU�G|QHPLQGH���������7/����2FDN�±����(\O�O���������������7/��JLGHU�
ROXúPXúWXU��
�
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�
3DUN�'HGHPDQ�/HYHQW�2WHO��
�
/HYHQW�$UVD�WDSX�ND\ÕWODUÕQGD�\�]|Oo�P��������PHWUHNDUH�RODQ�øVWDQEXO�øOL��ùLúOL�øOoHVL��0HFLGL\HN|\�
0DKDOOHVL�� ���� SDIWD� ����� DGD� �� SDUVHOGH� ND\ÕWOÕGÕU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�Q� GH÷HUL� 7LFDUHW�
0DKNHPHVL�WDUDIÕQGDQ�DWDQDQ�ELOLUNLúLOHULQ�G�]HQOHGL÷L����ùXEDW������WDULKOL�UDSRUD�J|UH������������7/�
RODUDN� EHOLUOHQPLú� YH� +DONEDQN� WDUDIÕQGDQ� D\QL� VHUPD\H� RODUDN� ùLUNHW¶H� �� .DVÕP� ����� WDULKLQGH�
GHYUROPXúWXU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD� EXOXQPDPDNWDGÕU�� $UVD�
�]HULQGH� 'HGHPDQ� 7XUL]P� <|QHWLPL� $ù� LOH� \DSÕODQ� DQODúPD� LOH� RWHO� SURMHVL� EDúODWÕOPÕúWÕU�� 63.�
WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ��
���$UDOÕN������WDULKOL�UDSRUXQD�J|UH�3DUN�'HGHPDQ�/HYHQW�2WHO¶LQ�PDOL\HW�\|QWHPLQH�J|UH�EHOLUOHGL÷L�
JHUoH÷H�X\JXQ�GH÷HUL�������������7/¶GLU���
�
ùLUNHW��V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXO��'HGHPDQ�7XUL]P�<|QHWLPL�$�ù��NLUD\D�YHUPLú�ROXS����
2FDN������±����(\O�O������UDSRU�G|QHPLQGH�HOGH�HGLOHQ�NLUD�JHOLUL������������7/����2FDN�±����(\O�O�
����������������7/�¶GLU��øOJLOL�JD\ULPHQNXO�LoLQ������UDSRU�G|QHPLQGH���������7/����2FDN�±����(\O�O�
��������������7/��JLGHU�ROXúPXúWXU��
�
.RFDHOL�ùHNHUSÕQDU�$�%ORN�
�
ùHNHUSÕQDU�$�%ORN�� WDSX�ND\ÕWODUÕQGD�.RFDHOL� øOL��dD\ÕURYD� øOoHVL��ùHNHUSÕQDU�0DKDOOHVL������ DGD����
SDUVHO� �]HULQGH� ND\ÕWOÕGÕU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD�
EXOXQPDPDNWDGÕU�� ���(NLP������ WDULKLQGH�ùHNHUSÕQDU�$�%ORN� \DSÕ�NXOODQÕP� L]LQ�EHOJHVL� DOÕQPÕúWÕU��
7�UNL\H� +DON� %DQNDVÕ� $�ù�� LOH� ��� 0D\ÕV� ����� WDULKLQGH� LP]DODQPÕú� RODQ� L\L� QL\HW� V|]OHúPHVL�
oHUoHYHVLQGH��D\OÕN���������7/�.'9�EHGHO�LOH����1LVDQ������WDULKLQGHQ�LWLEDUHQ�JHoHUOL�RODFDN�úHNLOGH�
��� \ÕO� V�UHOL� NLUD� V|]OHúPHVL� LP]DODQPÕúWÕU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�Q� GH÷HUL� 63.� WDUDIÕQGDQ�
GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�G�]HQOHGL÷L�
���$UDOÕN������WDULKOL�UDSRUD�J|UH�ùHNHUSÕQDU�%DQNDFÕOÕN�0HUNH]L¶QLQ�PDOL\HW�NDUúÕODúWÕUPD�\|QWHPLQH�
J|UH�JHUoH÷H�X\JXQ�GH÷HUL������������7/�RODUDN�EHOLUOHQPLúWLU���
�
ùLUNHW��V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXOGHQ���2FDN������±����(\O�O������UDSRU�G|QHPLQGH�HOGH�
HGLOHQ�NLUD�JHOLUL� �����������7/����2FDN�±����(\O�O�����������������7/�¶GLU��øOJLOL�JD\ULPHQNXO�LoLQ�
�����UDSRU�G|QHPLQGH���������7/����2FDN�±����(\O�O���������������7/��JLGHU�ROXúPXúWXU��
�
(VNLúHKLU±�3DQDURPD�3OXV�.RQXW�3URMHVL���%���'DLUH�
�
(VNLúHKLU�%�%ORN��WDSX�ND\ÕWODUÕQGD�(VNLúHKLU�øOL��2GXQSD]DUÕ�øOoHVL��2VPDQJD]L�0DKDOOHVL���������DGD�
�� SDUVHO� �]HULQGH� ND\ÕWOÕGÕU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD�
EXOXQPDPDNWDGÕU����.DVÕP������ WDULKLQGH�(VNLúHKLU�%�%OR÷XQ�\DSÕ�NXOODQÕP�L]LQ�EHOJHVL�DOÕQPÕúWÕU��
ùLUNHW�JHUoHN�NLúL� LOH������� �7/�.'9�EHGHO��]HULQGHQ�NLUDODQPDVÕ�KXVXVXQGD�V|]OHúPH� LP]DODQPÕú�
ROXS��NLUD�V�UHFL����+D]LUDQ������WDULKL�LWLEDUÕ\OD�EDúODPÕúWÕU��<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�63.�
WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�
G�]HQOHGL÷L����$UDOÕN������WDULKOL�UDSRUD�J|UH�HPVDO�NDUúÕODúWÕUPD�\|QWHPLQH�J|UH�JHUoH÷H�X\JXQ�GH÷HUL�
��������7/�RODUDN�EHOLUOHQPLúWLU��ùLUNHW��V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXOGHQ���2FDN������±����
(\O�O������KHVDS�G|QHPLQGH�HOGH�HGLOHQ�NLUD�JHOLUL��������7/����2FDN�±����(\O�O���������7/�¶GLU���
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�
(VNLúHKLU±�3DQDURPD�3OXV�.RQXW�3URMHVL���'�%ORN��
�
(VNLúHKLU�'�%ORN��WDSX�ND\ÕWODUÕQGD�(VNLúHKLU�øOL��2GXQSD]DUÕ�øOoHVL��2VPDQJD]L�0DKDOOHVL���������DGD�
�� SDUVHO� �]HULQGH� ND\ÕWOÕGÕU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD�
EXOXQPDPDNWDGÕU�����$÷XVWRV������WDULKLQGH�(VNLúHKLU�'�%OR÷XQ�\DSÕ�NXOODQÕP�L]LQ�EHOJHVL�DOÕQPÕúWÕU��
ùLUNHW�0LJURV�7LFDUHW�$�ù�
\H����\ÕO�V�UH�LOH�NLUDODQPDVÕ�KXVXVXQGD����$÷XVWRV������WDULKLQGH�V|]OHúPH�
LP]DODQPÕúWÕU�� øOJLOL� NLUD� V|]OHúPHVL� oHUoHYHVLQGH� NLUD� EDúODQJÕo� WDULKL� PD÷D]D� DoÕOÕú� WDULKL� RODUDN�
EHOLUOHQPLúWLU��<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�
\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�G�]HQOHGL÷L����$UDOÕN������ WDULKOL� UDSRUD�
J|UH� HPVDO� NDUúÕODúWÕUPD� \|QWHPLQH� J|UH� JHUoH÷H� X\JXQ� GH÷HUL� ���������� 7/� RODUDN� EHOLUOHQPLúWLU��
ùLUNHW��V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXOGHQ���2FDN������±����(\O�O������UDSRU�G|QHPLQGH�HOGH�
HGLOHQ�NLUD�JHOLUL���7/����2FDN�±�(\O�O��������������7/�¶GLU��ùLUNHW�LOJLOL�JD\ULPHNXO�LoLQ����1LVDQ������
WDULKLQGH�VDWÕú�YDDGL�V|]OHúPHVL�LP]DODPÕú�ROXS�WDSX�GHYUL�\DSÕOPDPÕúWÕU��øOJLOL�JD\ULPHQNXO�7)56����
³0�úWHUL�6|]OHúPHOHULQGHQ�+DVÕODW´VWDQGDUGÕ�NDSVDPÕQGD�&��SUDJUDIÕ��E��EHQGLQGH�DoÕNODQGÕ÷Õ�úHNLOGH�
YH� &�� SUDJUDIÕQGDNL� úHNLOGH� 6WDQGDUGÕQ� LON� NH]� X\JXODQPDVÕ� VRQXFX� ROXúDQ� N�P�ODWLI� HWNL\L� LON�
X\JXODPD� WDULKLQL� NDSVD\DQ� \ÕOÕN� UDSRUODPD� G|QHPLQH� LOLúNLQ� JHoPLú� \ÕOODU� NDUODUÕ� KHVDEÕQÕQ� �YH\D�
X\JXQ�J|U�OHFHN�GL÷HU�ELU� |]� ND\QDN�ELOHúHQLQLQ�� DoÕOÕú� EDNL\HVLQGH� IDUN� G�]HOWPHVL� RODUDN� ILQDQVDO�
WDEORODUD�DOÕQPÕúWÕU��
�
(VNLúHKLU±�3DQDURPD�3OXV�.RQXW�3URMHVL���%���%ORN��
�
(VNLúHKLU�%�%ORN��WDSX�ND\ÕWODUÕQGD�(VNLúHKLU�øOL��2GXQSD]DUÕ�øOoHVL��2VPDQJD]L�0DKDOOHVL���������DGD�
�� SDUVHO� �]HULQGH� ND\ÕWOÕGÕU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD�
EXOXQPDPDNWDGÕU����.DVÕP������ WDULKLQGH�(VNLúHKLU�%�%OR÷XQ�\DSÕ�NXOODQÕP�L]LQ�EHOJHVL�DOÕQPÕúWÕU��
ùLUNHW�JHUoHN�NLúL� LOH��������7/�.'9�EHGHO��]HULQGHQ�NLUDODQPDVÕ�KXVXVXQGD�V|]OHúPH� LP]DODQPÕú�
ROXS��NLUD�V�UHFL���.DVÕP������WDULKL�LWLEDUÕ\OD�EDúODPÕúWÕU��<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�63.�
WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�
G�]HQOHGL÷L����$UDOÕN������WDULKOL�UDSRUD�J|UH�HPVDO�NDUúÕODúWÕUPD�\|QWHPLQH�J|UH�JHUoH÷H�X\JXQ�GH÷HUL�
��������7/�RODUDN�EHOLUOHQPLúWLU��ùLUNHW��V|]�NRQXVX�\DWÕUÕP�DPDoOÕ�JD\ULPHQNXOGHQ���2FDN������±����
+D]LUDQ������KHVDS�G|QHPLQGH�HOGH�HGLOHQ�NLUD�JHOLUL���7/����2FDN�±�(\O�O��������������7/�¶GLU��øOJLOL�
JD\ULPHQNXO���$UDOÕN������WDULKLQGH�VDWÕOPÕúWÕU��øOJLOL�JD\ULPHQNXO�LoLQ������UDSRU�G|QHPLQGH���7/����
2FDN�±�(\O�O���������7/��JLGHU�ROXúPXúWXU��
�
.RFDHOL�ùHNHUSÕQDU�2ILV�3URMHVL��
�
ùHNHUSÕQDU� $UVD�� WDSX� ND\ÕWODUÕQGD� \�]|Oo�P�� ������� PHWUHNDUH� RODQ� .RFDHOL� øOL�� dD\ÕURYD� øOoHVL��
ùHNHUSÕQDU�0DKDOOHVL�� ���� DGD� ��� SDUVHO� �]HULQGH� ND\ÕWOÕGÕU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH�
KHUKDQJL�ELU�NÕVÕWODPD�EXOXQPDPDNWDGÕU��$UVD��]HULQGH�%DQNDFÕOÕN�RSHUDV\RQ�PHUNH]L�LQúD�HWPHN��]HUH�
PLPDUOÕN�úLUNHWL� LOH�DQODúPD�LP]DODQPÕú�YH����NÕVÕP�LoLQ����$÷XVWRV������WDULKLQGH����.ÕVÕP�LoLQ����
0DUW� ����� WDULKLQGH� UXKVDW� DOÕQPÕúWÕU�� 3URMHQLQ� ��� NÕVPÕ� RODQ� $� %ORN� WDPDPODQPÕú� ELQD� RODUDN�
VÕQÕIODQGÕUÕOPÕúWÕU�� 3URMHQLQ� ��� NÕVPÕ� RODQ� %� %ORN� LoLQ� \DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�Q� GH÷HUL� 63.�
WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�
G�]HQOHGL÷L����$UDOÕN������WDULKOL�UDSRUD�J|UH�ùHNHUSÕQDU�2ILV�3URMHVL¶QLQ�PHYFXW�LQúDDW�VHYL\HVLQH�J|UH�
JHUoH÷H� X\JXQ� GH÷HUL� ����������� 7/� RODUDN� EHOLUOHQPLúWLU�� øOJLOL� JD\ULPHQNXO� LoLQ� ����� UDSRU�
G|QHPLQGH���������7/����2FDN�±�(\O�O���������������7/��JLGHU�ROXúPXúWXU��
�
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� �
� %LQDODU��GHYDPÕ��

�
<DSÕOPDNWD�RODQ�\DWÕUÕPODU�
�
øVWDQEXO�)LQDQV�0HUNH]L�3URMHVL��
�
$WDúHKLU� $UVD� WDSX� ND\ÕWODUÕQGD� \�]|Oo�P�� ������� PHWUHNDUH� RODQ� øVWDQEXO� øOL�� hPUDQL\H� øOoHVL��
.�o�NEDNNDON|\� 0DKDOOHVL�� ����� DGD� �� SDUVHOGH� ND\ÕWOÕGÕU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO�Q� GH÷HUL�
7LFDUHW� 0DKNHPHVL� WDUDIÕQGDQ� DWDQDQ� ELOLUNLúLOHULQ� G�]HQOHGL÷L� ��� 2FDN� ����� WDULKOL� UDSRUD� J|UH�
������������7/�RODUDN�EHOLUOHQPLú�YH�+DONEDQN�WDUDIÕQGDQ�D\QL�VHUPD\H�RODUDN�ùLUNHW¶H����(NLP������
WDULKLQGH� GHYUROPXúWXU�� 63.� WDUDIÕQGDQ� GH÷HUOHPH� KL]PHWL� YHUPHN� �]HUH� \HWNLOHQGLULOPLú� RODQ� ELU�
JD\ULPHQNXO� GH÷HUOHPH� úLUNHWLQLQ�� ��� $UDOÕN� ����� WDULKOL� UDSRUXQD� J|UH� $WDúHKLU� $UVD¶QÕQ� HPVDO�
NDUúÕODúWÕUPD�\|QWHPLQH� J|UH�EHOLUOHGL÷L�PDOL\HW� \|QWHPLQH�J|UH� JHUoH÷H� X\JXQ�GH÷HUL� ������������
7/¶GLU��$UVD�LoLQ����$UDOÕN������WDULKLQGH�LQúDDW�UXKVDW�EDúYXUXVXQGD�EXOXQXOPXúWXU��$UVD¶QÕQ��]HULQGH�
EXOXQGX÷X�E|OJHGH�dHYUH�YH�ùHKLUFLOLN�%DNDQOÕ÷Õ¶QÕQ�NRRUGLQDV\RQXQGD�øVWDQEXO�)LQDQV�0HUNH]L��ø)0��
SURMHVL�JHOLúWLULOPHNWHGLU��dHYUH�YH�ùHKLUFLOLN�%DNDQOÕ÷Õ� LOH�ùLUNHW�DUDVÕQGD�ø)0�SURMHVLQLQ�X\JXODPD�
DúDPDVÕQD� LOLúNLQ� KXVXVODUÕ� LoHUHQ� ³0XWDEDNDW� YH� 3URWRNRO� 0HWQL´� LP]DODQPÕúWÕU�� ��� $UDOÕN� �����
WDULKLQGH�HVNL������DGD���SDUVHO�������\HYPL\H�QXPDUDVÕ�LOH�LIUD]HQ�WDNVLP�LúOHPLQGHQ������DGD���YH�
�����DGD����SDUVHO�RODUDN�WHVFLO� HGLOPLúWLU��3DUVHOOHU�VÕUDVÕ\OD��������PHWUHNDUH�YH��������PHWUHNDUH�
DODQD����������PHWUHNDUH�YH���������PHWUHNDUH�SRG\XP��VW��LQúDDW�DODQÕQD�VDKLSWLU�������DGD���YH����
QXPDUDOÕ�SDUVHOOHU��HVNL������DGD���SDUVHOLQ�LIUD]ÕQGDQ�PH\GDQD�JHOPLú�ROXS�������DGD���YH����SDUVHOOHU�
LoLQ�LPDU�SODQÕQGDNL�LQúDDW�DODQÕ�KDNNÕ��HVNL������DGD���SDUVHOLQ�\�]|Oo�P��HVDV�DOÕQDUDN�EHOLUOHQPLúWLU��
��� +D]LUDQ� ����� WDULKLQGH� ø)0� SURMHVL� GDKLOLQGHNL� DUVD� �]HULQGH� JHOLúWLULOHFHN� ³RILV�WLFDUL´� NDUPD�
SURMHVLQH�LOLúNLQ�LQúDDW�\DSÕ�UXKVDWODUÕ�DOÕQPÕúWÕU����$UDOÕN������WDULKLQGH�ø)0�SURMHVL�NDSVDPÕQGD�DQD�
\�NOHQLFL�V|]OHúPHVL�LP]DODQPÕú�ROXS��UDSRUODPD�G|QHPL�LWLEDUÕ\OD�SURMH�LQúDDVÕQD�GHYDP�HGLOPHNWHGLU��
�
øVWDQEXO�&DGGHERVWDQ�%LQDVÕ��
�
øVWDQEXO�&DGGHERVWDQ�%LQDVÕ��WDSX�ND\ÕWODUÕQGD�\�]�|O�o�P������PHWUHNDUH�RODQ�øVWDQEXO�øOL��.DGÕN|\�
øOoHVL��(UHQN|\�0DKDOOHVL������DGD����SDUVHOGH�ND\ÕWOÕ�EDKoHOL�NDUJLU�DSDUWPDQGÕU��
�
<DWÕUÕP�DPDoOÕ�JD\ULPHQNXO�Q�GH÷HUL�7LFDUHW�0DKNHPHVL�WDUDIÕQGDQ�DWDQDQ�ELOLUNLúLOHULQ�G�]HQOHGL÷L����
2FDN������WDULKOL�UDSRUD�J|UH�����������7/�RODUDN�EHOLUOHQPLú�YH�+DONEDQN�WDUDIÕQGDQ�D\QL�VHUPD\H�
RODUDN�ùLUNHW¶H���.DVÕP������WDULKLQGH�GHYUROPXúWXU��63.�WDUDIÕQGDQ�GH÷HUOHPH�KL]PHWL�YHUPHN��]HUH�
\HWNLOHQGLULOPLú�RODQ�ELU�JD\ULPHQNXO�GH÷HUOHPH�úLUNHWLQLQ�����$UDOÕN������WDULKOL�UDSRUXQD�J|UH�øVWDQEXO�
&DGGHERVWDQ� %LQDVÕ¶QÕQ� HPVDO� NDUúÕODúWÕUPD� \|QWHPLQH� J|UH� EHOLUOHGL÷L� JHUoH÷H� X\JXQ� GH÷HUL�
����������� 7/¶GLU�� <DWÕUÕP� DPDoOÕ� JD\ULPHQNXO� �]HULQGH� KHUKDQJL� ELU� NÕVÕWODPD� EXOXQPDPDNWDGÕU��
ùLUNHW�EX�WDúÕQPD]ÕQÕ�+DONEDQN¶D�NLUD\D�YHUPLúWLU��+DONEDQN�ùLUNHW¶LQ�+DONEDQN�LOH�RODQ�NLUD�V|]OHúPHVL�
���2FDN� ����� WDULKLQGH� VRQD� HUPLúWLU�� %LQD� NHQWVHO� G|Q�ú�P� V�UHFLQH� JLUPLú� ROXS�� �� .DVÕP� �����
WDULKLQGH�ELQDQÕQ�\ÕNÕOPDVÕ�YH�\HQLGHQ�\DSÕP�LúL�LOH�LOJLOL�RODUDN�DQD�\�NOHQLFL�V|]OHúPHVL�LP]DODQPÕúWÕU��
%LQDQÕQ� NHQWVHO� G|Q�ú�PGH� ROPDVÕ� VHEHEL\OH� HPVDO� NDUúÕODúWÕUPD� \|QWHPLQGH� DUVD� SD\Õ� GH÷HUL�
NXOODQÕOPÕúWÕU�����(NLP������WDULKLQGH�LQúDDW�UXKVDWÕ�DOÕQPÕú�ROXS�LQúDL�IDDOL\HWOHU�GHYDP�HWPHNWHGLU��
�
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� )DDOL\HW�NLUDODPDODUÕ�

�
)DDOL\HW�NLUDODPDVÕ�LúOHPOHULQGH�NLUDOD\DQ�GXUXPXQGD�ùLUNHW��
�
ùLUNHW��NLUDOD\DQ�VÕIDWÕ\OD�+DONEDQN��+DON�+D\DW�YH�(PHNOLOLN��'HGHPDQ�2WHOFLOLN�YH�6DSD]�2WHOFLOLN�
7XUL]P� LOH� IDDOL\HW� NLUDODPD� DQODúPDODUÕ� LP]DODPÕúWÕU�� ��� (\O�O� ����� YH� ��� $UDOÕN� ����� WDULKOHUL�
LWLEDUÕ\OD�NDODQ�NLUD�V�UHOHULQH�J|UH�\ÕOOÕN�DVJDUL�NLUD�WXWDUODUÕ�DúD÷ÕGDNL�JLELGLU��
�

���(\O�O ���$UDOÕN
øOLúNLOL�WDUDIODUD�IDDOL\HW�NLUDODPDODUÕ ���� ����

��\ÕOGDQ�NÕVD�NLUD�DODFDN�DQODúPDODUÕ ����������� ����������
����\ÕO�DUDVÕ�NLUD�DODFDN�DQODúPDODUÕ ����������� ����������
��\ÕOGDQ�X]XQ�NLUD�DODFDN�DQODúPDODUÕ ���������� ����������

���������� ����������

�
�

���(\O�O ���$UDOÕN
'L÷HU�WDUDIODUD�IDDOL\HW�NLUDODPDODUÕ ���� ����

��\ÕOGDQ�NÕVD�NLUD�DODFDN�DQODúPDODUÕ ����������� �����������
����\ÕO�DUDVÕ�NLUD�DODFDN�DQODúPDODUÕ ������������ �����������
��\ÕOGDQ�X]XQ�NLUD�DODFDN�DQODúPDODUÕ ������������ ������������

������������ ������������

�
�

��� 0$''ø�'85$1�9$5/,./$5�
�
0DOL\HW�'H÷HUL���

'HPLUEDúODU g]HO�0DOL\HWOHU 7RSODP���
��2FDN������LWLEDUÕ\OD�DoÕOÕú�EDNL\HVL ��������� ������� ���������
$OÕPODU��� ������ ����� ������
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ��������� ������� ���������

%LULNPLú�$PRUWLVPDQODU���
��2FDN������LWLEDUÕ\OD�DoÕOÕú�EDNL\HVL ��������� ��������� �����������
'|QHP�JLGHUL��� �������� ������� ��������
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ����������� ��������� �����������
���(\O�O������LWLEDUÕ\OD�QHW�GHIWHU�GH÷HUL ������� ����� �������

�
�
0DOL\HW�'H÷HUL���

'HPLUEDúODU g]HO�0DOL\HWOHU 7RSODP���
��2FDN������LWLEDUÕ\OD�DoÕOÕú�EDNL\HVL ��������� ������� ���������
$OÕPODU��� ������ � ������
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ��������� ������� ���������

%LULNPLú�$PRUWLVPDQODU���
��2FDN������LWLEDUÕ\OD�DoÕOÕú�EDNL\HVL ��������� ��������� �����������
'|QHP�JLGHUL��� ��������� � ���������
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ��������� ��������� �����������
���(\O�O������LWLEDUÕ\OD�QHW�GHIWHU�GH÷HUL ������� � �������

�
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0DGGL�GXUDQ�YDUOÕNODUD�DLW�DPRUWLVPDQ�V�UHOHUL�DúD÷ÕGDNL�JLELGLU��
�

(NRQRPLN�gPU�
'HPLUEDúODU ��\ÕO
g]HO�PDOL\HWOHU ��\ÕO

�
�
$PRUWLVPDQ�JLGHUOHULQLQ��������7/¶VL����������������7/��JHQHO�\|QHWLP�JLGHUOHULQH�GDKLO�HGLOPLúWLU��
�

���� 0$''ø�2/0$<$1�'85$1�9$5/,./$5�
�
�0DOL\HW�'H÷HUL��� 'L÷HU�0DGGL�

2OPD\DQ�'XUDQ�
9DUOÕNODU 7RSODP

��2FDN������LWLEDUÕ\OD�DoÕOÕú�EDNL\HVL ������� �������
$OÕPODU��� ������� �������
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ������� �������

%LULNPLú�øWID�3D\ODUÕ 'L÷HU�0DGGL�
2OPD\DQ�'XUDQ�

9DUOÕNODU 7RSODP
��2FDN������LWLEDUÕ\OD�DoÕOÕú�EDNL\HVL ��������� ���������
'|QHP�JLGHUL��� �������� ��������
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ��������� ���������
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ������� �������

�
�
�0DOL\HW�'H÷HUL��� 'L÷HU�0DGGL�

2OPD\DQ�'XUDQ�
9DUOÕNODU 7RSODP

��2FDN������LWLEDUÕ\OD�DoÕOÕú�EDNL\HVL ������� �������
$OÕPODU��� ����� �����
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ������� �������

��

%LULNPLú�øWID�3D\ODUÕ
��2FDN������LWLEDUÕ\OD�DoÕOÕú�EDNL\HVL ��������� ���������
'|QHP�JLGHUL��� ��������� ���������
���(\O�O������LWLEDUÕ\OD�NDSDQÕú�EDNL\HVL ��������� ���������
���(\O�O������LWLEDUÕ\OD�QHW�GHIWHU�GH÷HUL ������� �������

�
�
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øVWDQEXO� )LQDQV�0HUNH]L� �ø)0�� SURMHVL� NDSVDPÕQGD� DQD� \�NOHQLFL� V|]OHúPHVLQH� LOLúNLQ� RODUDN� DQD� \�NOHQLFL�
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ùLUNHW��7�UN�øú�.DQXQX¶QD�J|UH��HQ�D]�ELU�\ÕOOÕN�KL]PHWL�WDPDPOD\DUDN����\ÕOOÕN�oDOÕúPD�KD\DWÕ�DUGÕQGDQ�HPHNOL\H�
D\UÕODQ��NDGÕQODU�LoLQ�����HUNHNOHU�LoLQ����\Dú���Lú�LOLúNLVL�NHVLOHQ��DVNHUOLN�KL]PHWOHUL�LoLQ�oD÷UÕODQ�YH\D�YHIDW�HGHQ�
KHU�oDOÕúDQÕQD�NÕGHP�WD]PLQDWÕ�|GHPHN�PHFEXUL\HWLQGHGLU��� �
�
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�
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ùLUNHW¶LQ�� oDOÕúDQODUÕQ� HPHNOL� ROPDVÕQGDQ� ND\QDNODQDQ� JHOHFHNWHNL� PXKWHPHO� \�N�PO�O�N� WXWDUÕQÕQ� EXJ�QN��
GH÷HULQLQ� WDKPLQ� HGLOPHVL� \ROX\OD� KHVDSODQPDNWDGÕU�� 706� ��� dDOÕúDQODUD� 6D÷ODQDQ� )D\GDODU�� úLUNHWLQ�
\�N�PO�O�NOHULQLQ�� WDQÕPODQPÕú� ID\GD� SODQODUÕ� NDSVDPÕQGD� DNW�HU\DO� GH÷HUOHPH� \|QWHPOHUL� NXOODQÕODUDN�
JHOLúWLULOPHVLQL� |QJ|U�U�� %X� GR÷UXOWXGD�� WRSODP� \�N�PO�O�NOHULQ� KHVDSODQPDVÕQGD� NXOODQÕODQ� DNW�HU\DO�
YDUVD\ÕPODU�DúD÷ÕGD�EHOLUWLOPLúWLU�
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KHVDSODQÕU��øOJLOL�ELODQoR�WDULKOHULQGHNL�NDUúÕOÕNODU��\ÕOOÕN�������HQIODV\RQ�YH�����IDL]�RUDQÕ�YDUVD\ÕPODUÕQD�J|UH�
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øVWH÷H�ED÷OÕ�LúWHQ�D\UÕOPD�RUDQODUÕ�GD������\ÕO�oDOÕúDQODU�LoLQ������������YH��]HUL�\ÕO�oDOÕúDQODU�LoLQ����RODUDN�GLNNDWH�
DOÕQPÕúWÕU��ùLUNHW¶LQ�NÕGHP�WD]PLQDWÕ�NDUúÕOÕ÷ÕQÕQ�KHVDSODQPDVÕQGD����(\O�O������WDULKLQGHQ�LWLEDUHQ�JHoHUOL�RODQ�
���������7/�WDYDQ�WXWDUÕ�GLNNDWH�DOÕQPÕúWÕU����2FDN����������������7/���
�
.ÕGHP� WD]PLQDWÕ�\�N�PO�O�÷��KHVDSODPDVÕQGD�NXOODQÕODQ�|QHPOL� WDKPLQOHU� LVNRQWR�RUDQÕ�YH� LVWH÷H�ED÷OÕ� LúWHQ�
D\UÕOPD�RODVÕOÕ÷ÕGÕU�� øVNRQWR� RUDQÕQÕQ����\�NVHN� �G�ú�N��DOÕQPDVÕ�GXUXPXQGD��NÕGHP� WD]PLQDWÕ� \�N�PO�O�÷���
�������7/������������7/�GDKD�D]����ID]OD��RODFDNWÕU��'L÷HU�YDUVD\ÕPODU�D\QÕ�EÕUDNÕODUDN��LúWHQ�NHQGL�LVWH÷L�LOH�D\UÕOPD�
RODVÕOÕ÷Õ����GDKD�G�ú�N��\�NVHN��DOÕQPDVÕ�GXUXPXQGD��NÕGHP�WD]PLQDWÕ�\�N�PO�O�÷��������7/�����������7/�GDKD�
D]����ID]OD��RODFDNWÕU��
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�����������7/������$UDOÕN���������7/����+DON�*<2�(UNRQXW�$GL�2UWDNOÕ÷Õ¶QÕQ�(U]XUXP¶GDNL�SURMH�LoLQ������������
7/�����$UDOÕN���������7/��YH�+DON�*D\ULPHQNXO�<DWÕUÕP�2UWDNOÕ÷Õ�$�ù��LoLQ������������7/������$UDOÕN�������
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����$UDOÕN������������������7/����+DON�*<2�(UNRQXW�$GL�2UWDNOÕ÷Õ¶QÕQ�(U]XUXP¶GDNL�SURMH�LoLQ���7/�����$UDOÕN�
�����������������7/��7HNQLN�<DSÕ�+DON�*<2�$GL�2UWDNOÕ÷Õ� ø]PLU�3URMHVL� LoLQ���������7/� ����$UDOÕN�������
��������7/���X]XQ�YDGHOL�ROPDVÕ�VHEHEL\OH�GL÷HU�GXUDQ�YDUOÕNODUGD�WDNLS�HGLOPHNWHGLU��
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+DONEDQN�
� % ����� ����������� ����� �����������
+DON�<DWÕUÕP�0HQNXO�'H÷HUOHU�$�ù� $ ����� ������� ���� �������
+DON�)LQDQVDO�.LUDODPD�$ù $ ����� � ����� �
+DOND�DoÕN % ������ ����������� ������ �����������
1RPLQDO�VHUPD\H ���� ������������������� ��� �������������������

7RSODP�VHUPD\H ����������� �����������
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�
�� +DONEDQN¶ÕQ� KDOND� DoÕN� NÕVÕPGD� ����� SD\� RUDQÕQGD� ����������� %� JUXEX� SD\Õ� EXOXQPDNWDGÕU� ���� $UDOÕN� ������
�����������DGHW����
�
ùLUNHW¶LQ�KLVVH�VHQHWOHUL��QDPD�\D]ÕOÕ�RODQ�$�YH�%�JUXEX�RODUDN�LNL�W�UGHGLU��$�JUXEX�SD\ODUÕQ�<|QHWLP�.XUXOX�
�\HOHULQLQ� VHoLPLQGH� DGD\� J|VWHUPH� LPWL\D]Õ� EXOXQPDNWDGÕU�� <|QHWLP� .XUXOX¶QXQ� \DUÕGDQ� ELU� ID]ODVÕQÕ�
ROXúWXUDFDN�VD\ÕGDNL��\HOHU�$�JUXEX�SD\�VDKLSOHULQLQ�DGD\�J|VWHUGLNOHUL�DUDVÕQGDQ��NDODQODU�LVH�$�YH�%�JUXEX�
SD\�VDKLSOHULQLQ�DGD\�J|VWHUGLNOHUL�DUDVÕQGDQ�*HQHO�.XUXO�WDUDIÕQGDQ�VHoLOLU��6HUPD\H�DUWÕUÕPODUÕQGD��$�*UXEX�
SD\ODU�NDUúÕOÕ÷ÕQGD�$�*UXEX��%�*UXEX�SD\ODU�NDUúÕOÕ÷ÕQGD�%�*UXEX�\HQL�SD\�oÕNDUÕOÕU���
�
$QFDN��<|QHWLP�.XUXOX�SD\�VDKLSOHULQLQ�\HQL�SD\�DOPD�KDNNÕQÕ�NÕVÕWODGÕ÷Õ�WDNGLUGH�oÕNDUÕODFDN�\HQL�SD\ODUÕQ�
W�P��%�*UXEX�YH�KDPLOLQH�\D]ÕOÕ�RODUDN�oÕNDUÕOÕU���
�
ùLUNHW���������������7/�ND\ÕWOÕ�VHUPD\H�WDYDQÕ�LOH�NXUXOPXú�ROXS�KHU�ELUL���7/�LWLEDUL�GH÷HUGH���������������
DGHW�SD\D�E|O�QP�úW�U��ùLUNHWLQ�VHUPD\HVL�������������7/�LWLEDUL�GH÷HUGH�������������DGHW�SD\D�D\UÕOPÕú�YH�
WDPDPÕ�NXUXFXODU�WDUDIÕQGDQ�WDDKK�W�HGLOLS�������������7/¶VL�QDNGHQ�������������7/¶VL�D\QL��JD\ULPHQNXO��
RODUDN� YH� ������������ 7/¶VL� \HGHNOHUGHQ� VHUPD\H� DUWÕúÕ� úHNOLQGH� ROPDN� �]HUH� |GHQPLúWLU�� 6HUPD\HQLQ�
������������7/¶OLN�NÕVPÕ�D\QL�VHUPD\H�RODUDN�OLGHU�VHUPD\HGDU�NRQXPXQGDNL�+DONEDQN�WDUDIÕQGDQ�D\QL�RODUDN�
|GHQPLúWLU���
�
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\HGHNOHUGHQ�VHUPD\H�DUWÕUÕPÕ�JHUoHNOHúWLUPLúWLU���
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ùLUNHW�� �� +D]LUDQ� ����� WDULKL� LWLEDUÕ\OD�� ����� \ÕOÕ� NDUÕQGDQ� ����������� 7/� \HGHNOHUGHQ� VHUPD\H� DUWÕUÕPÕ�
JHUoHNOHúWLUPLúWLU���
�
ùLUNHW�� ��� +D]LUDQ� ����� WDULKLQGH� JHoPLú� \ÕOODU� NDUÕQGDQ� ����������� 7/� EHGHOVL]� VHUPD\H� DUWÕUÕPÕ�
JHUoHNOHúWLUHUHN�VHUPD\HVLQL�������������7/¶\H�oÕNDUPÕúWÕU���
�
ùLUNHW�� ��� 0D\ÕV� ����� WDULKLQGH� JHoPLú� \ÕOODU� NDUÕQGDQ� ����������� 7/� EHGHOVL]� VHUPD\H� DUWÕUÕPÕ�
JHUoHNOHúWLUHUHN�VHUPD\HVLQL�������������7/¶\H�oÕNDUPÕúWÕU��
�
ùLUNHW�� ��� $÷XVWRV� ����� WDULKLQGH� JHoPLú� \ÕOODU� NDUÕQGDQ� ����������� 7/� EHGHOVL]� VHUPD\H� DUWÕUÕPÕ�
JHUoHNOHúWLUHUHN�VHUPD\HVLQL�������������7/¶\H�oÕNDUPÕúWÕU��
�
ùLUNHW�� �� +D]LUDQ� ����� WDULKLQGH� JHoPLú� \ÕOODU� NDUÕQGDQ� ����������� 7/� EHGHOVL]� VHUPD\H� DUWÕUÕPPÕ�
JHUoHNOHúWLUHUHN�VHUPD\HVLQL�������������7/¶\H�oÕNDUPÕúWÕU��
�
E��*HUL�DOÕQPÕú�SD\ODU��
�
ùLUNHW¶LQ�JHUL�DOÕQPÕú�SD\ODUÕ��ùLUNHW¶LQ�KDOND�DoÕN�SD\ODUÕQGDQ�JHUL�DOÕQPÕú�SD\ODUÕQ�PDOL\HWLQGHQ�ROXúPDNWDGÕU��
ùLUNHW�����(\O�O������WDULKL�LWLEDUÕ\OD�������������DGHW�KLVVH\L�HOLQGH�WXWPDNWDGÕU�����$UDOÕN������������������
DGHW���ùLUNHW¶LQ����(\O�O������WDULKLQGH�VRQUD�HUHQ�KHVDS�G|QHPLQGHNL�SD\�JHUL�DOÕPODUÕQÕQ�GHWD\Õ�DúD÷ÕGDNL�
JLELGLU��
�

øúOHP øúOHP�WDULKL 1RPLQDO�GH÷HU
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*HUL�SD\�DOÕPÕ ���ùXEDW����� ������� ����� ���������
*HUL�SD\�DOÕPÕ ���ùXEDW����� ������� ����� �������
*HUL�SD\�DOÕPÕ ���ùXEDW����� ��������� ����� ���������
*HUL�SD\�DOÕPÕ ��0DUW����� ��������� ����� ���������
*HUL�SD\�DOÕPÕ ��0DUW����� ��������� ����� ���������
*HUL�SD\�DOÕPÕ ���0DUW����� ������� ����� �������
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*HUL�SD\�DOÕPÕ ���0DUW����� ��������� ����� ���������
*HUL�SD\�DOÕPÕ ���0DUW����� ��������� ����� ���������
<HGHNOHUGHQ�VHUPD\H�DUWWÕUÕPÕ ���+D]LUDQ����� ������� ���� �
<HGHNOHUGHQ�VHUPD\H�DUWWÕUÕPÕ ��+D]LUDQ����� ������� ���� �
<HGHNOHUGHQ�VHUPD\H�DUWWÕUÕPÕ ���+D]LUDQ����� ��������� ���� �
<HGHNOHUGHQ�VHUPD\H�DUWWÕUÕPÕ ���0D\ÕV����� ��������� ���� �
<HGHNOHUGHQ�VHUPD\H�DUWWÕUÕPÕ ���$÷XVWRV����� ������� ���� �
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�
<HQL�oÕNDUÕODQ�YH�������ùXEDW�����¶GH�KDOND�DU]�HGLOHQ�KLVVHOHULQ�QRPLQDO�EHGHOLQGHQ�GDKD�\�NVHN�ELU�IL\DW�
�]HULQGHQ� VDWÕOPDVÕ� QHGHQL\OH� ROXúDQ� ����������� 7/¶OLN� IDUN�� KLVVH� VHQHGL� LKUDo� SULPOHUL� RODUDN�
PXKDVHEHOHúWLULOPLúWLU�� <HQL� KLVVH� oÕNDUÕPÕ� YH� EXQODUÕQ� KDOND� DU]Õ� QHGHQL\OH� NDWODQÕODQ� ���������� 7/�
WXWDUÕQGDNL� NRPLV\RQ� YH� KXNXNL� GDQÕúPDQOÕN� JLGHUOHUL�� LOJLOL� G�]HQOHPHOHU� X\DUÕQFD�� KLVVH� VHQHGL� LKUDo�
SULPOHULQGHQ�G�ú�OHUHN�J|VWHULOPLúWLU��$\UÕFD�����������7/�WXWDUÕQGDNL�JHUL�DOÕQDQ�NHQGL�KLVVHOHULQLQ�QRPLQDO�
GH÷HUL�LOH�JHUL�DOÕP�PDOL\HWL�DUDVÕQGDNL�IDUN�KLVVH�VHQHGL�LKUDo�SULPOHULQGHQ�G�ú�OP�úW�U���
�
G��.DUGDQ�D\UÕOPÕú�NÕVÕWODQPÕú�\HGHNOHU��
�
7�UN�7LFDUHW�.DQXQX¶QD�J|UH��\DVDO�\HGHNOHU�ELULQFL�YH�LNLQFL�WHUWLS�\DVDO�\HGHNOHU�ROPDN��]HUH�LNL\H�D\UÕOÕU��
7�UN�7LFDUHW�.DQXQX¶QD�J|UH�ELULQFL�WHUWLS�\DVDO�\HGHNOHU��úLUNHWLQ�|GHQPLú�VHUPD\HVLQLQ����¶VLQH�XODúÕQFD\D�
NDGDU��NDQXQL�QHW�NDUÕQ���¶L�RODUDN�D\UÕOÕU��øNLQFL�WHUWLS�\DVDO�\HGHNOHU�LVH�|GHQPLú�VHUPD\HQLQ���¶LQL�DúDQ�
GD÷ÕWÕODQ� NDUÕQ� ���¶XGXU�� 7�UN� 7LFDUHW� .DQXQX¶QD� J|UH�� \DVDO� \HGHNOHU� |GHQPLú� VHUPD\HQLQ� ���¶VLQL�
JHoPHGL÷L� V�UHFH� VDGHFH� ]DUDUODUÕ� QHWOHúWLUPHN� LoLQ� NXOODQÕODELOLU�� EXQXQ� GÕúÕQGD� KHUKDQJL� ELU� úHNLOGH�
NXOODQÕOPDVÕ�P�PN�Q�GH÷LOGLU��7�UN�7LFDUHW�.DQXQX¶QD�J|UH��ùLUNHW��LNWLVDS�HWWL÷L�NHQGL�SD\ODUÕ�LoLQ�LNWLVDS�
GH÷HUOHULQL� NDUúÕOD\DQ� WXWDUGD� \HGHN� DNoH� D\ÕUÕU��%X�\HGHN� DNoHOHU�� DQÕODQ�SD\ODU� GHYUHGLOGLNOHUL� YH\D� \RN�
HGLOGLNOHUL�WDNGLUGH�LNWLVDS�GH÷HUOHULQL�NDUúÕOD\DQ�WXWDUGD�o|]�OHELOLUOHU�����(\O�O������WDULKL�LWLEDUÕ\OD��ùLUNHW¶LQ�
NDUGDQ�D\UÕODQ�NÕVÕWODQPÕú�\HGHNOHUL�\DVDO�\HGHNOHUGHQ�ROXúPDNWDGÕU�YH������������7/�WXWDUÕQGDGÕU�����$UDOÕN�
�����������������7/����
�
H��7HPHWW���
�
ùLUNHW�����1LVDQ������WDULKLQGH�\DSÕODQ������2OD÷DQ�*HQHO�.XUXO�WRSODQWÕVÕ¶QGD�DOÕQDQ�NDUDU�LVWLQDGHQ����1LVDQ�
����� WDULKLQGH�����������7/�QDNLW� NDU�GD÷ÕWÕPÕ�JHUoHNOHúPLúWLU�� �����������������7/��� �ùLUNHWLQ�JHUL� VDWÕQ�
DOGÕ÷Õ�KLVVHOHUH�LOLúNLQ���������7/�.DU�SD\Õ�WXWDUÕ�LDGHVL�ROPXúWXU���1HW�|GHQHQ�WHPHWW������������7/¶GLU��
�

���� +$6,/$7�9(�6$7,ù/$5,1�0$/ø<(7ø�
�

��2FDN� ��7HPPX]� ��2FDN� ��7HPPX]�
���(\O�O ���(\O�O ���(\O�O ���(\O�O

D��6DWÕúODU ���� ���� ���� ����
7RSODP�JD\ULPHQNXO�JHOLUOHUL ������������ ������������ ����������� �����������

.RQXW�VDWÕú�JHOLUOHUL�
� ������������ ������������ ����������� ����������

.LUD�JHOLUOHUL ����������� ����������� ����������� �����������
7RSODP�ERUoODQPD�DUDoODUÕ�JHOLUOHUL ���������� �������� ���������� ����������

0HYGXDW�IDL]�JHOLUOHUL ���������� �������� ���������� ����������
������������ ������������ ����������� �����������

�
�

�
�*UXS�����(\O�O������WDULKLQGH�VRQD�HUHQ�GRNX]�D\OÕN�DUD�G|QHP�LoLQ�YH���7HPPX]����(\O�O������LWLEDUL\OH��YH�EX�WDULKWH�VRQD�HUHQ�DUD�KHVDS�G|QHPL�
LoLQ�\HULQH�JHWLULOPHVL�]DPDQÕQ�EHOOL�ELU�DQÕQGD�JHUoHNOHúHQ�HGLP�\�N�PO�O�NOHULQH�LOLúNLQ�VÕUDVÕ\OD��������������7/�YH�������������7/�WXWDUÕQGD�QHW�
VDWÕú�PXKDVHEHOHúWLUPLúWLU��
�

��2FDN� ��7HPPX]� ��2FDN� ��7HPPX]�
���(\O�O ���(\O�O ���(\O�O ���(\O�O

E��6DWÕúODUÕQ�PDOL\HWL ���� ���� ���� ����
.RQXW�VDWÕú�PDOL\HWL ������������ ������������ ���������� ����������
(PODN�YHUJLVL�JLGHUOHUL �������� ���� �������� ����
%DNÕP�RQDUÕP�WDGLODW�YH�*HQHO�JLGHUOHUH�NDWÕOÕP�SD\ODUÕ ������� ������ ������� ������
'HVWHN�+L]PHW�*LGHUL ������� ������� ������� �������
6LJRUWD�*LGHUL �������� �������� �������� ��������
'L÷HU ������� ������� �������� ��������

������������ ������������ ����������� ����������
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3HUVRQHO�JLGHUOHUL ��������� ��������� ��������� ���������
.RQXW�VDWÕú�PDOL\HWL ����������� ����������� ��������� ����������
5HNODP�YH�LODQ�JLGHUOHUL ��������� ������� ������� �������
'ÕúDUÕGDQ�VD÷ODQDQ�ID\GDODU ������� ������� ������� �������
6H\DKDW�YH�DUDo�JLGHUOHUL ������� ������� ������� �������
9HUJL�UHVLP�YH�KDUo�JLGHUOHUL ������� ������ ������� �������
.LUD�JLGHUOHUL ������� ������� ������� �������
(PODN�YHUJLVL�JLGHUOHUL ������� � ������� ���
'DQÕúPDQOÕN�JLGHUOHUL ������� ������� ������� ������
$PRUWLVPDQ�JLGHUOHUL�YH�LWID�SD\ODUÕ ������ ������ ������� ������
.ÕUWDVL\H�YH�ELOJL�LúOHP�JLGHUOHUL ������� ������ ������� ������
.RPLV\RQ�JLGHUOHUL ������� ������� ��������� �������
%DNÕP�YH�RQDUÕP�JLGHUOHUL ������ ������ ������ �����
'L÷HU ��������� ������� ��������� �������

������������ ������������ ����������� ����������
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�*HQHO�\|QHWLP�JLGHUOHUL���� ��������� ��������� ��������� ���������
�3D]DUODPD�YH�VDWÕú�JLGHUOHUL���� ��������� ������� ��������� �������
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3HUVRQHO�JLGHUOHUL ��������� ��������� ��������� ���������
'ÕúDUÕGDQ�VD÷ODQDQ�ID\GDODU ������� ������� ������� �������
6H\DKDW�YH�DUDo�JLGHUOHUL ������� ������� ������� �������
5HNODP�YH�LODQ�JLGHUOHUL ������� ������� ������� �������
9HUJL�UHVLP�YH�KDUo�JLGHUOHUL ������� ������ ������� �������
.LUD�JLGHUOHUL ������� ������� ������� �������
'DQÕúPDQOÕN�JLGHUOHUL ������� ������� ������� ������
.ÕUWDVL\H�YH�ELOJL�LúOHP�JLGHUOHUL ������� ������ ������� ������
$PRUWLVPDQ�JLGHUOHUL�YH�LWID�SD\ODUÕ ������ ������ ������� ������
%DNÕP�YH�RQDUÕP�JLGHUOHUL ������ ������ ������ �����
'L÷HU�JLGHUOHU ������ ������ ������ ������
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0DDúODU�YH��FUHWOHU ��������� ��������� ��������� ���������
6*.�LúYHUHQ�SD\Õ ������� ������� ������� �������
+X]XU�KDNNÕ��FUHWOHUL ������� ������� ������� �������
.ÕGHP�WD]PLQDWÕ�YH�\ÕOOÕN�L]LQ�NDUúÕOÕN�JLGHUOHUL ������� ����� ������� ������
6LJRUWD�JLGHUOHUL ������� ������ ������� ������
'L÷HU ������� ������� ������� �������
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5HNODP�LODQ�JLGHUOHUL ������� ����� � �
.RPLV\RQ�JLGHUOHUL ������� ������� ��������� �������
9HUJL�UHVLP�YH�KDUo�JLGHUOHUL ������ ����� ������ ���
'L÷HU�JLGHUOHU ������� ������� ������� ������
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� ���(\O�O������YH����(\O�O������WDULKOHULQGH�VRQD�HUHQ�G|QHPOHUH�DLW�HVDV�IDDOL\HWOHUGHQ�GL÷HU�JHOLUOHULQ�GHWD\Õ�

DúD÷ÕGDNL�JLELGLU��
�

��2FDN� ��7HPPX]� ��2FDN� ��7HPPX]�
���(\O�O ���(\O�O ���(\O�O ���(\O�O
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)DDOL\HWOHUGHQ�ND\QDNODQDQ�NXU�IDUNÕ�JHOLUL ��������� ��������� ������� ������
.DPX�NXUXPODUÕQGDQ�WHúYLN�YH�LQGLULP�LDGHOHUL � � ������� �
1DNGH�oHYULOHQ�WHPLQDW�YH�FH]D�JHOLUOHUL � � ������� �������
&D\PD��G|QPH�YH�VDWÕú�YDDGL�LSWDOL�JHOLUOHUL � � ������� �
7DSX�KDUo�PDVUDIÕ�\DQVÕWPDODUÕQGDQ�JHOLUOHU � � ������� �
.RQXVX�NDOPD\DQ�NDUúÕOÕNODU ������� ������� � �
'L÷HU�JHOLUOHU ��������� ��������� ������� �����

��������� ��������� ��������� �������
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JLULúL�VD÷ODQPÕúWÕU�����(\O�O������WDULKLQGH�LKUDo�HGLOHQ�NLUD�VHUWLILNDVÕQÕQ�����������7/�QRPLQDO�WXWDUÕ�
JHUL�DOÕQPÕú�����(NLP������WDULKLQGH�WHNUDU�VDWÕOPÕúWÕU���
�
���(\O�O������ WDULKL� LWLEDUÕ\OD�$%'�'RODUÕ�YH�$YUR�NXUODUÕ� VÕUDVÕ\OD��������YH��������ROXS�7�UNL\H�
&XPKXUL\HW�0HUNH]�%DQNDVÕ�WDUDIÕQGDQ�EHOLUOHQHQ���.DVÕP������J�Q��VDDW������¶GD�EHOLUOHQHQ�J|VWHUJH�
QLWHOL÷LQGHNL�$%'�'RODUÕ�YH�$YUR�G|YL]�NXUODUÕ�VÕUDVÕ\OD��������YH�������¶GLU���
�
ùLUNHW�����(NLP������WDULKLQGH����2FDN������YDGH�VRQX�WDULKOL�YH��������JHWLUL�RUDQOÕ������������7/�
QRPLQDO�WXWDUOÕ�NLUD�VHUWLILNDVÕ�LKUDo�LúOHPL�JHUoHNOHúWLUPLú�ROXS��LKUDoWDQ������������7/�ILQDQVPDQ�JLULúL�
VD÷ODQPÕúWÕU���
�
� �
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�

���(\O�O ���$UDOÕN

���� ����

%DQNDGDNL�QDNLW ��������� �����������
���9DGHVL]�PHYGXDWODU�
� ������� �������
���9DGHVL��o�D\GDQ�NÕVD�YDGHOL�PHYGXDWODU ��������� �����������
���%HNOHQHQ�]DUDU�NDUúÕOÕ÷Õ���� ���� �
'L÷HU�KD]ÕU�GH÷HUOHU��

� ������ �����
)LQDQVDO�GXUXP�WDEORVXQGD�\HU�DODQ�
����WRSODP�QDNLW�YH�QDNGH�HúGH÷HU�YDUOÕNODU ��������� �����������
(NVL��1DNLW�YH�QDNGH�HúGH÷HU�YDUOÕNODU�IDL]�UHHVNRQWODUÕ �������� ���������
1DNLW�DNÕú�WDEORVXQGD�\HU�DODQ�WRSODP�
���QDNLW�YH�QDNGH�HúGH÷HU�YDUOÕNODU ��������� �����������

�
�
����(\O�O������YH����$UDOÕN������WDULKOHULQGH�YDGHVL]�PHYGXDW�WXWDUÕ�LoHULVLQGH�SHUVRQHO�PDDú�|GHPHOHUL�LoLQ�
��������7/�EORNH�HGLOHQ�WXWDU�EXOXQPDNWDGÕU��
�

����(\O�O������ YH� ���$UDOÕN� ����� WDULKOHUL� LWLEDUÕ\OD� ùLUNHW¶LQ�GL÷HU�KD]ÕU� GH÷HUOHUL��(U]XUXP�ùHKULVWDQ� YH�
%L]LPWHSH� $\GRV� 3URMHVL¶QGHQ� \DSÕODQ� NRQXW� VDWÕúODUÕ� GROD\ÕVÕ\OD� HOGH� HWWL÷L� NUHGL� NDUWÕ� DODFDNODUÕQGDQ�
ROXúPDNWDGÕU��
�
���(\O�O������YH����$UDOÕN������WDULKOHUL�LWLEDUÕ\OD��EDQNDODUGDNL�YDGHOL�PHYGXDW�GHWD\ODUÕ�DúD÷ÕGDNL�
JLELGLU��
�
���(\O�O����� 7XWDU )DL]�RUDQÕ 9DGH

9DGHOL�PHYGXDW
7/ �������������������������� ������ ��(NLP�����
(85 ������������������������� ����� ��(NLP�����
7/ ������ ������ ��(NLP�����
7/ ����� ����� ��(NLP�����
7/ ������� ������ ��(NLP�����

���������

�
�
���$UDOÕN����� 7XWDU )DL]�RUDQÕ 9DGH

9DGHOL�PHYGXDW
7/ ��� ����� ��2FDN�����
7/ ����� ����� ��2FDN�����
7/ ��������� ������ ��2FDN�����
7/ ���������� ������ ���2FDN�����
7/ ���������� ������ ��ùXEDW�����
7/ ���������� ������ ���ùXEDW�����
(85 ��������� ����� ���ùXEDW�����
7/ ���������� ������ ���0DUW�����

�����������

�
1DNLW�YH�QDNLW�EHQ]HUOHULQGHNL�ULVNOHULQ�QLWHOL÷L�YH�G�]H\LQH�LOLúNLQ�DoÕNODPDODU�����QRWWD�DoÕNODQPÕúWÕU��
� �
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��� )ø1$16$/� 7$%/2/$5,� g1(0/ø� g/dh'(� (7.ø/(<(1� <$� '$� )ø1$16$/�
7$%/2/$5,1� $d,.�� <2580/$1$%ø/ø5� 9(� $1/$ù,/$%ø/ø5� 2/0$6,� $d,6,1'$1�
$d,./$10$6,�*(5(.(1�'øö(5�+8686/$5�
�
$PHULND�%LUOHúLN�'HYOHWOHUL¶QGH��³$%'´��J|U�OHQ�$%'�WDUDIÕQGDQ�X\JXODQDQ�øUDQ�\DSWÕUÕPODUÕQÕQ�LKODO�
HGLOPHVL�LOH�LOJLOL�GDYDQÕQ�VRQXFXQGD��ùLUNHW¶LQ�DQD�RUWD÷Õ�NRQXPXQGD�EXOXQDQ�7�UNL\H�+DON�%DQNDVÕ�
$�ù���³$QD�2UWDN�%DQND´��HVNL�\|QHWLFLVL�KDNNÕQGD����0D\ÕV������WDULKL�LWLEDUÕ\OD�NHQGLVLQH�DWIHGLOHQ�
VXoODUÕQ�ELU�NÕVPÕ� LoLQ�PDKNHPH�WDUDIÕQGDQ�VXoOX�EXOXQDUDN�KDNNÕQGD�PDKNXPL\HW�NDUDUÕ�YHULOPLúWLU��
%XQGDQ�VRQUDNL�V�UHoWH��DQÕODQ�HVNL�\|QHWLFLQLQ�YHULOHQ�NDUDU�KDNNÕQGD�WHP\L]�GDKLO�W�P�\DVDO�\ROODUD�
P�UDFDDW�HWPHVL�LPNDQ�GDKLOLQGH�ROXS�GDYD�LOH�LOJLOL�KXNXNL�V�UHo�KHQ�]�VRQXoODQPDPÕúWÕU��
�
$QD�2UWDN�%DQND�GDYD\D�WDUDI�YH\D�GR÷UXGDQ�P�GDKLO�GH÷LOGLU��0DKNHPH�WDUDIÕQGDQ�$QD�2UWDN�%DQND�
KDNNÕQGD�DOÕQPÕú�KHUKDQJL�LGDUL�YH\D�PDOL�ELU�NDUDU�EXOXQPDPDNWDGÕU���
�
$QD�2UWDN�%DQND�� W�P� Lú�YH� LúOHPOHULQGH�XOXVDO�YH�XOXVODUDUDVÕ�G�]HQOHPHOHUH�KHU�]DPDQ�KDVVDV�ELU�
úHNLOGH�X\PDNWD�ROXS�X\XP�SROLWLNDVÕQÕ�XOXVODUDUDVÕ�VWDQGDUWODUGD�GDKD�GD�JHOLúWLUPHN� LoLQ�\R÷XQ�ELU�
oDED�KDUFDPDNWDGÕU��
�
$QD� 2UWDN� %DQND� WDUDIÕQGDQ�� EDQNDFÕOÕN� KL]PHWOHUL� VXQXOXUNHQ� PHYFXW� G�]HQOHPHOHU� YH� GL÷HU� W�P�
EDQNDODUFD�ELOLQHQ�YH� L]OHQHQ�GÕú� WLFDUHW�X\JXODPDODUÕ�GÕúÕQGD�KHUKDQJL�ELU�PHNDQL]PD��\|QWHP�YH\D�
VLVWHP� NXOODQÕOPDPDNWDGÕU�� <DSÕODQ� GÕú� WLFDUHW� LúOHPOHUL� YH� SDUD� WUDQVIHUOHUL� DoÕN�� úHIIDI� YH� LOJLOL�
RWRULWHOHUFH� L]OHQHELOLU� GXUXPGDGÕU�� $QD� 2UWDN� %DQND�� LúOHPOHULQGHNL� úHIIDIOÕN� YH� XOXVODUDUDVÕ�
G�]HQOHPHOHUH�X\XP�SROLWLNDVÕQÕ�EXQGDQ�VRQUD�GD�NDUDUOÕ�ELU�úHNLOGH�GHYDP�HWWLUHFHNWLU���
�
$QD�2UWDN�%DQND�NRQX\D�YHUGL÷L�|QHPH�LVWLQDGHQ�RUJDQL]DV\RQ�\DSÕVÕQGD�GH÷LúLNOL÷H�JLGHUHN��³8\XP�
'DLUH�%DúNDQOÕ÷Õ´� DGÕ� DOWÕQGD� D\UÕ� ELULP� ROXúWXUPXúWXU�� %LULPLQ� X\XP�SROLWLNDVÕQGDNL�� Lú� YH� NRQWURO�
V�UHoOHULQGHNL� HWNLQOL÷LQL� GDKD� GD� DUWÕUPDN� DPDFÕ\OD� NRQXVXQGD� X]PDQ� XOXVODUDUDVÕ� ELU� ILUPDGDQ�
GDQÕúPDQOÕN�KL]PHWOHUL�GH�DOPDNWDGÕU��
�

(.�� 3257)g<�6,1,5/$0$/$5,1$�8<8081�.21752/h�
�
3RUWI|\�6ÕQÕUODPDODUÕQD�8\XPXQ�.RQWURO��7DEORVX¶QGD�\HU�DODQ�ELOJLOHU��6HUL��,,��1R�������³6HUPD\H�
3L\DVDVÕQGD�)LQDQVDO�5DSRUODPD\D�øOLúNLQ�(VDVODU�7HEOL÷L´QLQ�����PDGGHVL�X\DUÕQFD�ILQDQVDO�WDEORODUGDQ�
W�UHWLOPLú� |]HW� ELOJLOHU� QLWHOL÷LQGH� ROXS� ��� 0D\ÕV� ����� WDULKLQGH� ������ VD\ÕOÕ� 5HVPL� *D]HWH¶GH�
\D\ÕPODQDQ�6HUL��,,,��1R�������VD\ÕOÕ�³*D\ULPHQNXO�<DWÕUÕP�2UWDNOÕNODUÕQD�øOLúNLQ�(VDVODU�7HEOL÷L´QLQ�
SRUWI|\�VÕQÕUODPDODUÕQD�X\XPXQ�NRQWURO�QH�LOLúNLQ�K�N�POHUL�oHUoHYHVLQGH�KD]ÕUODQPÕúWÕU��
�
��� (\O�O� ����� WDULKL� LWLEDUÕ\OD�� ùLUNHW�� 63.¶QÕQ� ������ VD\ÕOÕ� 5HVPL� *D]HWH¶GH� \D\ÕPODQDQ� ,,,������
³*D\ULPHQNXO� <DWÕUÕP�2UWDNOÕNODUÕQD� øOLúNLQ� (VDVODU� 7HEOL÷L´� QLQ� ����0DGGHVLQLQ� ³D�� E�� F�� o� YH� G´�
EHQWOHUL�LOH�����YH�����PDGGHOHULQGH�EHOLUWLOHQ�VÕQÕUODPDODUD�X\PXúWXU�YH�EX�VÕQÕUODPDODUD�LOLúNLQ�RUDQODU�
DúD÷ÕGD�J|VWHULOPLúWLU�����$UDOÕN�������8\XPVX]OXN�\RNWXU���
�
�
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(.�� 3257)g<�6,1,5/$0$/$5,1$�8<8081�.21752/h��GHYDPÕ��
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)LQDQVDO�WDEOR�DQD�KHVDS�NDOHPOHUL øOJLOL�G�]HQOHPH ���(\O�O������7/� ���$UDOÕN�������7/�

$ 3DUD�YH�VHUPD\H�SL\DVDVÕ�DUDoODUÕ 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����E� ��������� �����������
% *D\ULPHQNXOOHU��JD\ULPHQNXOH�GD\DOÕ�SURMHOHU��JD\ULPHQNXOH�GD\DOÕ�KDNODU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����D� ������������� �������������
& øúWLUDNOHU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����E� ��

øOLúNLOL�WDUDIODUGDQ�DODFDNODU��WLFDUL�ROPD\DQ� 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����I� �� ��
'L÷HU�YDUOÕNODU ����������� �����������

' 7RSODP�YDUOÕNODU��$NWLI�WRSODPÕ� 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G����N� ������������� �������������
( )LQDQVDO�ERUoODU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G��� ����������� �����������
) 'L÷HU�ILQDQVDO�\�N�PO�O�NOHU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G��� ��
* )LQDQVDO�NLUDODPD�ERUoODUÕ 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G��� ���������� ��
+ øOLúNLOL�WDUDIODUD�ERUoODU��WLFDUL�ROPD\DQ� 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����I� �� ��
ø g]ND\QDNODU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G��� ������������� �������������

'L÷HU�ND\QDNODU ���������� �����������
' 7RSODP�ND\QDNODU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G����N� ������������� �������������

'L÷HU�ILQDQVDO�ELOJLOHU� øOJLOL�G�]HQOHPH ���(\O�O������7/� ���$UDOÕN�������7/�

$�
3DUD�YH�VHUPD\H�SL\DVDVÕ�DUDoODUÕQÕQ���\ÕOOÕN�JD\ULPHQNXO�|GHPHOHUL�LoLQ�WXWXODQ�
NÕVPÕ

6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����E� �� ��

$� 9DGHOL�9DGHVL]�7/�'|YL] 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����E� ��������� �����������
$� <DEDQFÕ�VHUPD\H�SL\DVDVÕ�DUDoODUÕ 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����G� �� ��
%� <DEDQFÕ�JD\ULPHQNXOOHU��JD\ULPHQNXOH�GD\DOÕ�SURMHOHU��JD\ULPHQNXOH�GD\DOÕ�KDNODU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����G� �� ��
%� $WÕO�WXWXODQ�DUVD�DUD]LOHU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����F� �� ��
&� <DEDQFÕ�LúWLUDNOHU 6HUL��,,,������VD\ÕOÕ�7HEOL÷�0G�����G� �� ��
&� øúOHWPHFL�úLUNHWH�LúWLUDN 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G��� �� ��
- *D\ULQDNGL�NUHGLOHU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G��� ����������� �����������

.
h]HULQGH�SURMH�JHOLúWLULOHFHN�P�ONL\HWL�RUWDNOÕ÷D�DLW�ROPD\DQ�LSRWHNOL�DUVDODUÕQ�
LSRWHN�EHGHOOHUL 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����H�� �� ��

/ 7HN�ELU�úLUNHWWHNL�SDUD�YH�VHUPD\H�SL\DVDVÕ�DUDoODUÕ�\DWÕUÕPODUÕQÕQ�WRSODPÕ ,,,�������0G�����O� �� ��

�
�
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3RUWI|\�VÕQÕUODPDODUÕ øOJLOL �G�]HQOHPH +HVDSODPD $VJDUL�$]DPL
2UDQ ���(\O�O������7/� ���$UDOÕN������7/�

�
h]HULQGH�SURMH�JHOLúWLULOHFHN�P�ONL\HWL�RUWDNOÕ÷D�DLW�ROPD\DQ
�LSRWHNOL�DUVDODUÕQ�LSRWHN�EHGHOOHUL 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����H� .�' $]DPL���� �� ��

�
*D\ULPHQNXOOHU��*D\ULPHQNXOH�'D\DOÕ�3URMHOHU��*D\ULPHQNXOH�
'D\DOÕ�+DNODU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����D���E� �%�$���' $VJDUL���� ������ ������

� 3DUD�YH�6HUPD\H�3L\DVDVÕ�$UDoODUÕ�LOH�øúW LUDNOHU 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����E� �$�&�$���' $]DPL���� ����� �����

�
<DEDQFÕ�*D\ULPHQNXOOHU��*D\ULPHQNXOH�'D\DOÕ�3URMHOHU��
*D\ULPHQNXOH�'D\DOÕ�+DNODU��
øúW LUDNOHU��6HUPD\H�3L\DVDVÕ�$UDoODUÕ

6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����G� �$��%��&���' $]DPL���� �� ��

� $WÕO�7XWXODQ�$UVD�$UD]LOHU� 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����F� %��' $]DPL���� �� ��
� øúOHWPHFL�ùLUNHWH�øúWLUDN 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G��� &��' $]DPL���� �� ��
� %RUoODQPD�6ÕQÕUÕ 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G��� �(�)�*�+�-��ø $]DPL����� ������ ������
� 9DGHOL�9DGHVL]�7/�'|YL]� 6HUL��,,,������VD\ÕOÕ�7HEOL÷��0G�����E�� �$��$���' $]DPL���� ����� �����

�
7HN�ELU�úLUNHWWHNL�SDUD�YH�VHUPD\H�SL\DVDVÕ�DUDoODUÕ�
\DWÕUÕPODUÕQÕQ�WRSODPÕ 6HUL��,,,�������0G������O� /�' $]DPL���� �� ��

�
�
�


